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FULL TEST

1.8 MWD QFeTm &6 H(HLOLS SILNT HevoTL. QSTLOVHIL LD 6T&I?

A) HVBIGT 6T S

B) &6uLD

C) GyLrmy

D) G&Fmeor iy

Explanation

> SLAID HLOFTIHS @ LWL SLLPIeT aUMLDIBl6VEISHEB6T 6260TMI. &L MLIWIG0TLD

QEFeTM HemnT HHLS SLOINT H6eooTL QSMELEIL LIGL HeVEIGHT 6.
@8 G&MsSHF FhIsI UTLo GMOILNGSHMS

2.QUBLLLIMeoT TMH ML L UN6T LML (5 60L& & 60606U6dT UM

A) SIQUITT 2_(HE 5 [J b5 600T600T60T T[T

B) Q5 T600T6ML_LOTEDT @) 6ITIH S 607 LI 60T

C) pTyrmey G&FmLper

D) &ifl&mevd G&FmLpedr

Explanation

> SIQWTT 2 (BSHJHI SHe0oTeooTeT T FHIGHSMVL] LIVaUTSEH6T @@beul. @eun

@uimHnlul QUIBLDLImTesor M mI LI LI em L udl 6oT LML (Hl6m L& 560)6V6) 60T
Q& ITETOTED)L_LOT6OT @) 61T [H ) 600 [T LI 60T .

3.QUMBHSSI5.

3. a5 5eleHE&GnD - 1. Flold

3. QeumLy - 2. a6y

@). SLpeof — 3. LDEM6Y

. Bl&T - 4. (WILD

A)4,3,2,1

B)3,4,2,1

C)4,2,3,1

D)4, 3,1, 2

Explanation

> THS60H G0 — (PWSILD

QeumLy — LDEM6V
&Lpeot] — a6y
518 - &FI0LD

4. 5flUmeoTens s CHTH

A) 2 ey - Qu@GBTLUTLILY
B) &emuLd - 50&HGLD
C) LD&H6EDIV — OMLLD
D) GeuWmmLLD - @6EMELWIMEL CauWLILIL L SI.
Explanation
> egeby - QU@BFUTLILY
&M IULD - JMLP&HGSLD
LD & 606V — &IT600T

5.GUWITIDMLLD — 606U8G8M6L GLIMETmeUMmMTeL CGaullLILIL TS, HeooTenDUITHE FMHS
LWFLULLL DML UTTH&TFeTl6r 6Ths HeL FTHSU &MLl s QuUMHMS?

A) &GO eNeTs G

B) LImevoriq.wiedr Lirflar

C) &evoTeooT S TG & SmLiiiluib

D) A gTHen STy

Explanation
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> unpsneaflar LIATTHeSWTT 6Tedrm HIGHEG FrHss srLdl allps
geflesliulLgl. @ar s&aled, @swrery, SWpTAFlwr ererll LTINS
LMMEV G &IT600TL_6UIT

6.QUTBHSHTHNSSH CHTH
A) DSIOTEH &HITEHTF
B) LiDB TR
C) QB HELEUTETIL
D) MR LILTL G
Explanation
> UmBTETmI 6TeTLIG 6T (&S Tem s BI6LSHEH6T 6260TMI. LOMMEemeU LIGSILILITL ()
BTL&ET.USSILUTL () BTeL&H6T: HHLNHSTHMILILIEL, QUTHBITHOILILeL,

QLB LOLITETOT TMHMILILIEDIL, G oiLImeoT THMILILIEDL, Wevemeu LML (),
D&M TEHTEHT, QB HELEUTEL, SR LILTL@, LI L60TLILITEm6D,
66VLI(H & LITLD

7.90WLIMS Q&F6V6ILD 6TH1?

A) LI600TLD

B) QUIT@®6T

C) &6vall

D) 60 &

Explanation

> 2 0B LaIMSUWTET QFAIBIGET 2 6TaT. SjeummieT PWME Q&Fevealld

HvallF QFealld YPGSW. NN QFLMBISGET MeTsHSIn WPUD SeTenin
2 OLWFI

8.QUTBHHTHMNGSH CHT5.

A) ojp&leor Al

B) @en&FWng!

C) @®evorLef(®

D) D606V & & 6IT6T60T

Explanation

> LDEDGVEGHETETEN 6T6TLIG& BITNGEH SHellehd @UImMIL BIeVTELD. LITeoorLq .Ul 6o

ufle, sip&er AL, @enaFwwns!, @ wmeoorL ei®), GOILDL 68 &, & 600T600T %)
UUL& & smilwb, A TmhHenswmy oG ulenel LTS & TaFefleor LienL LIL 86T
SGLD.

9.QLIETIT&H OB &G BIHTTHL LUTTHSTFOT FoMI6USI?
A) ullev
B) GUWiev
C) Herfl
D) 960T60TLD
Explanation
> ‘9B Uiy BIEFT GLEIEHEGQ6ETELETID” 6leiTedild  aliflGefley QLGS 6T
LWL EEHEHG BIsT 6rers GMILILIL(BHeTeTm.

10.2_ev & avieTer 2 ullifleormI& Eh6T &60flE 5 60Tenn 2 6L UG 6T5I1?

A) STeUITLD

B) elleumi&

C) L b &

D) Ln6oT1 5 60t

Explanation

> 2 eu@eveter 2 UNfleThRIGER6T SHflHHTemn 2 L WG  LN6efl&HeT L&D,
TG 6eTen 16V L0601l & 6018 @ ST TH ISTEVLD 6T60T GIFMTEVEY (LNLY UL
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11.8emeorufledr (2 mi1L965T) QUUWIT (NSVTHIW QUITHEHE G 3,5 6([H6USI?
A) FlemeoT MG QLW
B) QUTIHETTE QW
C) Qamflevm@ QUi
D) @L6eUM&G QuWIy
Explanation
> GlemeoT 6TedTMMeL 2 MILIL] 6TedTm QUTH6T. Femeruiledl QUWT (WSeVTEH W
QUITHEHHES 2T6U[HSH FleneT M@ QUWT ereorILI(BILD.

12. @ULenl s Heartell LIMmMIWL FaMmIsen6T ST muls.
1. QFTM&HET @IL6MLUITE aI(HLD
2. &8 meL QUITB6T SHIHLD
A) 1 bl &ifl
B) 2 bl (b &ifl
C) @uetor(hild &ifl
D) @UeoorL LD Geuml
Explanation
> @QULenLs Herel eTedTLIG QEMTM&EET @TLenL WIS @ enenThs b, LNflg s men
SLIQUTHET STMH QFTMHEHET QL@&LD. (6T.5T) FeuFev, allmielmi, L06TLO6T

13.8y umLedlev @uevor(h QUIMIBET GG MeTmIDLIG LML LI 6US 6T&51?
A) BGSGET
B) @ 6VQLIMIHET 2_6160)L0UI600T]
C) @rLOm Quridge
D) B ommib C
Explanation
> @Gy umLedlev @uevor() QUTET G meoTmUDd LI UTLUu®eus @ul®m
QUMPIEHE Y GLD. @ FHM6TE “GlCeVETIL " 6TETMID FoMIA].

14. F1GevemL L1 LIM(HeUFHI6L 6U6L6VEUT WITT?
A) @QUMESFHH TS sellgmuf
B) &L9e0ly
C) B&&IT
D) &MeTGLO&LIL|6V6 T
Explanation
> GGl evg @ULGmALTEESe LUTLemell UTHeIFH alcvevall &
SMTeTGLO&LIL|6V6UT

15,910 &GS QST 61&560T &HITT6roTLOMES G 6T MITSHI?

A) eflemiyey

B) QUG el

C) 2 el s

D) oL Qm

Explanation

> 9h&EGS QML alenge, QeaGel, 2 almsd, FFD, aleuld Il

QUIMTHETEET SHTFEOTIONS aIHLD. ML QWTHWTS alBalg @rLenl g Here
gg,@Lb.

16.QUT(HSSI5.

3. LN®Lm&oeT - 1. BGLHnG

3. OB -2. 3PS

@). LDLpEm6L - 3. BTMHMLD

FF. GU6oTLIL] — 4. UL LILITET & 6T

A)4,3,1,2

B) 4, 3,2, 1

C)3,4,1,2
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D)3,2,1,4
Explanation
> @GLIS&Eer — e LILITeTIger

QOblg vl
LoLp6Em6y - BRHOS
GueoTLIL - RS

17.“C&1960 aN(WWFQFLGID _ @HaUMES”

LDITL6V6V LOMHM WemeU” — GMeneT Blemme] Q&Fuliss.

A) &H6vall

B) 9|eoTL

C) SImLd

D) @W&H&HLD

Explanation

> “Gamlgey lpdQFaalld Sevell @MaIME WML6V6) MM UWen6el” 6TeTLg

QIGTERAIT QITHG. Mg &evall, WLLHCL JPWTF QFevalld MM
IMETH G QFVAIMIGEHLD WP HSINBHID 6T6oTLIS §)&60T GILITIHET.

18. B\ ([(HEUTETSH T 2_6VIT’ eTeiTenID Bredledr S fluif wmp?
A) GLISGUTT
B) &6
C) & 600T600T & ITE 60T
D) &MeT@LO&LIL|6V6U T
Explanation
> SMaTC&LILvafledT BIL&HET — H(IHEUTNETEHEST 2 60T, FI&HaSH LOT6,
LUy eNeTésd, AEGH T L6

19.56MLQUILY 6l6TEMeL&HEH6T eBeurmeor LUMKFlulledr Ligevellull LIMeoor s eh& &Ll

L|&IenLDWITET 2 60076 216158 QF UG UG FamilD BT6L TSP

A) S|& BT

B) LiDbTenm)

C) U@l Brerm

D) geur&)

Explanation

> SHOLQUW 6UTETELHERET e@heurmeor LIMFlulledT LGevelwy LImeoor o eha &Ll

L&IenWTs 2 6oore| 36flEs QFUISH UGS SamIlD BTV LTS BTerm. @ sl
LIS @\ 60T600T B3 LD 85 85 600T 55 (& [BIT6L & @BH6IT 6p60TMIMEHLD.

20.QUTHSS&H
9. FMHSHLD - 1. ALy
. I0&HSHSI6ID - 2.2 6V&ID
@). &myevof] — 3. &(HeEv)6v0T
FF. @& - 4. 9mDG)
A4, 1,23
B)1,4,2,3
C)3,2,4,1
D)2,4,1,3
Explanation
> SMbHSLD - 9|
D& S SID - ALy
&Tyevof] -2 U&ID
Q@ U&H&ID — & (IH60)600T

21.9emLQumdwumil oLyl Qummerley aumeug?
A) @ULenl & Herail
B) 90 &G&S QFTLY
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C) &&GOUWI
D) eTQMPS0HTen&H
Explanation
> @QULenLs el allements@ 2L QUMPNumss GMlLLL Qum@etley ai@Ld.
@emnal N5 5meL QUITIHET SIMS.

22.9/10CUSSfle0T  FesLiLIeool& 6Ll umgmlly @beHw Ars_ ;S

QULDMBIG W GI?

A) UGLD wof

B) UIMI& &6

C) LG LnedlLL, & evor

D) LIS LOLL & 60T

Explanation

> ICUSSfle FensLiLienllgGemneTll LUMTTTLL) @BEHIW ST& LUMTTS J&erT ell(psl

QIPBIRWSE. @aIHEHEG 199090 eUPBIGLIULLG. UTTES F&HerT, Suilyilev
@ MBS W OTLN6oo] 6TeTMI | eMLP&HELILRS MG

23. sallWgs: eTedtenlld AU QUWT QuUmdMmer?
A) 85600T600T & T 60T
B) 6 Tevof| & M 60T
C) UMTTH & MT& 6T
D) &L U&H 6T &IT&F et
Explanation
> (PSS 6TeTellD @WMQUIWT Q&TEooTL. 85600T600TSTEF60T SIS 6T60TenIln
FliL QUWIT emLPEH&SILQSMTT

24.WUMHMLW SHalleng&Hefled FUSTWEF HEHESHUHET  66Tare)  &FenaulCulm@)
QauerlliL(RLb?
A) BT N&FANTSHS
B) G& 60T M600T L_IT6IT
C) 6R6ITEm6UWIITIT
D) G5 60T & 60T
Explanation
> Goerygerr  SUWPITRFlwrTs  ueslwmmmlwei @eairg  &Hellengserlev
FUPNSTWEF FlEH56056T 6T6T6aTe0 SremalGWIM(h G euerflliL@LnD

25.560T60f ILILIMT60IEN 6T6OTERILD 6TH & Hemev Hpedl erpGLILIL L GI?
A) HGLILTe6
B) (G aILDLITem6
C) HmaunFssLd
D) GLM&6v0TL 61516 L0l 6L6mIEV
Explanation
> QLEooTLITeT @uimmlul SGLILTeneuenS Hpell &6TeoflLILITEne 6T6iTenID HT6y
T SLILL(H6TeTS!.

26.9|60Te060T LLLAl 6TedTenIlD LIS 6oTdHem S 6T(WH W C&HITING6rfl60T @UIMGILIWIIT 6T6T60T?

A) @rmgel &Ll

B) QggWweul_ & LAl

C) &6evWlmeoor]

D) |16t 8 UM & 60076001 |

Explanation

> Gomsefleadr @QUWMmOUWT @rmgelsd UG, Qe HmsasHE5er,

LS OTBISHET, GMIDLSETHISHET, UTQeTTed, QHTMVGEHITLE [BHITLS5MHIG6T
WHAWeaIMHenD TS U|eTerTmiy
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27.F0MHMIGEN6T T MTUIS%.

1. @ueor(® GMleL TWPSHBHISHSHET VLS GV, QB NS SIS G606 HSl

QUBSTILD SeIMHMIL 6T RDHEOMWSS! CEFJHSI eUbHSTILD GBI WMTESLD.

2. GO 6LV QB (WSS, HIES UBSTAID RHOILT CFFHSI UbBSTEILD

BlenTWen&FWm@LD.

A) 1 bl &ifl

B) 2 bl (b &ifl

C) @yetor(hid &if]

D) @uesorHLD SHeum

Explanation

> @Ml UG @BGE TWHS, SENEGSH UbBSTAID DL CFFbHI

QUBSTILN CHIENFUIMGLD. 6T.&IT. b, [HLD, [BIT, HITLD. @ Tevor(h & M6V 6T(D & 518 86T
VG GV, QBN ETWDSSISHEHET @EN6THS CUHSTEID | 6uDmIL 6o
RDHOMWSSE CFIHS QbBSTIN BleMTWMEFWTGLD. 61.6M. &L, HL6V, &HLIT,
SLITLO.

28.5 0 F&6rfler LeooTLIML (D& S MIGH6l60 (LNS60T60LNWITETS] 6TS1?
A) MEBN

B) LIevorL|

C) allBHCSH DL

D) Q& Men L &5 meor

Explanation

> sullpiserleor LeorLIML (& o MG 6TT16L ‘NBHCHTDLIGY’
(PGS ETEOLDWITEOTSH MG LD. SO LD @eveumedll L mevild @@L S
AGHHOTHESS &hHE WLHHS BlHEpesmTsS S @6evsEWmseT
GLIG G 60T M 60T

29.F\(BLHH TID 675 SH6060T LIML6VEHEM6TEH 6 &T60oTLSI?

A) 1000

B) 2000

C) 3000

D) 4000

Explanation

> SOLHHTD epamuilybd UTLO&HMETEQ&ETETLG. SHGULBHHTL LSSHTD
S HLMWTES alem&LILMGSSLILIL (H6TeTgl.

30. HOTETESH &H(HHSIEHH6T SHLCLID SMSHAITHG

2 6Tefl(h&G LD QLOUIEHEHTeT eeflGW LIMFmUIGL — @LUILIML6VL @)L IDGQLMM HIev?

A) HGLHBTLD

B) 61856 & 600160011

C) GeOTRIGIQUWITT LUTLMESHTen6

D) STUWJLDTEOTEU LML 6V & 6T

Explanation

> HETeTS HHEHSIESHMET SLCLIMD AMGHATEHG 2 6Tefl(hé G QLD LUIEHEH 60T

geflGW LUMTITUIGC — G6EOTHIGILWTT UTLMECSHTem6. QUTSIAITS LFTUFLD
6T60TM Q&FMeVEmeV LIMLeVIqUiley oiemng & LMLl STWDmerell. @eur LIML6V
158 Q&meoor. LIMNI6T S&HITTeoTIONS @G600T MBI D6VGTedT FMSIL] LIMFTUIFLD
6T60TM QFMELEM6V HLDG LIMTLeSaD @LIDQUME QEFWSTH

31.5MHI& @60&HHUWMBIGET LIVe]D 6THS LITEUMSLITEV 60L0HSI6TeTSI?
A) QeuevoTLIT

B) oA flwium

C) &l

D) u@EhF LILIm

Explanation

9578985878
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> UM BTG euen&HLILI(BILWD. 6me,
1. QeuevoTIT
2. A flwiium
3. &edlium
4. eUEFILILIT
AAFWLILT  &Hl) @& 2.LWG. FHEH GeHEHIWMBIGET  Lieve]D
LA FIWILILITETEL 3]60LDHS 606,

32.aflal Fevislev UMl Qeumssy]l - @euauflsefley &ifl eteoTm Q& meLed 60T
QUITIH6IT?
A) Wmemeor
B) &&en(
C) &@Hemln BIMLD
D) 2erepor
Explanation
> &If] eeTmITeL WMTeneTenlld GG . Gallpld 6TedTMTAID UIMTEm6T 3, @&LD.
&6l M1 — 46007 W6 60T
L1 — QLI6TOT W6t 6T

33.QBH W ATFW6L FMFeTSH 6T SHHend eTeor CLIMTHMLUILG L6l QuUMEMTT Wmy?

A) Swomgmeu-Lfiomumul

B) OTLDed) &&LImev-LInmuImul

C) forymel CUSST- LTnmumul

D) Lfinmymed grinedl-LFiomumul

Explanation

> alhsmev QUMM @bBFHWTaleT WS FLL IMDEFSFITHEL, @HS W

TAWE FTFOISH T SHHenSWTEHan elleThG el ADCUSSHT LeUT).
@eurfledt QUMCMTT QUWF FTLDEl &8 LMeV-LFInmuImul.

34.(LPETEMNDI QUBL DM PHMINSUTL L HBEIW QGLIGET TESS adSl NI HSS

- @56 GO LU®GUeT Wmi?

A) LDGOT60T [J 8561

B) @b W L0&56T

C) OLBIFGVLITE6IT

D) @B&H W Sirs

Explanation

> WNBHETN  SLeooT(H&6T B  GemUUGSES 6Tl THSTTH W

BBlWler @etoT oLl & WIHSS! 6TedTml S BIGRGWTsH6Tler oLl & Limn
BSom MU GSmry

35.460TMIMIT LPTMICEVT @6V 6T6dTm LILLGLOMLAIUN 6T QLIMTHET 6T60T60T?
A) eLNETNIEL 6R63TMI @) 60606V
B) eLpetTmlel (b LIS
C) eetTmiLd6v6mI6V
D) spermiLdleveuns ei(h) 61316 Ll6vemev
Explanation
> “@aTmimT eneTMIGeT @ 6v” eTedTm LIQLMLY speTmidleveuns af(h 6Tgia]Ldlevenev
6T60TM QILIM(HEMET 2_600T T&H IR MSI.

36.5MM: I0&H&H6T Hevsld, UTLE BIOEHT 6TeTml D&HEHETTY AeMP&HSLUILILLIT —
6TlD. 83, o

&ITyeoorid: Lemerflgerfley LIAIWL 6T LIG&H@GD GLHNSHEHHEG F&HSI6006 S5 HL LG
Q&TeooT(h UBSTT 6TlD.83). TTNEFHE) J6oT.

A) Samml &ifl, STIeord Healml
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B) oMM SeUmI, Sreooryld &ifl

C) ammI, &Myeoord @uevor(hd &Fifl, QLETITEL &TFEUITLD S Memnm all6ms s eileuemev.

D) oMM, &TTeord @ Feoor(hD &Fifl, SL60TMT6V SHITI6oTD FnMenm lenHGH MG

Explanation

> W&SET Hevsd, LTLS BIGST 6TeTMl IDSSHETTE) e SLUILIL LT — 6TlD.e3).

QL. &MIeoTld ST gHM BloSHS HMSIOMTHSITHET N6V genlp, ererflGumy,
2 palfseT, Qsmbleomeriser wHCwWmflear WeTCearmm&ESIHE 2 iflu
HHSSIG5&H6T T(HSHIBIOTHSTH

37. “QBMLLeM600TS &l 2eTmILD L06vorMHC 860011 LOMHS T8
SHMHMENETTH S 2EMTMID 3M16)” — @ H6L LILNTmI eUBSI6TET 260011 6T6dTEOT?
A) 2_alemln 3| 6v0f]
B) eTQSSISHTL(H 2_616emLD 2| 6v0T]
C) QFEMMRUMH6T L6dTeUHBlemeyv 2 6v0f]
D) QU6 LletTel B Blemeyv 2| 6vof]
Explanation
> 2.6le0D (@h QHTLITHD 2 UGLWLD @@ OSTLIMTHD UbBS 2 6D 2 (HL
LDeMMBS QUBHTEL & 6THSHSIEGTL(H 2_6UemLD | 600fl.
@8 merflauerer,
2 aleMLD — QST LTSS 2e1mild Lo evor M) E & 600f]
2 QIGOWILD — IDMHSFTHEG SMHMEN6ETS S 2eMTmID M6y
2 QD 2 (L — ‘9IS GLITEV’ 6T6ITBID 2 Al 2 (HL| LD6MMIHS 6)IHSHIGTETSI.

38.QUMTHSSIS.

2. sHafl - 1. 3inley

Q). GBTeTD - 2. H(IHLOTEL

@). BITIeoOTedT — 3. 3IGHValeTs: S

A)3,2,1

B)2,1,3

Q1,32

D)3, 1,2

Explanation

> Soerl —- 91BN 6TEHG

©BITeoTLD - gnley
BITJEOOTEOT  — SH(HLOMEY

39.6TI0.8). QL T-5& 6TH& LIVHNVEHSHLPSHID LTGLF LILLLD aIpBIG WIG?
A) |600T600TIT LIGL&H 606V &H PG LD
B) 2|600T600T TLO 606V LIGL6MEVESH L&D
C) @B W QTP HIL LI Sevadl BlmialeTLd, 6\& 60Tem 60T
D) Q&F6TeM6TLI LIGV&HEMEVEHSHLNSHLD
Explanation
> QFeTeneTLl LIL&HmMeVE &HLpsD 6rih.gfl.oufler Letollgemerll LIMTMLL] LTS
UL LD eupmISuw gl

40.QUTUeNSWTLLAIMT LNMHS @L LD 6T5H?
A) LDGIEOT
B) &M FILTLD
C) DB&FH
D) B ®GUUS
Explanation
> QUITWEMSWITLAIMTT STHFRUTSHNEG ABRVETT HHOEUSET 6Tl

oarifle LIMBSTIT.

41.pmeomuily Seualwil KNFuUBSLD WITFmev LML Ul L gI?

™) ©
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A) FLOGOOT [T & 6T

B) QLLDGUMT&H6T

C) QUETSH ST &H6IT

D) LDM600T1 & & 6UMTEF & T

Explanation

> preorwilys Seuellwll Npubsld eTaTenlld Hremey 12 QheUTisGeT GFIHII

2 (HEUMEHROTTIHET. YLOUTIGHET 6eTeTLITHT HHLmedler W& LMHMIGS
Q & IT600TL_GU [T & 6T

42. G nullemev QBeLENS Bmigeo] Gnlwimsi

L5560 BlOTOTHS S SR &

FIH6V HRIG 6TINGEH HemeoTCUl — 6T6dTMI LIMLGUIEUT WmT?

A) S WD mesr

B) 66606 WITIT

C) Q& IT600T60)L_LOIT60T

D) sUlevy

Explanation

> SO aleTaTeua6TleL s(HeUTTeT & WILDMedT HevorL HTeT GBmuilesrm aumLp

M6UEGLD Il QH6V65) & 5601160 G5 ITEOT 2_6T0T600T TSI 626ITEM 6L &5 (& QULPHBIT GOTITIT.
| HEM6T QLIMM 6R6TeMEUWITT LD6oTLD D&HILPH G CLoMEevoTL 6Uf186em6rT LIMIQ60TTIT.

43.2_ 0BV @EVEVITSH RETENM 2_AIEMLIDUIMES FnMIIS 6TEURIMNSH I|600T1?

A) TS SISGTL(H 2_alenn 600l

B) LledT6) (5B 6076V U 6007 ]

C) @6LELIMIBET 2_6160)L0UI600T]

D) 2_(H6U& 2| 600T]

Explanation

> SM6T Q&TIDL (NeMeTES GHeny GUML LMUBS absHs. @&HQsMLiflev

Q&ML (PMTHS GH T GCLIME’ 6TeITedID 2 QIemID GUHSHIETETET. 2 60860
2 WH @EVEVITSH QRETENM 2 AIMIDUITEHES FaMialg @eVGLIMTIHET 2_66mLOUI600f]

G0,
44,  “IDEVTEITEOT  LUMHLD” - @&QSHTLTSH Q&mTeoor(h  LIedTel[Heu eorel mmieT
QUITHHSTHMNS CHI5.
A) 2_au6emLD — D6V
B) 2 auGLoWwiLD - UM&LD
C) 2_6UlD 2 (B — (@) 60T60T
D) 2 alln 2 (B — 9| 60T60T
Explanation

> 2 alemlD - D6V

2 AGWWID - UMHLD

2 QD 2 (HL| — |60T60T

45. 60MISSS L LFeoot] UMM SammiseneT ST muliss.
1. @8l 96 auemd FHMeVmIGH UIMBIH6TI60 eTMMTEGLID.

2. sAlNl6L CHmeTMILl (PG6V LiTeuo] @ aIGel.

3. 56965 TP F WML @WIMMLILILL S

4. 499 MNFGH6T Q& T6o0TL_G).

A) 1, 3 &1fl

B) 1, 2, 3 &rfl

Q) 1, 3, 4 &1fl

D) 9jemes gl &if]

Explanation
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1. @&l 96 auend FMMIeLHEISH WBIGH6 ey eeTmMESLD.
2. 6L CameaTMIW (LNSH6V LITevoll @) &iGe.

3. 56965 MPF WML @WmHMLILILL S

4. 599 TN FGH6T Q& TeoTLG.

46. 55GT WTSH 6T 6r6orm mredlesr ou& flwiy wmy?
A) AHWIDTeT Q1B (HLOT6oT(EH
B) 66Tem6UWITIT
C) A gTHen & WImy
D) oA fluy QuWy Mlwieiguieielemney
Explanation
> 5&GT WrsHenT ereorm mredleor oA flwy Quwy mlunlgwellevene. @) hHHTey
(DWENLDWITE HenL&&Hel606m6v.

47. @QLL eN53 elehFmemln BTmis! BIMIY eredrm auflulley eG gl 66T G & meL60) 60T
QUITIH6T?
A) ellmmey
B) allemerail 5560
C) LU (WEMETE 56V
D) aflem s
Explanation
> & eTedTmMeL ellen s eTedTm QUITIH6T. @) 6uelifl&H6T @)L DG MHMIETET HT6L &H&BT
wrsseny. @mbmreder oA Flwr Quwi lwliLLeflevensy.

48.550T WMSHT eTeoTenild Bredledr Flev LIML6V&6T 6Thdh mredledr aumulevms omiwl

WYHs?

A) seofliumev Sl

B) LmUUTL6Y STl

C) 9&UQUMTH6T allemgasLd

D) 4mbrsmmi

Explanation

> 5&BF WrSHenT ererenlld HBredledr HFlev LMLL&H6T LMSHTL(H  6Terenlln

Q&MTGLL HIOle HemLs&&Rermerr. @bETNeT SwAflwy Quwr il
wigwellvemen. @BHETD WWWTES HenL&sallvamen. S$5GT  6TeTLS
sHCUMMSW L] SLGLD.

49.5MCMMT&HEGE Heveail HEVEET &6V6ITEV6VIT6Y
WMHCMHTT 2|6v0fl86VLD GeUETITLMEUTLD — 6TEdTM LIML6VI&6T @ LD QUMM Q&FUIU]6T?
A) BHBAIlellerg s
B) ULLQWMS Brerm
C) S SBTTMI
D) 560505 Ten &
Explanation
> SMHCMTIHGE H6VeN HeVEEIT &6V6T6V6VITEY
WLMHCMTH 2 6t0fl&G6VD GEUTITLMEUMID — 6T60IM LIML 66T @)L QUMM HIT6L
BHBMeNeTssLI0D.

50. BH QBN 6T eTedTm HTedeor S Flwiy?
A) 66606 WIITIT

B) GLIGS®GUTT

C) sUlevly

D) RLL&FGST

Explanation
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> B QBN NleTEHSHID TaiTald BIene elWHWel] — GLIGMmUTT. D&HHEHEH S
Goemeuwlmerr BHGemeTs: &HLIgSH SHTL(HeusHTe @ bETV HHQMHMIedlerd s
6TEOTMI D MPHELILIL L SI.

51. gL®s &sevall wLGUWearns asmhimsel wsedlwerayld  sHeveluller

LUmMUL L eTG6l. eTeoTml QSTEIM&velluler (NHRUISHIEUEMS FaMlULIGUT?

A) (. QUTSTTEFTITH

B) ]600T600T IT

C) &>600T600T & ITE 60T

D) H.69.5

Explanation

> gL@& svall Wl@GuWlarms esmPhimseall wsedlwerad  sHevallulleor

UmOULLeTG6l. HVaNSSEIMMEET LIw HMEHHE0T. SeUMMI6T 62616 6UTeTmILD
661G 6UTIHEUT @QuleuL|&G LI QUIMTmBHBHHWSHTEHS GomeTMILD 6TeoTMI
QasTHMmEHLNWINET (WNEH WS SIGHMS B(H.6.8 S n)U|6TeTTT.

52.QUMBHSS&H
3. HEM6V 2_600TS FHPHS (PLPLDIHET QILIIHLDLILOLD — LjMIBTenmm)
. IDM&HE600T (LNIEFLD — DG TEHEHITEHT
@). IDGGETID Q&ML L eUflFmIsID BleoTmns
WSSIMLSSTIOLD BlenTsd;bhs LUbSTSL — BreEGwmy S el
F. FRIQS&TH STenT SMerd SLmIQsmed wpmi@ Curf
QeUmIGT6eL LilhemLl Sevoteml elweirgilg Hidleney &L 19 — QUL T mesorLd
A)1,2,3, 4
B)3,4,2,1
C)4,2,3,1
D)4, 3,2,1
Explanation
3. HEM6V 2 60018 FHLPHS (NP LDIHET QILIIHLDLILOLD — LjMIBTenmm
Q. IDM&HE600T (LNIEFLD — LDGINTEHETEHF
@). IDHSHETID Q&ML L auflFBIsGLID BleoTmns
WHSIMLSSTIOD BlenTSTRHS UhSTED - BrEG Wy SGE WM
. FBRIQG&T(H SHTeMT SMeTD HLPHBICS&TE (WLpmkiG Guif]
QeUMIG 6L LilhemLl Sevoreml aflulerailg Hidlemev S 19 — QUKL T meoor D

53.QuU@GBImeL UMl FAM&s! @ Blevs sl eTedTm aurfluley QUIEBBITEY 6T6edTm Q& m6Led 60T

QUITIH6T 6T60T60T?

A) wenLpBiy

B) &LeVBT

C) Sevor vy By

D) @umHm! By

Explanation

> QUOBBT eeaTMTL @I WenpBenrs GMGRMSI. GFT LneTeTfl60l & 60TM

Quiflu BILIGEL QUGHR W WemLPBTTeL u@eITl FMBES aleThIGs aaTLCSH
@UUMTL aufl&6T 2 eoTiS I QFWIS.

54.560505Tn&HMW QS5MTGSS56T?
A) UMISLD UMQ W QUHHESH6U6TTI
B) [56L6VIHSIGUEDTITIT
C) QUBMIGHBIGSHT
D) sUevly
Explanation
> HOGQHTNGE 6TaTlgl T HSHOHTNE HIUSHEHET QRTMTEGWD. ©)5 60 60T
QBTGS ST HeVeVHSIEUGTTH. @6UT FhisGTeVL Ljevalserfley ermelr.
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55. QMHMIFHE 6T6ITLISI RETM SVHSHUTHS 2 HaHL - @F6V SebBGeuJ ererm

Q&ML 6T THTFQ&FMTEL?

A) QFLHST

B) eumlwieury

C) 2_melleory

D) oleudmeury

Explanation

> SlVBSAUT e QFMeLeNeT QUITH6T euplel] 6eTeTUSTEGWD. @)5eor

THTFQEFM QFRIHST. @VAIMTLDE] 6TeTLIS aIMWaITHEHHES 2 Sl Q& U160
6TeOTLIGS GLOMEetorL LIML 6V euif] 2 60oTI& &I QLIMTIH6T

56.9L60BIGL) CEFMLD 6THIG LIMBSTT?
A) @UMOBISL T
B) Fleussmiens
C) eNB&IBST
D) UsI&HCHTLemL
Explanation
> QBIGLY GFM HenyluLll UML) A flurmsl LUspeuUmmeld. @eur
FleusBIeN S DML LSS V6T QLeuMmIGL eTeTemild 2erflev LmbEeur.

57. wWweflger alewm@eNBHa LMULE 2 Wihs BIOUSHES QG LIL6mL U

el @ eus?

A) &H6vall

B) 2_eo0TJ &G G 6T

C) & &H6IT

B) eT&16 L0160 6mI6V

Explanation

> Gy aNWFQFaID &Hevad. Weflger allemGemhas TMILL(H 2 Wihs

BIOUSHEG AQLUenL WUl elleThiGealg &Hevell @G, 6fls & TulsS S et
aleTiER WD 9nsd FIHMESH QLHEF QFadan sevall QLIBLILMKIG
AREHMSI.

58.Q1LUMHE S5
9. BI&SID BISHIND - 1. LUTHSHTES60

. SO WG - 2. BTeTGHMMILD

@). GrevoTL - 3. heOT&

. CusmIemeaUGUIeL — 4. HHIMMHMLD

A 1,23 4

B)3,2, 1,4

C)2,3,4,1

D)2, 4,3,1

Explanation

> ﬂg:r,gsm Lrﬂg'sgsﬁa - Lr)rrsiTGg,‘rrgu'Lb

SMCRGINC - sGLrHOLD
& 600T L - HEOTS
GLIsTI6016U GBIV - UMSI&TH 6V

59.826HQLHRBISTILNWBIS6T6 QUTBHSTS eeTenm 656 QFUIsH?
A) alemeTwmLE)

B) BeuCa&

C) Eaus FHGTL6vol]

D) Al ILUSH &ML

Explanation
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> AeulIUGH ST, e GN&em6V, FausEHS TN, aUeneTWTLS), & 60T evCa&HE
AHW LHIID BLEUGEISTUNWRSET &G, @B BHuCsH& erearuLg
DEAMIBISTINWLD G LD.

60. 2_L6LIF6EVLD 6TEOTLIGI ©)6LEVITLNG UMDV @& LD?

A) 9|6v0f]

B) Lieoof]

C) Yevor

D) Loeoof]

Explanation

> 2 Leupeuld eTeTLIgl Lieooll @6LeuITnGy GUMPEUGSTESLD. L6oof] eTedTmT6L HI6oTLILD
6TEOTM QLIMH6IT

61.500FG 6T60TM HIT6M6V NS WU WITF?
A) & 600T600T & ITE 60T
B) D(HS&TH
C) UMTTH & M& 6T
D) 6)ITe0of] & & 60T
Explanation
> SUPFH 6TaTIld BIemeL eTWH Wl eaumenllGTFer. @eurfledt @uimHQuUWI
STBIGEFTLI 6T60TM 6THHTTF G LD.

62.2_(HLOMIGL QUG EVITEL — GSHTE0ITEH &S S
2 LPEITMI 2 LETMIONG S 211965 SHF60TTEL” — @ H6L (LNF6V 6T60TLIGH 60T GLIMIHET 6T60T60T?

A) LDEDLD
B) &M
C) 4wev
D) GL&LD
Explanation
> @QUUMTLENL W& eTaiTLg C&SmEHEH GMIEGEHRME. C&HESHMS GMIEGLD
LDMGMTH Q&F M6V Gl&T600TL6V.

63. CoHITEUOTS TS S 6TEOTENILD LITL 606V 6T WIaUT?

A) QeumIsIDLLT FmdlbTg 6o

B) LevauJ Q&F. @Uma:

C) UBHaIGF LITTH

D) 6)T6oof] & & 60T

Explanation

> CoHMeuGHMTHSIL  UTLG  6Terenlld  UMLemey  6elWHWall QeumBISIOLLT

FTOBISET alTy. @FH 6 L sTHm efFd CUMEH gmU@GILD GLDBleneusseT
LM @UUTLeS6) eNleTg&:&W6Tem My @) & 60T & flwi.

64.WUMMHHS PG CFFEHGLD LM 2600 &He06TSH6T CHemaluilevemen?
A) QUITIHET 606USH BLILITE G
B) &606l HMHMEIIHES
C) Qumedla L 6T @BLILAIIHEG
D) QLI600T& EH &S
Explanation
> &l EHMaITHEEG Al &MHM HLICW PG SHLD. WOHWTH PG
GFIEHGLD LM 2|600f15H6060TEH6T S e[HEGS CHemalullevemev.

65.CHTeOW L 19 HBM e6Wg S 6rerm  &Hallneoll Samild  &HHSHSIGH6T60
QUMTmBHHSHTHSI?
A) STW &STMHmI
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B) LA G5 L60T 2_6v0T6)
C) €660 & & 6iT
D) [beoTenf [y
Explanation
> STW STHMILD HeTeof(HLD,
FeooTL Ll USG5 LI6dT 2_6v0r6) LD
GBmeml L 19 eGILDS|LILIT!
BN aWsIh S®LALIUT aearugs sellnenfluler eufle:er. @&ev CHmemul
@l (D auN&6TTE &6 060l gn mieeoT,
1. sTw smol
2. [h60TEOT I}
3. &HeooTL LIS GG LI6dT 2_6tora)

66.ULHSONTHM_CW Qeaummlenulss QSHTETLTL _ 66D QSUIeUSmMS
GUGTOTRIG6US! LDTLIMES @ HHSHS.
A) S (BLDOMeL
B) 6 ([H 60T 60T
C) Q&TmMmenel
D) @\b&) 6ot
Explanation
> Q&TMMen6 — LI G&UIaIIN
@Qumens&sL QUMTB6TSHETTeT muilml, mleve, QBBLIL (LS 6VTETeU MHemnMU]LD
UPhsIPTSET ealeumiGary. afHams 2 aoTisHs IIsEhsHE ¢ BH &6
adlum® « QFUIaIGID QIPGESHESH 6 L @) (HHSHS5

67.QUTHSSIS.
9|. QF6OT6DIE0T, 6)L_G) & 60T60) 60T - 1. &aaIlD
. IDSF U C\&F 60T6D)60T - 2. Q&BTMMEN6V
@). G5 60T\ & 60T60) 60T - 3. 9emLwImml
A)1,2,3
B)2,1,3
C)3,1,2
D)2, 3,1
Explanation
> QF6TEM60T, 6L Q& 60T6060T — Q&M MEM6V UM
DSH W QFETEN 6T — SnbllDd
Q & 60T & GOTEM 60T — ] 60) LTI

68. LILQLOLD 6TEdTLIS 6T6)6U6em 8 WIT6T 2_auemlnemul LIuledTLI(h &3 &6 &meTSH m S ?

A) STLS SHIM 2 6 &6T

B) &MTLE& ST Qeumild 2_61emLn&6T

C) A nmmilb B

D) QoUW 2 aIemLD

Explanation

> UIQD eTeiTLS 2 alennWilermaid emnelgl. LIGLW, STLH SGL 2 55

GTOTLSHML  &HTLF) S 2 aemngGamer WLEGCL s UweaTUbh S 6
Q&METH M.

69.506UD M M606T U HITCELWITSHET 6TEUAITMI |6MLDSSH 60T ?
A) LWemUILLy o,mi

B) &\ ([H6u6069 8 C 8600l M

C) Q&TMHMEm 6V MM

D) S{6mL WM

Explanation
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> LWeMLLMGESES aLECsH Flev GLUMGET LGIGL @@HHE LnetorevGlelerlemnul s
RPERHH W eletolls: BlmielarsHer svaiev] LNFmearfevGL. oL mBISG Gl T
G CWMMSS&H&ETET  GLIOMGS CHIHESS;SMT. STm LSS uller
QOGUOUALD Fa6Uld, PETET YOMTHS HOTLTEH R48& G & TG BHSE!.
Fa6UlD SLMHeMM, ‘B (H6U6V60EE 5600 QL M’ 6TETMID {5 60)60T 60 E 55 60T

70.QmPeuUWILLS &evell — Lmlwl SiflWmeT gammi eTs?
I. R6aUQ6UTIH QMPYE FeNHSH VI (H SemMUIeL @LeVMTEH Q&F(WemmW FHQ&FUIW
Gaum Femsefley 2 FFHBIGET @) (H&HGLD.
II. QUMY &EHE S @) 60y @I TeOT G6Um mIemLN & 606 CaummiemnLn&H6TmTHGel
Plys&salllmne  ehmmbliu(@hss 2saaugs  QUuTPIOUWILL. Q&TH &8
QIMBIGVTS  SMCUMETSSEID 2 T JalmaTdH SN Imarsdg  Qumlseflain
LigeuGeleor(hLD.
III. B LD 6T6LEVITID 2 6Temgl eTedTm LI 6L &L IqQul LTFemelenl @GS | &H60Tm
LMJenelenlsd SHeug QmPOQuuIFLiL].
AL I wCGw &ifl
B) II, III n_(®H\b &if
C) L 11, Il 9emeorsaiID &ifl
D) Il (b &Fifl
Explanation
I. R6IQ6ITMH QWMEEF FNSHSHNID @ SHOMUIL @VVTH Q& (WHEMLDEMUI
FHQFWW Coaum SHemmaerflel 2 FomGeT @ e ELD.
II. QuTPsERsHEE @eLCuUWmear CalmMmenn 6T  GCalmmIenLNG6TTHE
Blys&sallmne ehmmbuliu@Gss 2.s5ajaugs QUuMPAUWTLL. Q&THE&HEH
QIMMIGEMTS INEIMETHSID 2 OTJaIMETSIIN mears s Qumblaseflan
LgeuGeueor(hLD.
III. BOWILLID 6TEVELITID 2 6Tl 6T6oTm LLemL SLIqgWl LTFenelenl el s
3|G6TM LMTFemalenwlsd SHeug QumdlQuuliliy.

71. “@@® QMPUI 2 arissliLlLms GCammp Gwrblulley elsfuil(eag
QUMEQUWTLIL” eTeTSH M )
A) LDETOTEM6 (DO G LI
B) (p.&- R&HBHHMTSHT
C) UGN HEM6VEHT
D) 2_.Cau.gmABTsEF
Explanation
> “@@m TPl 2 aissliLlLamg Caimmm Qumbluid Qeusflul@®eus
QULMPAQUUWIFLIL” eTedTSRMITT LD6TOTEn6! (LNENVGLIT.

72. ‘@@ QUMY a6ETIELMED 2 V&ESSILET 2. Me| Q& meTaTaln QUMWY LIUIFLIL

@eTMHLEMWTSSTGLD; 2 608 BT&HHSH aleTFFFRHGI0 QuUT@eTlulsy GUMLIYMEGLD

QULMPAIQUWFLILLD 6@H SITFEOTLOMEGLD” 6TedT R MY :

A) LDETITEDIE (LOGIVG LI

B) ((p.&- R&HBHHMTST

C) UFIHIDMH &em6VEhT

D) 2_.Gal.gmABMsy

Explanation

> ‘@ QUMY aeTELME|D 2 V&SI T 2 Me)| Q&TeTema|lD QMBQLIWITLIL]

@eTMWemWMSSTGWD; 26086 BM&KHS aafFRHESGL Qum@erflwey
GLUMLIEMESGL QUTPIQUWILILLLD 6@ &SHTIEINTGM” aderHMTT . .
R&HHTST

73.501LDB T S16600T&H & ITLILIS LD B & 5 Mol LD 6TH G Limeootudlev
NS LILIL (H6TETSI?
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A) @ BT W-@ eveuriilul

B) @bSHW-UTIEs

C) @bH wW-6rmiiilu

D) @b&CHT-FMyF6vfl&

Explanation

> SLEUGIITHRIGEMET (PEOMUMTHS MSWTEHLD LLPSHHIDES&TEoTL. 2 BISGe WY

2 (hUMEHW ‘QULITN QUsHsTL lev’ FnysFefles &L wenmuiley
MNHSS. @, @6t  SUODPBTEH  eleoTd  SILILSGID  6Terml
QUPBIGLILOSMS. S0P EF LN & 5B 60T QUTEVITMEMM S Mleusmasmest
(NSETENLNG HT6YSET Liev @mBICH LIMSEISHTESLILI(H S 6dTm 6or.

74.6L(H505Mems mHIeuskefley QUTBHSTS atanm 65 la) QFUIsS (&L LM
LmMlwSev)
A) LS DHOILILISSI
B) LUMBTsMmI
C) urflumLev
D) &MIHC&HTem &
Explanation
> & Lmpd — Uflumiey
LML - USOHLILSSI, LDBTONmI
S4BLD — HHMIEOETT, GMIHOSTENS, BhIGMIBINI, HEHBTOIMI, 56056560 8.

75. 6HIG HOLES HUQLOLE QFaTaneruiley HemL&&euMMI6T LILDEmLO W 60T

&HVG6UL_(h 6T60T FnMEVITLD?

A) LI6VeVITRUTLD

B) ullevmiiw,y

C) &\ eUMEhG& Iy

D) LjLp6v

Explanation

> LeveumauIsElen 2 6T6m  LILevall] GemLelem, (NGeVMD  GCSHHE TeFLeoT

STVSEHL MGHELILLLE. @mRGereT &Heeallemld QaeaTemeruiley
FemL_5 56 MMIET LILPELOWITET &H6VR 6L (H 6T60T6VITLD

76.8mm: LSFCFHGE SLILGEET 6T aUHend 1745 60 Sl LIL LG

STyeord: @BISBeTHH MG LJTarasGln @enlCuwl CUITT  eLneoor_Gmey  SLILI6V

Qe 1&LD SemLLIL LS.

A) Fa MM SMTFevorld @IeooT(HLd &Fifl

B) oMM &ifl &TIeord Healm

C) Ba MM SMyevorld @uevor(hid Fifl QLeormev Fiflwimest aflemgaLnev6v.

D) Ga (D! SMewTd G Ueoor(hld &e6uml

Explanation

> UsIECEfle@&s SLILGE6T alhend 1745 6V el LIL LS.

QRBVTHHMHGLD NImar&sHGnh  @enlCuw  GUMF  enetorLSGmey  SLILI6V
QU6ool151D SenL_LIL L&l

77.GQWLD, YSHTOUTEHSED CGUTETM LUGH &Heflev CLMOSTETETLILIL L 2&Lpmule]|l]
Uetoll UILGHUNT 6ofle BTHTHESH 6T LIl 616556060  1,600T(hH & E1H &G
WHUL LI 6TeTm! S MG MSI?
A) 2 @6VL&FLD
B) 1 @eVL&LD
C) ggbugmullyid
D) 10 @6uL_&lD
Explanation
> @6t Q& 6T6x) 60T 6T6oT M MP&HSLILIHILD UGS WL 215 60T
SOHOUMUILGHSEED aIFeThN&EES Whengw &TausSHelmbes L06of%er
QUMPHSSHMEHTET HLUIMIGHD6TH Gl&Te0oT(H6ITETET. Gl&F TN 3| (HGSH W 6IT6T
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GlQWLD, YEHILUTESD GuUmarm UGH&elen  GMmOsmeTaTLLIL L
&ML Leool]l UUGH Wl eofle BrsfeasHer Lpennenl 1 @6ul &Ll
21,600T(HN &HEH&HE (LML LS 6T6OTMI S MIBMSI.

78.8MMIGHE06T LTS
1. uettenfl® HHLPEMBETleL (LNSEV eLNETMI H(HLNENMEET F([HEHTEOTEFLDLBSF LML U
LMLeV&6rfledT Q& MG LIL|S6lT.
2. @e6urfledr LIML6L&6T @em&FLILITL6V&6TTEHGC 5 & LhER 60T meoT.
3. DHUMEHET QSTGSH6UT BLOLNWmeorL Ty mLoLIl.
4., FUPSTWSH T QUITIHETTSTY, Hemev, LiesoTUTL (R BlemevsseT, sWEE @ mHS
o2 Wiplemen, @eem&F SHH el FLWS CHETLUTH&GEHT AMTHSIn  FLOUDBST
UMLev&serflev eflgeild &)L 86 edTmeor.
A) 1, 2 &ifl
B) 2, 4 &ifl
Q) 1, 2, 3 &0l
D) 9JmenGSiD &l
Explanation
1. UeTefld HGUmMDSHETI NS NPT HBHUODEET HBETEOTFDLBS]T
LMW UL 60&6M 6T Q& MG LIL|S6T.
2. @eufledr LIML6V&6T @enFLILMLeV&6TTEHGC6 5 &LD5 60Tm6oT.
3. D HUMMEHET QSTGHSH6UT BHLOLNWMeorL Ty BLOLIl.

4, FUPSTWSHT QUTHETTSTT SHemev LeotUTL(H Blemevser, SlWEHES
@@bHE 2 WIBleme, @& SHEHaID FOWsE CHTLUTHHET 36M6TsH S0
FLOUBST LUMTLev&Eeflev ellgails &L & eTmeor.

79.056meof | BB WIMell6T HemLne] eUmuiley 6TedTml | emn&H&LILGID BT 6THI?

A) LDGIEOT

B) G\ & 60T60)60T

C) 815515619

D) (pLhemLl

Explanation

> DBHIBIGET, FNSESH T LeoTLUTL(H& FnMi&EH6T (LS 6TenL0UITETem el W T@GLD.

FNSHESTET HLHSHHTD QUIVTHMNGHGID BIGP&ETL ampelmGLld THIsme
QIATIEF GG LD 3|66 H6m60oTHIM & 6dTM60T. Q& 60TeotIHFWITel6dT HlemLpa|elmuiley
TTMENPESELILGWL  ‘QFaTener @6Tm  SUPSHQWBIGIL Ugedl UL
slpTsefler LievorLTL(h {60 UIMTETLD.

80.51D& & 600TL UM MIET SeUMITEOT @)60)600Tem W& &5600TL 1))
1. QLEOTHSTMHIGHET G ITen6l — HWTHTTL CHF&T
2. LEUTH ST MHIGET Ll6Tenend s Lol — LI LIEhH& 6ot
3. aumeoTd eUFLILGIWD — LjevalCrmi NG 6\ & 6016018 60T
A) S|SB &if]
B) 1 DL (b &ifl
Q) 1,2 &ifl
D) 3 (b &ifl
Explanation
> LETHSTHIGHET GHTemel — HlMETTW CHR &
QLETHSIBIGET LaTemens S — LeveuGrmi flnG @ 560Te0rs 60T, 6UIT6oTLD
aUFLIL@ILD — LFLIEh& 6T

81.0WleumlILLB&HEEG aLHECH Flev GLUMGEGET LG G @HE LT eleflanuls
RLP&ERHS W aleoollss  BIMIGIETSEH T  IEVTTeT Wl S BISGCW T
GYCWDHMS SIS GLLOMTES CHTHOSOBHSTI?
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A) SITLO6ENV LDETEMIT

B) QFWI6TL. 2mis

C) Ygmesr&lerv GL

D) FJSTLO6N WeTGmIT

Explanation

> LWeMLLMGESES aLECSH Flev GLUMSGET L GG @@hHS LnesoreL6lelertlenuld

FPERHH W eletolls: BlmielarsHer sveaievd LNFmearfeuGCL. 3mSR Gl T
G CWMHMSSHSH&ETET QLTSS CHIHASHSSTT. HeTm  HULGHuler
QOUOUWLD Fneuld, SLPS&TET UMTHS SHenTL D Q486 C&TE | BHSS.
‘G ([H6U6L60 & C 8560011 b, M1’ 6TEOTMILD B|5560)60T | 6MLD G G 60T .

82. FnMMIGHEN6T LT MUIS
1. QewWileT Mry CaHMLL GG 2 6TCaT af(h&H6T @UhHE LGS ‘@eusTeneTwly LD’
6T6OTMI L& SHLILIL L G
2. CEHMLMLEGET @LiLiaiserfler CHemaisemer BlemmGaummild LieoollWmeTF&erT,
aleol&IG6eT CUMETCMMTHHHETEH QalaflC HemnsEs GIQUIGLILI&GET 2 6TeT LGS
‘SHLILT BSFLD’ 6T60T 6MP&HSHLILILSI.
3. QeuaTemeTWT B&HIW, SOGLUUT BHID @eneohsd LUGHCW LSTTFLILLIQE6TLD
GTEOTLILIL L&,
4. IDSTMTEFLIULIQEOTIN 6T60Tm @LILGS eNQWBSET Ll FluleT 2 6TEBT 24, ©EHH T8 6l Teor
QaererlILfledr @@ WaeaTsmeflLlmhas 22.08.1639 b wBHefley Lymer&@ev GL
QUMMHBIG T .
A) 1, 3 &ifl
B) 1, 2 &ifl
Q) 1, 2, 3 &0l
D) oJmenGSilD &l
Explanation
> QeWlearl Kmiy CaMLmMLEEG 2 616 afh&H6eT @UHE LIGDH ‘G el6Tem6rTy
BT’ 6T60TMI 6MLPESHLILIL LS.
> GoITLemL &G 6T @\ (LIl TS 6rfleor G & 66U &HEM6T BlemmGeummild
LIeoof WM &6,  euemoll&BIgGeT  CUMaTCMMBH&HEETES QeuaflC s s
GQUIIHLILIGET 2_6TeT LGS ‘SIHLILIT BTN’ 6T60T S enPNHHLILILGI.

83.5m6UD M M606T U HBITCEVUWITHET 6TEUAITMI |6MLDESH 60T ?

A) nufleomliL,y 9Lm

B) 5\ (6160698 G5 6001l b mI

C) Q& TMHMEm 6V MM

D) 96mLWImmI

Explanation

> LWeMLILMGESES alLECsH Flev GLILMGET L GG @ @HHS LnesoreuGlalerflenuls

FEHHH W elenlls BloaeaTsHear aalen] LNFTarFeavClL <L BISHGaWIF
G CWHMSSIHHTOT  @QLITES CHIHEOSS:ST. Setm  ULGSuller
QOGUOUWLD Fneuld, LPSTET UMTHS HenTLTE( @486 C&HTEBHSS.
Fa6llD LMHeNM, ‘B(H6U6V60EEC 5600 G M’ 6TETMIN 3|55 60)160T | 6MLOE 5607 .

84. B(HeauvellECameaIulled B GG WTHLW SH00all(h AUUGSGEH Lsveveld

&HTeVET6L FIMHE elleTRR WSS HTLHHMSI?

A) (PS6VITLD IDCSHBHH TEUFLD LIGV6V6 60T

B) @Uevor LT LnG&HBHH TeUTLD LI6L6V6M 6T

C) @U R\ hLDn 6T

D) Bb&)euyLoeoT

Explanation

> LVeLMeUISH60 2 6T L6l GLelenT, (ST LDG&HHE JeULNe6oT

HTVSH IMGEHLILLLGE. @mRGTeT &Heeallemld Q&eaTemeruilsy
ML GSHIMMIGT LILDEMLIOWITET HeVGIL (B 6TereLITID. 5 ([H6eU6v6dl & G 8seuufludl6v

™) ©
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FeLEGID BHH T H00all(h IJUUGEH Leval] &HTeusHen Sl
eTRSRWnES STLH\SMmS!

85.060alpm  6f% WLBeLeLTH Wmwuillemey — eredtm  aUflulley DL BEVELIT  6T60TM

QEFMELEO 6T QILIMTIHEIT 6TE0T60T?

A) @e6memLln QUIMBHH UL G)LI600TSH6iT

B) @e6memin QUITBHEEH W 3l,600T85 6T

C) A miauseT

D) S midlwiyser

Explanation

> IDLIBELEVITT — @6TemL QLIMIBHEIU GILICTOTS:6T 6T60TMI QILIMTHET. @)6ITLD 6 LIGT0TS: 6T

ATUTISECHTH Q&ML ThD SHmHalpTsEseT Bleombs e oemne6ru|enl
Quiflw 2ery, HHLOUlemey 6TedTLIG GLM&MemID eurflufledr QUIMTBETTESLD.

86.62((HEMLOL60T [Bl6OTSHIH(H LDEVTLY. [B]6D)60TE: G 60T M
2 55050 2 Me|Galeor(hLD — 6TeoTm aUfl&HemeT er& Ul WmF?
A) HDBE@TTEFDLBST
B) &\ B /b16&& &)
C) L0600t 86U TF&HIT
D) GU6TETeVIT
Explanation
> @(HEOLOW]L 60T BleoTSIH(H LDEVITLY. H60)60TE G 60TM
2 HHOFHLD 2 M6 BGeUenoT(HLD — GUETETEVITIT.
@@ QBMILILL L D6TSSIL 60T HledTenlen L L6VFTGLIMETM &) ([H 61960
Blemn6eT&H &R 60TM 2 550G 2 M6 Ceuetor(hLD 6TedTMI GUETETEVTT
&HSCHTLLSSHET efWhSmHefluN(BEGLD HHEGalemer CaHLBMMTIY.

87.@QHCHT-FMIFefsh HLLLESHMO (Wenmuilled SLIQUNIYGSHLILILL (N&H6V &L LLLD

T&I?

A) 2 WFBS) L06TM Q6T TELD

B) QaWileTl. e GamLenL

C) QOLIJIMeN QI&HSHITL. L6

D) GFLILIME&LD 2|[J600TLO6M 60T

Explanation

> @BCHT-FMyFellss SGLLLGHM) 6Tl  (N&HVTWES &L L E566V,

Nfgsmells sl LLEsmen, @bHwll urgourflu umeosl] sw&lueimenms
HVHG 2 (HeUTHSLILLLG. @LUiLmeoluley 1768@60 &L 19 (NIQ&HSLILILL (PG
&L LLLID GFLILMGHSLD I|J600TLN6M60T G 4@ LD.

88.8mMMIFHEN6T LT TUIS%.

1. QILQF6Ten6TL] LIGH H6T I0STMEFLILILLQ60TID 6T60TMI 600858 LILIL L 60T.

2. QFHETOF6TEM6UTL LIGH 56T G\ 60T60)60TLILIL 19 60TLD 6T60TMI 36008585 L1111 L 60T.

3. 1688@)6V QFeTen6oT HHTTLF 2 (HeUTSHSLILILL S

4. 1646940 2460071607 G606 &M LILNGITLI @\ HH&I60r IN&H&HETASTeNS 19000 & LD.

A) 1, 2 DL @b &ifl

B) 3, 4 DL (b &ifl

C) 1, 3 LG &

D) 9|emes gl &if]

Explanation

> QLQSTemeT] UGH&H6T;, WSITFLLLIQETD  eTeTmild, GG 60T & 6Tem6orL]

UGH&ET QFeTeneTlILILIQ6TD  6Te0TMID  GUPMBISLILLLGT.  SLBIS G T
@ TeoTemLULD @ eMetTS S IDSITe  6TedTMl  SjempsEHenry. Llery 56l
QLM 95, @6Tm B QFTMOTULTS UH @QUSERMSI. 1646940
SLETIQ60T SHeooTSQ&MBILILNGTLY @ BHSHl6T 0&H&HT Q&5Tems 19000 L@&LD.

™)
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@ 6ueueTiESR ulem6or SMHCSH 1688@)6V G\ & 60T6M 60T BSTTLR
o (HUMHSLILLLSI.

89.LU6VUMRUTSEHL 2 6T6m  LIGUevedJ  (G60LeUen, WIT(H6m LW &HITeVLSF) 6V

N GSHLILIL L GI?

A) (PS6UITLD @)L TER60T

B) (PS6VITLD DCEHHEH T6u T 60T

C) @UmRE OO 6T

D) [51b&) 6 [J Lo 60T

Explanation

> LeumeuISEHIen 2 6T6m  LIGVevel] GemLelem], (N&eVMD GBS JeuFLeoT

HTVHTV  AMGELILLLSE. @BIG6TeT HGaILoLEF Q&eaTeneruiley
FemL_ 55 6UMMIET LILPELOWITET &H6VQ 6L (H 6T60TeVITLD

90.0MHESMUIL UFHSHESH T LLLTmL 2 HSHWIGERMS — aerm ealiflgsemer
TS WeIT Wmy?

A) UTTH & T& 601

B) LUMTISWITH

C) sallneoof]

D) b.UJ&FeNI5HS)

Explanation

> WTHCHTLL auFbHSHEHH6r LILLToL 2 (heFHWIMBERMS — B.L95FenT5 5

91.80MMIGEMET LTI

1. 95D GMIERLILTL®), wevemeulILML®), QBGH BEVeUTEmL, LILL1q60TLILITEn 6V

2. LmLD: DS THEHTEHTF), FHUWBHSTHOILILIEDL, QUITBHBITMHMILILIEOL,

QUBLOLIMETOT TMHMILILI6M L, &) mILIT6oor THMILILEDL, FadSTTTHMILILIEML

A) 1 L@ &if

B) 2 0L_(hd &1fl

C) @evor@d &ifl

D) @uesor(HLD SHeum

Explanation

> 96 GMIEGRLILUTL®G, Weveeu 1ML (), QBH BHEVEUTENL, LI 1q60TLILITEm6V

LmLD: DSIMTHEHETEGHF, HOHUWGSTOHOILILL, QUITGHITHMILILIEL,
QUEBLLLIMETOT TMHMILILI6M L, &) mILIT6oor THMILILEDL, FadSTTTHMILILIENL

92.QFWeTL. MY GHTLMLEG @wLiLaliseflear CoHeamealsemer BlenmGeummiln

LI6oof I WITET 7 &6iT, aUetol1&I&6eT CUMeTCMM(H&HETS QeusflCu 9emnsgs &L WwlpLiLSer

2 6iTeT LGS 6T60T SN GHSHLILIL L SI?

A) O B&HILD

B) @B& W hHID

C) QleueTemeTu!y (&L

D) &@GLILT &L

Explanation

> QFWlearl iy CaMLmMLEG 2 616 afh&H6eT @UHE LIGDH ‘G el6Temn6rTy

BSID 6Term SWPSHSILLLE.  CoHMLLEGGHT  @uLiLeurserler
CHEMEUGENET BlenmMEeUMMILD LicoollUIMeTI&6T, 6U6uol&F&H6T CLIMetrGmIT(He:&H T
QaueflGW Siemnss GUWIMGBLLSGET 26T UGS ‘SGLUUT HSILD’  ereor
SMPSHEHLILILL G

93.9|LDENEUETTITT 6TH& Hem6ror LIML6VEem6T LIMTHIeUSH 6V 6Uev6ValT?
A) QBUISE

B) (LeLEDIEV

C) DHSH6L

D) LIMeme6v

9578985878
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Explanation
> ISGLUMTLVS6T WLEGGW LIMQUIGTSHEH6T 6IHeUT LDENEIGDTITT. GBUISH6D
Flemeoor LIML6VSem6TL] LITHIeUSH6L auevevall.

94.8nMmI: UIQOWD 6T STLFASMmL 2 auemngemner WWLEGIGCL LwWeaTURSSH &
Q&METH M.
SITIEOOTLD: LIQLOLD &TLH SHD 2 55 3G
A) Ga M &Fifl, HMTF6oTD FH6um)
B) oMM SeUmi, STeoorid &ifl
C) GaMmI &MTJeoord @uevor(hld &Fifl, HMTFeoOTD SmMenm el6Ts GRS
D) FaMmI, &TI6oordD @ Fevor(hD &Fifl, QLETTEL HTFEUTLD FnMemM 6l 6mas & el 6L6m 6V
Explanation
> UIQLOD eTedTUS 2 auemnuileoTmapild emneugl. LG, STLE S 255
OTLST SMTLEH HH 2 aambnsemeT WLEGHGCL & UwearUuO S5 E6
Q&EMETH M.

95. Ga ML &G WTTeT LML SaMmIsen6T ST muls.
1. @aul &ereorl M@ maul L 1h CHMBIGTUILILIL L 6wTLD 6TedTenlld SNMHmnfley 1944 @60
NmBST.
2. SOEAILD, LDEMEVWITETSH VLD BTeL&HEM6T LiemL LILIeUT
3. Upleorld, lmiseng GUIMeTm LisvGauml @6vEHH UG SeTmiHIey @ UIBISH aupLIed)
4. @eu TWHW “Truile) BTMHSHTE” aeld LFerd 1997@ 6 sMHSHW &TASLI
s QuUOHDSI.
5. SN, SnmeoTedl GCHMUL S&W UmLLL&eT Slps SrFear ;s
QLIMMIGITETEOT.
A1, 2, 3 &l
B) 4, 5 &ifl
Q) 1, 2,5 &0l
D) SJmenGGilD &l
Explanation
1. @aif sereflwm@nr] Wmall b CHmISGTWLILL L6 ereTeild Fmmmifley
1944@60 LNMBHSTIT.
2. UANSVILD, DEMEVWITETSSH VLD BIT6LE 66T LiemL LILIeUT

96.5MWLIG QFaTaneTuley HHSCHTL L& Sl6Taler
SH6VGIDMHIG &HSHCeUGET
S6E00T(LN &G SIUIUILDE00T] 2_60oT(LNGF 60)F 61 LD 6001 |
FeooT(N&HS Q5NN 1CU — 6TedTm Ufl&HemerT eTGIIIT WITH?
A) HGETTEDUHST
B) Si@evor S flwimiy
C) G600TBIG L. LDV TET FITGHIL|
D) GUGTETEUITIT
Explanation
> SGBWLING QFaTaneTullev HHSCHTL LESI6TaleT
SHLGLOMMHIG SHHSHCeuGerT
S6E00T(LN &G SIUIUILDE00T] 2_600T(LNGF 60)F 61 LD 6001
FeooT(LN&HS Q5L ICU — QUETETEVITH.

97..08TMFLILILLQ600TLD 6T6TLIGI S LPEHSTEVIN 615 @)6M600THS LGS 2L @&LD?
1. QeUETem6TWIT &L

2. HGUUT BT

3. euevoTEOT M LIGLIL 600

4. AHsTHHILICLL 6L

A 1,3
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B) 1,2
C) 3,4
D)1,2, 3,4

Explanation
> QEwWleTl My ComlealLsE 26TCm afh&6T @UHS LGS ‘GleuaTenaTulf
B&HJWMD’  6e0Tm  SPSESELILULLG.  CHEMLMLEGHT @ LliueuFsserler
BHeMEUGE6T BlemMmEeUMMILD LIcoolIWITET 6T, 6160l & Ta6T GLIMeTGmMTIHESH TS
QaueflGW SiemnGs GUWIMGBLLSGET 26Tem UGS ‘GmLUUT BT’ ereor
SMPESLILL LS. @euailpL UGS &HEHLD @) 60)600T[H & LUGHGW
DSTTELILILIQ60TID 6TeoTLILIL L &)

98. GFMN&HBST LITFHWTT 6rHUI BIT6L 6THI1?
A) GFITLLT SITW(LPEM
B) GFIT SMTW(PeMD
C) LUIM6DoTLq.WLI &TUI(LPEmMm
D) LI6L6V6EU STUI(LNEDM
Explanation
> GFMTL&HST UTTFHWTT Uil HBIeL&H6T:
1. 5FIH6ET GemmUD en&CsWl Blemu]ld
2. H([HEU6TEBH6UT
3. G&FI STWWPemm
4. IOWLWH SOLPIHLD

99.80MMIGEM6T LT TUIS%.

1. ILQF 6Tl LIGH 6T Gl 60Tt 60TLILIL 1Q.60TLD 6T60TMI 6)ULOMISLILIL L 60T

2. QBT F 6T LIGH 6T I0STMELILIL LG 60TID 6T60TMI 60L& & LILIL L 60T

A) 1 bl &1l

B) 2 0L (h1d &1l

C) @yetor(hih &if]

D) @resor(hd SHeum

Explanation

> QLQSaTemeT] UGHSHET ISTTEFLLLIQETD  eT6iTmID, 6560 & 6Tem6orL]

LUGHHET QFTeneTlILLIQ6Td  6l6oTmID  eUpmIGLILLLT. QL BISHGCWIF
@ UMD @ eMneTHSE ST TeN 6160t AeMpSHeord. e o&iCel
QL6 SL5), @ 60TMI [HLD QF6OTENETWITS 5 @ HEHR M

100.8amm1: @HHWTeN6T Lev LGH &H6rflev @ hHSID QBFeUTeTIE6T G &F 6Temer CbTe: 5

GUIHG6EOTIT.

HITTOTLD: QFTem6TWI6L D 6mLDIHSEIETET Sl M (LNELD

A) Bamm &ifl, &TIeord &elm

B) Sa MM SeUMmI, &Tyeord &ifl

C) ammI, SMTJeoord @ Ievor(hD &Fifl. QLETITEL SMTTETTD SmMenm 6l6ms: & 6il6vemev

D) FaMmI, &TI6eoordD @ Fevor(hd &Fifl. HMTFevoTd Famenm allems:GRMS!

Explanation

> QPSRBT Blmielerd QUIGLLMIND 6ol  alall&asmeECW  QFUIS

STIOTHSTL, @bHwmelledr L UGH &6 lev @QpHSID GHEFITETIE6T
@) & 60T60) 60T GBHMTHH 6UIH S 60T . S|QUTSHETITEV 6 600T6OOT T LIGLIL_6m L
(EUETTTEOT S S1&&MTTeT  CGULemL), HhsrsfllCULlmL  (PeTersmILIGLL L)
(WDGEVITETT LIS LIGH 86T G medr il eor

101.2U1UBSHE Fan6dl (PeM GMIGSH HLPHEHTEvIN FoMMIG6Tlev 678 Fiflmergi?
Fahml 1 - @b&S WenmulleTLy a6l Flenmasmemney GUIMETM @LL6%leL Lietoll Q& uiul
Geuevor(h LD

9578985878
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Famml 2 — Lieooflufle jeul_ FlWild &L I9eTTCIT 6V6VGI Lieooll QFUIW DMIGSSH TG,

Hh&sTes DflHaTCT, 2 55060|6@& SLILIGW WMISSTCM, UIUBSES &Ml

WU et Lenflemw el aflevHermCourT, Fnedleml LDMIGHEEAIT 3V6VSI Flemm

& 600TL_6M60T QULPMIGSEEUT (LOLQULD.

Fam 3 - @6 HenL Pemnmuile QBSHGL @UILBS Gsmflener) SILLEHDS

WOHMIILD LOTDITET G600 en6ard:G W @UUBS WD @& GLD.

A) Gammi 1, 2 LI &ifl

B) &a MMl 2, 3 DL (D &Fif

C) ool 1, 3 L (IO &Fif

D) 6TLEVIT S MMIGEHLD &Yl

Explanation

> @@ DU HJFFmenssTs: ol FLL FISSIGHSEamer &MLl GCHmLL

2 flemwmeTiser QST TeTI&HefeT FlLTSHmMS MILILICHT 2I6UT&Hem6T
Femuilel SOLEHAID QFUISETT. &nedl 2 WFHEHTHAID I 6VeVE
RUUBSHMS (WMEHES QFUFGIL FRSWL measHs CUTITL LiUbHs Fned
FLLID CaMLL QsmleumaTisHemeT 2elnG&H&Eal606mev.@QHsE WemmulledrLilg
Fa60 FemFFmener GUIMETM GLpedley Lol QFIw  Geusvor(hLd. Licoofluflev
VL FlWID SHTLIQeTTCVT evevgl Lol QFIwW mssTCm, WH&HETS
SHHTCIT, 2 HHT66HEG HOLUILIQU IDMISSTCM, UILIBS &HTeVD (LU
wer Ueooflemw Nl elevEPeTTCVIT, Fanelleml DMIGHBT VeV Flemm
&600TL_60)60T GULPMHBISEGEUT (LPIQULD. @) 6eTemnm HenL(enmuileh @ HE G elILbBS
Qamdleomery SHLLEFHMES wWmMlewld LOmmmeT SHeoorLenersh@&G L eUiLbgS
e Q& AUGLD.

101.Which of the following statements about contract wage system is correct?

Statement 1 — According to this method the laborer has to work in a prison-

like environment

Statement 2 — Negligence or refusal to work, truancy, disobeying orders,

leaving work before the end of the contract period can result in denial of wages

or imprisonment.

statement 3 — This is a punitive contract system that is completely different

from the indentured labor scheme in practice today.

A) Only statement 1, 2 are correct

B) Only statement 2, 3 are correct

C) Only statement 1, 3 are correct

D) All the statements are correct

Explanation:
Plantation owners would refuse wages or imprison workers for even a
trivial problem, citing legal constraints. The Contract Wages Act does
not allow plantation workers to fight for a wage increase or break the
contract with the press union.
Under this system the laborer has to work in a prison-like environment
Negligence or refusal to perform work, truancy, disobedience to orders,
or leaving work before the end of the contract period can result in denial
of wages or imprisonment.
This is a punitive contract system that is in stark contrast to the
contract labor scheme in practice today.

102.10&mymeooll ellaCLTlwmelledr oLl H& HTSH 6T HLF LGS 600 (H &6 l6L
QMEs eu@aumuimerr 647 Wlevedlwesr Lieeor(seflev 159 Lolevedlwier Lieyeoor(H&seT
@QRBIHTHHMEG LI IQHEH MG 6T60T &H6voTL_ MBS SoMIWeUT WMT?

A) ou7.6.85

B) HM&TUMU QBem@rmel
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C) &Ly Q&Feor
D) 5 TCEFSHT [ITel
Explanation

> @BHwWmalev BLIHS Q&6 aleT &L GH6V (Drain of Wealth) 6T6dTml @)\ LIGLIMTE 605
aIfenll&@GI STETUMU BHeuGrmedl @6l eleTmigGeT @BhHWTelCCW SHmIGH
QBHSTL QB Bh QFHES QBSHGD. CLAID al] Fanamsuile eler
Wwasbhglear Qsmatemer 18 wWwenmCWT®  mleortmiel LNl 19eq miflesr
Q&TETEn6ETEWIT (LNLG6J6V6VITLN6V QGTLTRMS 6TedTMTT

102. Who found that in the last ten years of Queen Victoria's reign, out of a
total revenue of £647 million, £159 million was sent to England?

A) RC Dutt

B) Dadabhai Naoroji

C) Sukumar Sen

D) Chandrasekhara Rao

Explanation:

» Dadabhai Navroji describes the current situation as a drain of wealth
in India. If these resources stay in India, this country will be
prosperous. He also said that while Ghazni Mohammad's looting
stopped 18 times, British looting continued endlessly.

103, sUON&ESH 6T LN&HR W eTeoorGevorll el a1 Lulgm@Ld.
A) eTeiT
B) Q060015 &
C) Q& 60T6m 60T
D) Blev&& L6016V
Explanation
> BleVGSELEM6, 6T6T, OLN60TE G, Q& 6TeneT, G&IWSTHE MHMID &H0H\E& 2,5 Ui6oT
SOLBTLIG6L LU U@L WS 6T6ooTGl 60Tl 695 S185 56T 9L @&Lh
103._ is the major oilseed crop of Tamil Nadu.
A) Sesame
B) Castor
C) Coconut
D) Peanuts
Explanation:
» Groundnut, sesame, castor, coconut, sunflower and mustard are the
major oilseeds grown in Tamil Nadu.

104.8ammI 1: SLOIPBTLI965T (&SR TET 2 6o0Ta) LILIUNT QY QL& LD.
Famml 2: QUMeTen(] InMMID BFFIQ FUT SUOP&ESH 0 LUIFILLUBGLD WEHERW QB
QUM GETITGLD.
A) 8apmil 1 &1fl, Ba Ol 2 Heuml
B) SahmI 1 UM, oMo 2 &l
C) Sami 1, Sa oI 2 GUeoTGLD &if]
D) a0l 1, Ga MOl 2 @Teor(hILD SHeuml
Explanation
> SUPBITLIQ6ET WHESWImeT 2 eoreliLully QB LG, QuUTeTefl mHMmID
@Esy Furm slPsEsSH 60 LUWIFLLUGD WEHW QB 6IM&S&H6TTELD.
104. Statement 1: Paddy is the most important food crop of Tamilnadu.
Statement 2: Ponni and Kichadi Samba are the major rice varieties cultivated
in Tamil Nadu.
A) Statement 1 is true and statement 2 is false

Follow Insta ID: @tnpscbooks @ 9578985878 @ Tele ID: @tnpscbooks_official



TNPSC

TEST BATCH Group-II / IIA G
AN

[(G)tnpscbooks

[Glinscbocks

SWhid Gl RHsres..! (e ..!!

B) Statement 1 is false, statement 2 is true
C) Both statement 1 and statement 2 are correct
D) Both statement 1 and statement 2 are false
Explanation:
» Paddy is an important food crop of Tamil Nadu. Ponni and Khichadi
Samba are the major rice varieties cultivated in Tamil Nadu.

105.100MSSHWIT UMDHS & MmIS6VTeT BleVLILIGDH) 6TelalTm eMLP&HELILIL L &I?
A) LDeVUITTY
B) Q& ITILD600T L6V
C) Q\&ITMmI&600TLD
D) &SR WLILIGS)
Explanation
> LITSEHWT  eUTpPhES GmIsGeTer  BleliUGsH  Q&MHIGETI 6Terml
SMPESLILLLGI. QFBIGSHSTEN LDMVGEEHLD, 6reflHe)  UHLPIWITSH
LIGTeN& & M & & @HLD, LUM&I&mLIL 9| J600T& 6T TS F&LDHS
DEMVEHTL ML SHEBLD @Il LUMSISTLLEG 2 HHEH6aUWTH @) [HHS60T.
105. What was the narrow land where the Marathas lived called?
A) Malabar
B) Coromandel
C) Konkanam
D) Midsection
Explanation:
» The narrow land where the Marathas lived was called Konkanam. Steep
hills, inaccessible valleys, and hill forts, which served as defensive
bastions, were ideal for military defense.

106.pmL&eflall Cam@k 61HS @@ BT(H&HEHEHEG @60l Gl 60LDHSI6TeTSI?
A) @S WIT — LTS 6N & meor

B) @BHWIT — 21,118 T60t 16N G5 medT

C) @bBHWIT — GHLIMETLD

D) @BH W — Feorim

Explanation

> 1972 gplb opetor(h) Fbevm @lILbBSSH 6TLI, @BHSWT MmN LITEH 6vg meor
@emLBwuwmer eTevemev C&HMB T Geflell GHM(H 6TedTM eMPHELILILLGI.
TTLGH &L TETLIOUT 6T6L6M6) Bh6M6t0T WS H 60T HemevalJs: @ BhHSeT. @&
GaM( MHCUMEH &L GILUUTL(H CaHMH eTeoTml P& aLILGSR S

106. The Radcliffe Line is located between which two countries?
A) India — Pakistan

B) India — Afghanistan

C) India — Nepal

D) India — China

Explanation:

» According to the 1972 Shimla Agreement, the boundary line between
India and Pakistan was called the Radcliffe Line. Radkiff was the
Chairman of the Boundary Commission. This line is now known as the
control line

107. @BSHWT WMMID UTH VST @enL Gl CLMOSTETETLILIL L 6L1LIK S MHI&HEH6IT

615l FiflWmeorg?
I. AlbeVT @LILBSID
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II. WM&l LgsLeorLd

A) I LG &ifl

B) Il (b &ifl

C) @uer@b &if

D) Qe GILD HeUMTers!
Explanation

> 6TLEM6EV GHIMevoriq Ul LIWmISTaMsD WasUauflu F&FMSHH &, Fibeor
@LILUBSID MMID VMeal LNIsLerd &S uwemmler epeid @BbSH WM nmmiDh
UT&evsmer BTH&HEHEG QeLGwuwmear 2 memel  GUUBSSHe D
GBI LOENMUITET LOMMHMBIHE6TE Q85 mevor(hleU[HLD @)HE UL (LD UI6OT M 6TETS

107. Which of the following agreements between India and Pakistan is
correct?

I. Treaty of Simla

II. Lahore Declaration

A) Only I is correct

B) Only II is correct

C) Both are correct

D) Both are incorrect

Explanation:

» Cross-border terrorism is the biggest threat. Through the Shimla
Agreement and the Lahore Declaration, India sought to improve and
bring about positive changes in the relationship between India and
Pakistan

108. s @6l LpdFFemer Q&HTLIUTET SHMHSHS Coumim® 6bhg BTl (HL 6T

@pSwmeilhe gHulLs?

A) QeVmIen

B) @18 mevflenug meor

C) UM&Hl6N G meor

D) Mev&SH e

Explanation

> @BHW BTEH UeorlM(®), SeVTEFMTY, QIIeVTM MmMID FOU 2 M65HeN6T

@eumImsBU LT Q&maor®erarsl. S @erll  LNgpdoener Q&ITLITLITeT
STV LEH @QBHWUTIMHGID @evmmsEsG @emLCw 2 mellev Fm
LN etTeoTemL6)| gFLIL L Gl

108. India had a disagreement with which country regarding the Tamil ethnic

problem?

A) Sri Lanka

B) Afghanistan

C) Pakistan

D) Maldives

Explanation:

» India has cultural, historical and religious ties with Sri Lanka. There

was a minor setback in the relationship between India and Sri Lanka
during the Tamil ethnic conflict period

109.@ S WMeN6dT BTETHST LIGVHMVESHNSHSFH6) LIBIGSTITTS 2 676 HT(H 6151?
A) @\ 6VEI &

B) aumI&HCHFLD

C) &y,L18mevflen) & meor

D) WlwImesTiny
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Explanation
> @BHWT &SHFUETET @)6VHIend DMeTalI&HEHSHEG &Hevall 2 Fals Q&M s emUl
2L,0T(HCHMMID Sieflg g auBRMS. @B WTaNeT BHITTHST LIVSHMVESHLN5
L &GV @evnhlens R UBIGSTTT G
109.Which country is a partner of Nalanda University of India?
A) Sri Lanka
B) Bangladesh
C) Afghanistan
D) Myanmar
Explanation:
» India provides annual scholarships to deserving Sri Lankan students.
Sri Lanka is a partner in India's Nalanda University programme

110.86umgd] &MeuSHev 6TWFHLI QUMM LDTTHH WIS (DTS TS UMIHem LU L &lulleor
GO QFWEVLIL L 6OTJ?

A) umdleot] & 6L & meor

B) (p&eLMTWIT

C) TT8USS T &6

D) &MEH&S WITSH6T

Explanation

> GUMIF QEFWeUT®H&H6TleL HeooTL LDFenLis Q&MeoTL OFTHHWF ellFealmein,
afTid, WS, HHE T, B FlGamer HTHEGL MM & Weaibhmler FoHal
ANeTBIGOTTIGHET. (W6TeTsTeH  LMdlell &egmersefler S Qaueuul L
LITEHWT, Farygl &MTusEH0 awFHL QuMmMeTi. Feaumedl LemmesHESLl
Wme ewuansi, Iguud, Gsmeesmeorm, WLy, Qupmy &l
605 MetTGH6rfl60T BLD QFWIGVLIL L 60T

110.The Marathas who rose up during the Shivaji period were earlier
functioning under whose rule?

A) Bamini Sultan

B) Mughals

C) Rajputs

D) Chalukyas

Explanation:

» With a long tradition in warfare, the Marathas excelled in loyalty,
bravery, discipline, tact, and ability to attack the enemy. The Marathas,
who had earlier functioned under the Bamini Sultans, rose during
Shivaji's reign. After Shivaji's death he worked under the Sultans of
Ahmednagar, Bijapur, Golconda, Bidar and Berar.

111.8amm: SALBTLIG6 Qeuliumesor_eull LulgseT GG LulflLLiL@ & ermeor.

&rgeord:  SWOILBIH LLSEHUCTMSHEHEEG AMHBID, GQaIliLl D6 LeV&HFHaIn

S|MLOBHSIGTETH TV GQULILI LD6TITL 608 STEVBlemevenL] QLIS MSI.

A) Gamml &Fifl IDHMID STFEoTD &6l

B) 8o MM SeUMI LDMHMILD &TTeooTd &Fifl

C) Gamm &ifl IDMHMILD STFeoOTD SnMemnm elemsGH M

D) Famm &Fifl LnMHMILD &TTEOrd Snmenm 6l6emd g ealevemnev

Explanation

> SOILDBTL g6V QeULILILD6DOTL_6VL] Luljsser G\

LuWIALuu@ S earmer.slbBTh  LnSHWICTNSHEHESG SMHB D, Geulll
DEOOTL VST D eMINBSIETENHTEL QeI  LDETITL6VE  &HITeVBlemevemILI
QLSS

111.Statement: Only tropical crops are cultivated in Tamil Nadu.
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Reason: Tamil Nadu enjoys a tropical climate as it is located near the equator
and in the tropics.
A) The statement is true and the reason is false
B) The statement is false and the reason is correct
C) The statement is correct and the reason explains the statement
D) The statement is correct and the reason does not explain the statement
Explanation:
» Only tropical crops are cultivated in Tamil Nadu.
» Tamil Nadu enjoys a tropical climate as it is located near the equator
and in the tropics

112.@bBHwWmeller HLp& @ Q& meTem s Ull6or eLN6TMI (LN&HSIU FoMIGHET 246)160T?

I. euedlemLnwimest BlevLILITLIL| @ 6m6torlIL] Q& ITL [T LITETem 6l

II. 6U6Dol 18D QS TLTLITETEn6)

M. UMSISTLL Q&ITLIJLITET606

IV. QUITHETTSTT eUeMTIER Q&L IJLITET6m6!

A) L IL III (B &if

B) L, II, IV nL_(Q\b &If]

C) L I, IV L (b &ifl

D) II, III, IV in_(H\b &f]

Explanation

> @BHWTaler HP&HEG Q&HTeTenHUNET eNETM (NERUW FoMIGH6T 6606MLOLITET

BlULILTLIL @ 6meoTliL], 6eUeodll&GD MmN UTSISTLL Q& TLFLIT6Tem6
SLH 6T QG LD

112.What are the three main components of India's East Policy?

I. Those related to strong terrestrial connectivity

II. Business related

III. Security related

IV. related to economic development

A) Only I, II, III are correct

B) Only I, II, IV are correct

C) Only [, III, IV are correct

D) Only II, III, IV are correct

Explanation:

» The three main components of India's East Policy are strong land

connectivity, trade and security

113.8Lp&MTemilD FoMmIsetley Fiflmersl e1gi?

FaMml 1 - YBHT FenLIUNeT LUTSHISTLIL Fenliuilley @BHUWIT e BIFHST 2 mILIL] BITLTSH

QGSHDS.

Famm 2 - £1-20 BTOH&ET, HPHETRW 2 55 wrBr@H, BRICS Sl Lenlnlll]

GuUmeTmeuMMIeL @BHWIT 2 MILILNeTT BITLMTH 2_6TeS.

FaDm 3 - QBB WIT 2 60H 6T QLIHLDLITETENLOWITET BTHSHEBLET STHTH 2_M6) 560 6T

Q& mevoT(h GTETS .

A) Gadmi 1, 2 LG &Fifl

B) 8ol 2, 3 DL (D &Fifl

C) Gammi 1, 3 DL (B\D &ifl

D) 6T6LEVIT FnMMIGHEHLD &Fif]

Explanation

> QLMMEV GUETD, (WNEHHU GUETHIGEMET LMSIGTSHH600, AaF WM &LV

QPGS L BIGm6T HMEH6) LnMMID LITTFESH6, (N&565H &emeT eTH T CBHTEHS6,
HLOVGLIHS alenlls: aumUILILGET WwMHmID elells  BHienpeilem oG LIMIg 6
GUImesTM LILGeUMI SMTTeu0fl&H6mmev @\ HS WIT (LNeTGeTMMLD SHevor(h eUBH MG
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113.Which of the following statements is correct?

Statement 1 — India is a permanent member of the UN Security Council.
Statement 2 — India is a member of G-20 countries, East Asia Summit, BRICS.
Statement 3 — India has diplomatic relations with most of the countries of the
world.

A) Only statement 1, 2 are correct

B) Only statement 2, 3 are correct

C) Only statement 1, 3 are correct

D) All the statements are correct

Explanation:

» India is progressing due to various factors like energy abundance,
conservation of key resources, opening and maintenance of essential
shipping lanes, prospect of investments, overseas business
opportunities and trade entry.

114. BLp&G600TLUMMIET 678l &iflWImeTai?

I. 2 6THTL(H Q&TeTend 6T6dTLIG @@ BIT{H SH6oTSH! BT QMG 2 6T6mmeor eXlessTIIhg 6T

QSTLIUMTE Q&MTeooT(H 6T 618 MeTemn & U MG LD.

II. Qeueflymeys Q&meTend eredTlIg @@ BMH Im BTHSHEHL6T 6&mevor(h eTerT

NG HBIGET Q&ITLITLITETem6U M@0,

III. eueooll&D, UTF SHHTLWL, SOLUIL BHLIGEGMNEHSET CLMTETMeneUEHT 2 6THTL(H

Q& TETEM & 5561160 L_MIGLD.

AL I L GWw Fflwmersl

B) II, III (b Fflwumers

Q) L III m_ (G sflumergl

D) 6TebeVTGLD Fiflwimeorg

Explanation

> 26T leusMIm&GeT, Fend Hevld, &HEMSMTIWL, &Heval, Guuilwe 2 flennsear,

QUTEWETTEHTT  eleusMImIGeT CUTeTm  LIJFFameTHeT & ualmHenm
MWIDMSHS Q&ML FLLMISGMET 2 6TaTLEHRWS 2 6ThTLBH Q&MmeTend
2AGLD.

114. Which of the following is correct?

I. Domestic policy is the policy adopted by a country in relation to its internal

affairs.

II. Foreign policy deals with the affairs of a country with other countries.

III. Domestic policies include trade, statecraft, countermeasures, etc.

A) Only I, IT are correct

B) Only II, III are correct

C) Only I, III are correct

D) All are correct

Explanation:

» Domestic policy includes laws that focus on issues such as internal

affairs, social welfare, health, education, civil rights, and economic
affairs.

115.8Lh&se00mLaummieT Siflwmer gammlenears CHIHOS0.

i) CrmH6eLEHE0OTIQ60T FESL] 2 & QGETEVIT OMMID ACWTSHHUNEDT a9 °RM 2 & Q&6TeuIT
S CUMIHLEIT Fal L6001l emnGH S 21560 LIHev] QHTHSSTH.

i) ACWTEH) HeumLl, F&EHWIF, QML Hem6VaUT&H6T UGRCWTENTLI L1608 5 S50 &Tevor L
LITSSHWY, TEUSS T F&6Tler BLoLgem&emnwuLDd @LobHgeor].

A) (i) &l

B) (i) &1fl
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Q) (i) LDﬁ?QJLi? (i) &l

D) (i) MMl (ii) Seum

Explanation

> GUMHeL&EHEOTIQ60T BB 2.5 Q&GeTeum WMmMID AHEWTSHUNeT aqomm 2.5
QFHETVT HCUWIMTHLET Fal L6l eDGH LGN LUFVY Q&HTHSSHT.
QLGS R 60 LD WA S5 6rflev DTMSSH W ([HE G5 Fo_L_ITerf1 & 6T
RenLEsallevemne. SCWMSEH  meurmll, F&HPWF, QML SH6VeUTE6T
R CWTemTL LI60 8555 31 86\ 85 TevoT L WSS W, TRL &5 Tiserfler
BLOLIN &6 &emWIWLD @)LPHSH60TH .

115. Choose the correct statement from the following.

i) Abdali retaliated by forming an alliance with Najeeb ud Daula of
Rogilkhand and Shuja ud Daula of Ayodhya.

i) The Marathas, who were hostile to the Nawab of Ayodhya, the Sikhs and
the Jat leaders, also lost the confidence of the Rajputs.
A) (i) Correct

B) (ii) Correct

C) (i) and (ii) are correct

D) (i) and (ii) are false

Explanation:

» Abdali retaliated by forming an alliance with Najeeb ud Daula of
Rogilkhand and Shuja ud Daula of Ayodhya. The Marathas found no
allies in the northern power centers. The Marathas, who were hostile to
the Nawab of Ayodhya, the Sikhs and the Jat leaders, also lost the
confidence of the Rajputs.

116.@F60oTLMLD QMBI CeuW IDFTSHUILI CUITT HemLQLIMHM 3,600T(H ?

A) 1803 - 1806

B) 1813 - 1817

C) 1796 — 1799

D) 1776 — 1784

Explanation

> @UEUUTLMD QmISHGCeW WImsEHIWLl GUMy (1803-1806) e  LiLeTmedlen

LDEOMEY SeUTS QUGB QFTSS5IEE&T Hem alfl aGSHSS. TSHTS Teiler
ID&6T @rUevorLmid UMl gmed Ll AWledmhas @mesUULLTT. AhHSEF
Gmlemeuuiley  @rUevormid UMYl pMmeysE BB Cwflar 2 gelemnul
gM&HCaIETIQ Ul SLLMTWD gmUlLg. UCUMMSW &HaJeT] Q&eTTeumdh
@HES Qealv@eveved WL GCueqeum W& SieeoTliLmLE HL LSS
&6l SSTH.

116. In which year was the second Anglo-Maratha war fought?

A) 1803 - 1806

B) 1813 - 1817

C) 1796 — 1799

D) 1776 — 1784

Explanation:

» Second Anglo-Maratha War (1803-1806). The death of Nana Fadnavis

paved the way for the dispersal of his vast assets. Raghunath Rao's son
Baji Rao II was deposed. In that situation, Baji Rao II was forced to
accept the help of the British. Lord Wellesley, then Governor-General,
imposed the auxiliary plan on the Peshwa.

117. GUF 6T RLILIBSHLD 6THGH 2L,600T(H 60)FH 6 U (LD &S T60TSHI?
A) 1803
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B) 1802
C) 1799
D) 1806

Explanation
> 1802@60 GUFET LIUBSID MSHQUIWSSTTS. 2.6 LOl6LEOIWIET 6IIHLOMETLD

FLLGFQW BlolUUGH QsmB&eEsLLL  Ceausor(d.  wedreresoluiled(pH s
LITSEHUW T&HSEET L6 @hs GMEFMeT @UILBSHMS RGPS Heierler.
S| BTV @) J6oTL_MeUS BISCW-DITESHUILT CUTT enetorL_&l. IT&SSIWIT
SO aHIlemUES STLIQWCUTH D DFTSEHWS SHenevaliser WMmmMlevnms
QPN GHELILLLTT. SleneorliLenl s S LD gmeiUL LS. WBIHCWIHEHS
GamaLll (MM IUGH), AHLSIHSET, LUGTTF, NemeVLILGH &6T 24,5 W60t
(WDWENLDWITE &H6emL &G 60T

117. In which year was the Basin Agreement signed?

A) 1803

B) 1802

C) 1799

D) 1806

Explanation:

> Treaty of Basin was signed in 1802. 2.6 million income generating land

to be given. Many of the leading Maratha states rejected this ill-fated
treaty. And so the second Anglo-Maratha war broke out. Although the
Marathas put up a strong resistance, the Maratha leaders were
completely destroyed. Subsidiary plan accepted. The British got full
possession of the Doab (river area), Ahmednagar, Proch and the hills.

118.5M0& Sal Lemlollemnl LUMMIW SLDE& ST Fammiserfley 6Tgl &l Wmerg?

FaDml 1 -FMs Fal LemdliL QSH&ETRW BTH &erfer KFTHEH s Gal LenDLIL] 6TeoTmI

MPSHELILOHMSI.

Faml 2 — @& 6 BTH\&Gen6T 2 MILILN6TITE C&TeroTL_G).

Fadml 3 - @6eVCIT el s NpmhHWSHMETET ‘QFWSH QSTLIL WMHMILD

aumeflemney QUNMHEBTSH  FMIEH QFULMHNESCHTEN6T QFNSES 2 6Tengl.

A) ool 1, 2 L GIW Flwmersl

B) Mol 1, 3 L (D Fiflwmers

C) &amml 2, 3 LG Fiflwmers

D) SID6TSH S FaMMIGEHLD &FIflWmeTs

Explanation

> &mis BTO&EN6T Q&TaTensds GCBHTHSLNTEIS HVWETT QUITIHETTSTISNS

2a1&GHNGHN, QFMETHRW BTH&ET @emLCBW Fal (h SHeitesfllemme LOMMID
@QUUTTHHWSEH Feps UeorUTL (R Guurligener  ellifleL( &S5 g 6v
LB WU WMGLD

118.Which of the following statements about SAARC is correct?

Statement 1 — SAARC Association is known as the Regional Association of

South Asian Nations.

Statement 2 — It has 6 member states.

Statement 3 — ISRO to launch SAARC Satellite for 'Communication and

Meteorology' for SAARC region.

A) Only statement 1, 2 are correct

B) Only statement 1, 3 are correct

C) Only statement 2, 3 are correct

D) All the statements are correct

Explanation:

Follow Insta ID: @tnpscbooks @ 9578985878 @ Tele ID: @tnpscbooks_official



TNPSC

TEST BATCH Group-II / IIA

[(G)tnpscbooks

[Glinscbocks

SWhid Gl RHsres..! (e ..!!

» The policy objective of SAARC countries is to promote welfare economy,
joint self-reliance among South Asian countries and expand socio-
cultural development in the region.

119.5amm  1: Q& HaTCMEG UMGSGSHETHM &TVEIGl GCMmE QFTLIFS
eneu&efler CLm@& Fiflalll UGS SHernempenllll QUGS mSI.
FaMml 2: WOMMTES W&ETFTQLTT, SIBTLET, QSMBIGTNT, whHHIL LFessin
LoHmID  SULDBETLIGET  QUGBLUGH&ET GCMmE QSTLIEH  nemevserler
LenPemMelll LUGH veud &STHm GuMsTlLUESESHe 2 6embhEH IHLILIST
&85 GMBS 166 LDemLoem WLl G)LIMIS 63T meoT.
A) Sapmi 1 &, FaHo 2 Seuyl
B) a1 Heuml, ooy 2 &1
C) &l 1, Sapm 2 @UetTHILD &1f]
D) a0l 1, Sa Ml 2 @Teor(hilD Geuml
Explanation
> QEHTCIOMEG LUGISGSTHM LIBaISGHN CoME&G HLMEHMTUI 2 emLnbHal6rerT
IOMBIsGeeBT 280 Q&F.15 Wwenpleumdlemealuld, wemememmalll LGS uilsy
3|OLDIHSBIETET QLITGIGHEH(H 50 Q&F .15 LnemPLIQUTSlenelu]d G LM esTmeor
119. Statement 1: The western slopes of the Western Ghats receive heavy
rainfall during the southwest monsoon.
Statement 2: On the other hand, Maharashtra, Karnataka, Telangana,
Andhra Pradesh and Tamil Nadu receive very little rainfall as they are located
on the lee or windward side of the Western Ghats.
A) Statement 1 is true and statement 2 is false
B) Statement 1 is false, statement 2 is true
C) Both statement 1 and statement 2 are correct
D) Both statement 1 and statement 2 are false
Explanation:
» Mangalore, located on the west coast, receives 280 cm of rainfall during
the southwest monsoon season, while Bengaluru, located in the
foothills, receives 50 cm of rainfall.

120.LILD6MOWITEOT LGS LMTeOMEETTET  HFmenerl ,enbery  CUITETm  LITeNMEHET,

FlenT6UMLAUSITE 2 (HEUMELD LDEIOT eUEM S 6TSI?

A) Q&FLDLD6voT

B) 6U600TL_6V LD600T

C) &iflgev nevor

D) FJ606IT LD600T

Explanation

> Q&LDINEDOT 2 (HeUM&HGEID: LIPEMDUWIMTET LIS LIMenMEETTer &Imeneorl.,emIben

GUITETM LMeMM&6T, FEHelemLeugbmev 2 [HeuT&Hermerr CeuFHuiluley) LievorL|sselT:
@D MM WLHEETAWD AH&HNTE  SToTlILGSRMS.  60IBL[JFR60T,
@emeulngGaer, UmeuCUMfle obfleuld WMHMID  Sre0oTeooTTIDL|  F&SI8 86T
GOMEUTH  HTeooTLILIHGHETMEOT.  LDETOTE00 60T SH60TemLINGH6T:  GILD6ITSHI S 68 6T
@ 6mLLI6Te) SO LI eiTer 2 L6556V, QeuetorgerlLl
LTenM &S MSI&GH6T, Flm Q16U LIL|85EHL 60T Snlq Ul G&FLDLO6TT LIIG.6)

120.Which type of soil is formed by the decomposition of ancient crystalline

rocks like granite, gneiss?

A) Red clay

B) alluvial soil

C) Alluvial soil

D) Gravel soil

Explanation:
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» Sediment Formation: Primitive crystalline rocks like granite, gneiss are
formed by weathering.

» Chemical properties: High in iron and magnesium. Nitrogen, foliar,
phosphoric acid and lime nutrients are found to be low.

» Soil Characteristics: Saline interspersed with soft loams, siltstones,
sandy loam deposits with minor cracks.

121.Q6u6TemeTwGeor QeueflGum @uisGagH er GUMg LIUMUl @Iasew eumeormed
@IUTINME& aNSH L Leuy wmy?
A) &UMeY FHH T G
B) &QIT [H6UIT6N &ITE0T
C) 2.9 GOGSHT
D) G.S. &l6vevedr
Explanation
> QeueTemerwCer  QeuaflCwm @Qu&sESHer GCuUMgk  UbUTuly @QUsew
amQermed lurliting eSS Ll 26T CUGST@QIHAW eUmTGeTmed
@allurliy  uburuilev eflLEH6  eeTnileveumined Bl  LILGEIM)
UGHS&EHHE @@L urmmliul(héHesTamCL @ MhbeE. @&6T eedUTLIL
STV euen CHLSLILLL GI.
121. Who initiated clandestine radio broadcasting in Bombay during the Quit
White movement?
A) Subhash Chandra Bose
B) Shah Nawaz Khan
C) Usha Mehta
D) G.S. Dhillon
Explanation:
» Usha Mehta was the originator of clandestine radio broadcasting in
Bombay during the Quit White movement
» The clandestine radio station was not in one place in Bombay but kept
shifting to different parts of the city. Its broadcast was heard as far as
Madras.

122.@BHWT BTl 6rHe) 2 miliNery &j6veu?
A) G-20
B) IBSA
C) BRICS
D) G-8
Explanation
> G-8 GalLemnlil eredTlg  QWHl&ESET, @&65Med, Jequim, eUILImeoT,
LN L60T(UK), &eorm, Qgrwefl Lmmild LNgmetev BTH&Hen6T Q& Meoorl gl
G, @BS Fal Lennlifer 2 miliINergme @BHWIT G)6vemnev
122. India is not a member of which of the following?
A) G-20
B) IBSA
C) BRICS
D) G-8
Explanation:
» The G-8 group consists of the United States, Italy, Russia, Japan,
Britain (UK), Canada, Germany and France. India is not a member of
this alliance

123. @BH W Qeueflmels Q& meTenduiledr LML & &H([HESHSISHHET 66T TSHI?
I. GBF W [Fevem6oT GLISTIG 6D
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II. 2 V8 SIMDH MU 6TUIHIGH

1. QWSS

IV. 9D BT &EHL 60T [H6VEYMEM6U 66T TS S 6V

A) L 11, 11T ol (Bd

B) I, I, IV oL (piLD

C) L, 111, IV oL (RiLth

D) @06l (606015 S0

Explanation

> FaCsEF alleusmrhiseile) Fnggalld, sHmevefl WHESHD, gHETHUSHUWLD

@erlLMGUTH wRWamMINE&G aHTmer BleneuliLm®G GLITTMEn6I & EHLID
@BH W Qaleflimels Q& meTen&HUN6T G LILIL & HIHSHSH HHT L&D

123. What are the basic concepts of Indian foreign policy?

[. Maintenance of National Interest

II. Achieving world peace

III. armament

IV. Developing good relations with other countries

A) 1, 11, III only

B) [, II, IV only

C) I, 111, IV only

D) All of these

Explanation:

» Equality in international affairs, stance against colonialism,

imperialism and apartheid are also fundamental concepts of Indian
foreign policy.

124.@BHWmell6ir e Q& MeTemn & U 6T 6nDWS &(HSSI&H 86T 66T 6THI?

I (p&606L LIWeTL(H & SI6UTH6v6em6v.

II. GOMBSLILF HLOLISLOTET SMH&HTLILS & medr

1. @ PMMEEG GLo6L LIWLETLI(H S SI6U5H) 606060

A) I bl &ifl

B) II (b &ifl

C) L I (B &ifl

D) eTebeVTGLD &l

Explanation

> @BHWmelledt 1974 WMMID 1998 Llb Le0oT(H e CFMHMEOTEHET CLIMTSH

Hmenld FMIHS FHLAILGHMEHEHHEHTHEE QFWIWLILLLM6 L GLD. 60l
AUSHHMS CUMTT HMHGSHNEHGS LWTLGSHSIUS ©)6V6m6V 6TedTLIGHT(H 2Dl
SHWSWOD 6ThS @G BTLGDHGSD qHITE LWaTUHSSuSID Gevenev erer
@bH W SomeflsgieTeng

124.What are the central concepts of India's nuclear policy?

I[. Do not use first.

II. Minimum credible defense capability

III. Do not use more than once

A) Only I is correct

B) Only II is correct

C) Only I and II are correct

D) Everything is OK

Explanation:

» India's nuclear tests in 1974 and 1998 were conducted for military

capabilities. India is determined not to use nuclear weapons for war
and not against any non-nuclear weapon state

125.5 DB IQ60 2 6T6T QIOME S G HF 6UIT60 608 6T 63T 6T600T600T] & 60) 8 ?
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A) 435
B) 460
C) 200
D) 345

Explanation

> SULBILIQeL  26Tem 435 QBFUTMSEHTI0 200  QHEFITE6SH6T
GHTWLSETT UGHWI emwbaiererer. mFCrmm, HLULT, &Y,
QEaTemeT, HHOHLGCAI, DGIMT, SMHHHGSGL), CFeuld WMHMID ABSIHSHT
LB W6 IMBleVEH 60T LM (EHIW QBF TNV H&JMHIGHETTELD.

125. Total number of handlooms in Tamil Nadu?
A) 435

B) 460

C) 200

D) 345

Explanation:

» Out of 435 handlooms in Tamil Nadu, 200 handlooms are located in
Coimbatore. Erode, Tirupur, Karur, Chennai, Tirunelveli, Madurai,
Thoothukudi, Salem and Virudhunagar are other important weaving
towns of the state.

126.5flWMeT amenms CHIHOSMH.

1. @bSHwmeler emwellld HpsHEG wHmID CGLME WFAWTING WwSHUIID,

AWM QH6T LIGHUNaILD 6mLDTHSI6TemSl.

2. @BHWL QuUEBEsL alPflliLmams, CumEeverer CrmULIW BTH&6TWLD,

FPEHETHW BMTHSHEMETUD Gemenrs sl @BHWTaNMHEG emnall (N&ERUSSI6IEMS

Sjefl&ERME.

3. @bHwmeler GMEG HLM&T GME&G AW, WUINflésm wmmih 8ErmiLiw

BTHHEM6ET @eN6uTH@GID LIMINTSHA|D, HP&HG SHLMEOT QHOTHLNGHG mMID

FPEHEETHW BTH&HEBLET QBIHHBIHW QSTLIL Q&marere|lh 2 el Lf1Smsl.

A) S|emaTSaID &if]

B) 1, 2 &1l

C) 2, 3 &ifl

D) 1, 3 &ifl

Explanation

> @bHwmaler gemnailLld HpsHE HMID CMEG wWFAWTaIMHG WEHUllaD,

AAWMeT QFH6T LUGHWIID I mDbHSIETeTS.QHH WL  QLBHISL 6V
adiliumengs, GCuMm&everer SCrTUNW  BTO&HM6TUW L, HP&HETHRIW
BTHSHMETUD @ emeorsS @QhHWmalmE el WHERUWSSIaSMS
geaflaSHmg.@rHuwmallear GMEG SLM&EMT GMmEG wHFwm, wUNflesm
WMHmID KCTTLULNIW BTH&HEMET @)6M60Td: @GN LIMeVINT&HA|D, HPEEG HLME0T
QEHOTHRNGHG WLHMID HPSHETHRW BTHSHEBLET QBEGHRISHW QFHTLITL
Q& maTemeb 2 el LS mal

126. Choose the correct statement.

1. India's location lies between East and West Asia and in the southern part

of Asia.

2. The Indian Ocean Corridor gives importance to India by connecting Western

European countries and East Asian countries.

3. West coast of India acts as a bridge connecting West Asia, Africa and

European countries and East coast helps in close communication with

Southeast and East Asian countries.

A) All are correct

B) 1, 2 are correct

C) 2, 3 are correct
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D) 1, 3 are correct
Explanation:
» India's location is in the middle of East and West Asia and in the

southern part of Asia.
Indian Ocean Corridor gives importance to India to connect Western
European countries and East Asian countries.
India's west coast serves as a bridge connecting West Asia, Africa and
Europe, while its east coast helps in close communication with
Southeast and East Asian countries.

127. 10556067 T8 L 60T @)60600TL1LIGI GLD& & 600TL6UMMIET TSP
I. FITEM6V UF & G6IT

II. 1D SI6U CFemel

III. 6T My

IV. BBF IbMHmID &F&TSTFLD

A) L 1I (L

B) I, I, I oL (pILD

C) L, 1II, IV oL (RILD

D) @606l 3|6M60T&HSI0D

Explanation

> BT emeuTal(BLD 0 ATH T S QUTLHS UGHECMTID. FTame) 6UIEFSH &6,
WGSBS CoFemal, WeTFMTD, GBI WMHMID &HETSTIWN CUTETMenel HLEMLD
ITFHLET @emeoorliLieumnley Flevaum@Gld. SiJ& B HFlev QFUIE6T
QEFUIW &L LTWUILGSSRMS. Flev QFULEHM6T QEFWIW aJLmne) SHEHERMS.

127. Which of the following links the people with the government?
I. Road Facilities

II. Medical service

III. Electricity

IV. Drinking Water and Sanitation

A) I, II only

B) I, II, III only

C) I, III, IV only

D) All of these

Explanation:

» We all live under a government. Road facilities, medical services,
electricity, drinking water and sanitation are some of the things that
connect us with the government. The government forces us to do certain
things. Prevents certain actions from being performed.

128.9ip& flemnwimergl, LeflaSEeamenn 2 el g Wmmibh  FLeululmers  eTeor
FaMILIGUT&HET WIMF?

A) GFII&6T

B) G&F ML &6

C) LIIT60OT L9.ULIT & 61T

D) LI6L6VAUTT & 6T

Explanation

> U&Flennwmergl LieflSEEaTemnn 2 el W& Wmmid wrLeudlulmers ereor
LIGVEVEUTSHET FaleoTy. LIGLEVEaIT&HET &HMTeVSH6L eIl @HHWTelle @HeH bl
SVMEEFMILD SOLPBTL Q60 2ermhimelllgl. @ Tevor(h) HeVTESFTIHIG6TlevD 2 6Tem
HMHEBHHET, SmbLILSGET, Heov  earmleneoru]d  wreorll L &lev
QIPGQ&ETEHE GUTSHL @hgs 2a(Gi(Hals) alPflalGEHES.QHs &evLiLler
aflemeralns SN LGS seumEFmyn Comermlu gl

128. Who said that royalty is sacrosanct and hereditary?
A) Cheras
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B) Cholas
C) Pandyas
D) Pallavas
Explanation:

» The Pallavas claimed that statehood was sacrosanct and traditional.
During the Pallava period, the Aryan culture of North India penetrated
into Tamil Nadu. This infiltration led to the merging of ideas, systems,
some conflicting and some falling into obsolescence in both cultures.
As a result of this fusion, the Tamil Bhakti culture emerged.

129. ” @@ LWSHET SIF D AOWLLNNGET QITPeIS, I eUeT LTS5
S60TEMLOUL_ 60T GUMLDEUSI, @en6l @ Ueror(hlD 66TGM” 6TeID FnMMI HLDG600TL_6UFT&H6r 60
WMHeO LW STGSGLD?

A) WermLGLIT

B) ofleruLmL_19.6v

C) LDM& S WLI6U 6060

D) Q&6TLq 6V

Explanation

> TG 6TeTLIG 2 eu&H6mmallll eJemenTll Fendg SienlnliLigeneT i, W&a F&HS)
QAUMUBSHTGWD. AT&H QUMENSWTEHES CHTeTMIW SemLILIMGLD. L06vfl&H60T 6(H
FeLnds N6V 6T60TLISIL 60T D6 1S TE6T ATFW6V FMTHS @ HLILIS e[ erlesr
@W6ELLIMeT H6oTemin 6TeoT VLML IQ60 Fa B MTT

129. Who among the following said that “a man lives within the system of
government and he lives with his human nature, both are one and the same”?
A) Plato

B) Aristotle

C) Machiavelli

D) Kautilya

Explanation:

» Government is more powerful than any other social organization in the
world. Government is a naturally occurring organization. Aristotle says
that man is a social animal and it is their natural nature for humans to
be political

130.2( VL FW TF6v 5040 GIQL0E&G6T UMl CUMSINTeTS! 6T60Td &ML LeuF

WImg?

A) NermLGLT

B) 9jfleruLmilgev

C) BI&HCSHTGIT DTHS 616060

D) @eUJ&6T WITIHLD 2{6V6V

Explanation

> emm_CGLmeledT &BSSILILIG 60H VL AW SITFI6T IDHHT QHTeNS 6T6TLIGI

5040 QGD. QHMES &HMTJeTD @H&H 5040 6T60TM 6TEOOTEMEI0T 6R60TMI (LNGH6V 12
QU TUIGUITEUT 6T[H G5 6TEUOTE0OT TEVILD 61 (& &85 (LPLGULD. Q[ ([H &8 L9.ULIT60T 85MTeVHIg6rfleL
&EHmeT Fm Hm Gwssans Uflsa sieisersG i 5eoflsseof
INLILSGET HHaUSNHEGSG aUFHWTHEC @B 5040 e6Tm LN&HE6T Q&M
eTevoTeo0l 18608 LilemmL_GLmafleormev C&HT6 Q& WIWILILIL L &I

130.Who said that 5040 citizens are enough to live in an ambitious state?

A) Plato

B) Aristotle

C) Niccolo Machiavelli

D) These are nobody
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Explanation:

» According to Plato the population of an ideal state is 5040. This is
because the number 5040 is divisible by any number from 1 to 12. This
population figure of 5040 was chosen by Plato as a convenient way to
divide people into small groups and give them separate notices in times
of crisis.

131.BLp&MTemIlD FoMmIsGetley 678 Fiflumerg?
Famml 1 - @HHUWIT 2 6085 THIFROD R(1H H&HS HeMEVU|L 6T &FSHFHTLIOMGS 2_6TeTSl.
G 2 - @BHWT D o&sefler wHHE5HHEG 2 L LLTHS!
FaMml 3 — @BHWT LNM NT&HFSEHLET LGS CLMO S TETETEVTLD
A) Gammi 1, 2 LG &ifl
B) &a MMl 2, 3 DL (D &Fif
C) Gammi 1, 3 DL (D &ifl
D) 6T6L6VIT FnMMIGHEHLD &if
Explanation
> @BHWT @@h HeT@&E euenFWMISHLILULL BleliLGHulener Q8 mesor_&m@GLD.
@BH WMl @BHHUITHEHHETET @(F ATFMHIGID GUHERMSI. @)\HS Wimeller
SMETHHIGET 3 eMeTsH S BT Seflan o 6Tereor
131.Which of the following statements is correct?
statement 1 — India is independent with a suitable position on the world stage.
statement 2 — India is not subject to the domination of other governments
Statement 3 — India can enter into treaties with other governments
A) Only statement 1, 2 are correct
B) Only statement 2, 3 are correct
C) Only statement 1, 3 are correct
D) All the statements are correct
Explanation:
» India has a well-defined landmass. India has a government for Indians.
India has embassies in all countries

132.2(p TG Q&M ((H&HEH CoaueoriquieneldHefley  GLHHemLaIMmIeT 615
Frflwmers?
I. ID&HG&HET VLS LNEGHET GG TN
II. BleviLriiLy
I1I. &J&MHIGLID
IV. @60 MUIT6E00TEmLO
AL I L Gw &if
B) II, III n_(H\b &if
C) L III, IV inL_(hLb &ifl
D) @emel eTeeumGLn &ifl
Explanation
> @@ ST qTaTLUS IN&&HET VeSS D& Q&GTeNS, BleulILITLIL], SJ&FTHIGLIN
LMHMILD @emmUlTesoTemn Lo CLIMeTM6UMNlemenT Gl&sMeoorLq.(H&8 Geueuor(h LD
132.Which of the following is correct that a government should have?
I. People or population
II. Terrain
III. Government
IV. sovereignty
A) Only I and II are correct
B) Only II, III are correct
C) Only I, III, IV are correct
D) All of these are correct
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Explanation:
» A state must consist of people or population, territory, government and
sovereignty

133.“9|7& 6T aNBLILIBIGM6T 2 (HauMHH QeuaflliLGSH 2 LT BlenmGaummild 6

(N&HEMWWITS STFMHEIGLI eTHIGHMSI” oMM WMTTHNLWSTEGLD?

A) CUTAFlwT SLiLmsieny

B) &).6TLI.6IVL_ TR

C) gSedT GLIMTLY.60T

D) Qamymeu(h 6umerv G

Explanation

> QUFMESGILD @M BblaeluGsSsUULL  UUTSGD. TFMTHSESSH 60

QPBLES Sl AwmemiseT CHIHOSH&EHELILIMGISID, SeUTH6T DTMIEISID
@W6LL] eTEOTMMEILD, IDMTMTEHS TEFMHISHSH T &L LemLILMGLD

133. “Government is an agency that formulates, expresses and executes the

wishes of the government” whose statement is this?

A) Professor Appadurai

B) CF Strong

C) Jean Bodin

D) Harold Laskey

Explanation:

» Government is a static system. Rulers are elected to lead the

government and although it is their nature to change, what does not
change is the structure of government

134.1L1600T60)L_885T6V H16M M (LN G BIGH 6T G LD &S 600TL6UMMIET 6T&I?

I L&Y, Q&THend

II. uFUFWSH T, QuflperTT

111 9fl&&C®M), LD&HETE6TLN

A)L I D@L

B) L, III ol" (HILb

C) IL, III L (\LD

D) @606l 3|6M60T&H SN

Explanation

> @BHWT LMHMID OFSOTHPSES FW BTH&GT @BHHWT WwMHmID WwSHW

&H6MT&H L6V LGS serfley ANGH5H5MS QT LILIGMETS b {Ta|[ToY:3
SHMICWTIHIGET 6 @ BHS SIeMMLNGBISGET (PSS MWLM Q& UIGVLIL L 6oT.

134. Which of the following were ancient ports?

I. Poombukar, Korkai

II. Vasavasamutra, Perimula

III. Arikamedu, Alagankulam

A) I, II only

B) I, III only

C) 1II, III only

D) All of these

Explanation:

» India and South-East Asia The ports along the coast of Tamil Nadu

served as important hubs for developing trade between India and the
Mediterranean region.

135. BLp&HTevIn 61HS @ LMmseTflev LeorUMl(h UFIDMMMBEISGET HLHSHeUMESUITSH

ANWLILOHDSI?
I. OFTHLNEG 2F W BT{H &6T
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II. Georm, TSI

1. Gymwmyif], HECr&H&LID
A) L I LRI

B) I, III oL (Lb

C) I, II Lol (b

D) @06 3|6M60TES SIL 6ILD
Explanation

> af$SH&LD, aumeof LD MM LissorUML () UfllDmHmki&SeT Q&H6rHweESES G W
BTH&ET, @6vmiend, Ferm, GG, HCrH&sWL wmmin Grmwmyrfl GumseTm
15 T(H & 65 L_60T S GLMSHMTETETLILIL LS. &HLILI6Y &L (H&H6v
urybufludés sSPTseT Gmbs HLGEUTIE&ETTET HLOG (LD6TC6oTTTE 6T
2 WHRET QLIS SHeTennsGefledl SHMHHBIGTTS ATFUWO, FUOSTULD,
UeootUM®), eUJSSSHID  WMmmID  eumeolll  QSMTLIL&HM6T 2 60&HeT MM
BTH&SEHL6T FHLIG ST

135. Cultural exchanges are known to have taken place at which of the
following places?

I. Southeast Asian countries

II. China, Egypt

III. Romepuri, Greece

A) I, II only

B) I, III only

C) II, III only

D) All of these

Explanation:

» Trade, commerce and cultural exchanges were carried out effectively
with Southeast Asian countries such as Sri Lanka, China, Egypt,
Greece and Rome. SHIPBUILDING TRADITIONAL Tamils are great
seafarers and our forefathers have influenced the fundamental nature
of the world in terms of politics, society, culture, trade and commercial
relations with the rest of the world.

136. FmIGL UTLEY6T elemnsLlILmLIquiedley LMD ereiTLgG SBLPS&HTenIn 6TengLiLmm

Fa. MU H 606DV ?

A) GuIT

B) [560T6mLO LOMMILD HemLo

C) Fepsbd, BF), Lpwrs

D) 9je0T FMIHSI QbSS6V

Explanation

> FmIsL UTLeN6T alemsLlILmIQuledléy 95D 6TeTlSS 6T FMiHE @ IHEHSH6V

GTEOTLIEM S LD, LJMLD 6T6dTLIGI GUITH, HedTemln LoMmIld Femin, Fepsid, [HH) mmih
(WG UWITE GUTETMIMEMMULD So MG M S

136. Puram in the classification of Sangam song does not refer to which of

the following?

A) War

B) Pros and cons

C) Society, Justice, Monarchy

D) love dependence

Explanation:

» The classification of the Sangam hymn states that agam means

dependence on love and puram means war, good and evil, society,
justice and monarchy.
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137.@e6or, 105, QMY Foumaremnullearmasmear 8. BT LFsLernd GnMsSs
B 60TL Fammigerflev Fiflwmer allemnenws CHIHE S0

(i) D miLmeTenOUN 6T SHMHBIG6T eUTEVITMI, T &6T, QMY mmih LesorLim@®B LMl
Iflemel  aIeTISSEIS Q&MeTeT FIMILMETenD  W&ESHEEHG 2 [l eumilliy&er
efleasLILL Geusvor(hLD.

(ii) gMH&HeTCE 2 6T D6vlg 2 [flemngeT WMMID GLILUmL &SHEHISHMNHG @bHSLI
ysLeorld 6ThS euemn&Huflevin 2armi eflememallILIGTEH MO &HTa L TS,

A) (i) LODILD (i) &ifl

B) (i) LDOMILD (ii) Heuy

) (i) &l (i) Heumy

D) (i) euay (i) &0

Explanation

> *FAlmiumetennuWileoTy SHBISGET eUFMMI, OFL&6T, QM wmmild Lesorm@
umdlw flemel eUeMI&SI& Q&MeTaTad L HQWTSS SFUWSTWD Umm
IBE QHTTUSHGD FmILTETeND  W&HESHEEHG 2l eumilliLSer
geflesliuL Caleor(QlD.ggMm&HeTCal 2 6Tem  Wevflg 2 flemngeT MmN
SiGliLL  &HHHISHDS @QbsSLU LrsLerd 6bHg amsuigin 2oy
aflemeTallLILIGTES 260D UWI&Tn TS

137. Choose the correct answer from the following statements about the UN
Declaration on Ethnic, Religious and Linguistic Minorities

(i) Minorities should be given due opportunities to develop knowledge of their
history, traditions, language and culture.

(ii) This Declaration shall not in any way prejudice existing human rights and
fundamental freedoms.

A) (i) and (ii) are correct

B) (i) and (ii) are false

C) (i) True (ii) False

D) (i) False (ii) True

Explanation:

» Minorities should be given due opportunities to develop knowledge of
their history, traditions, language and culture and to learn about
society as a whole.

» This Declaration shall in no way prejudice existing human rights and
fundamental freedoms.

138. BLp&GTL Fammisefley Frflumer allemLenwsds CHIHAS M

() Wrfley 154) Fews wHmiID Sevalluley HNMUGSSILLL au@&GLLIeTT 66l

UL Iguiey &M mmith LpmkiGlguierifler WwertCearmmsHmasmer 1ML S HL L HbIGe6T

2 (HOUMHGUSNG ATFMLILF FLL ol 29(2) SHOLWTH &) [HEHHTSI.

(i) Wifley 16(4) raLiueniluiley CUTHW 6T LITHBISHSSIQDQLMTS (60605 S5

Wou@ssliul L aGLlitlearmeamer LeoflBlunearhisefled QL e81650h eIphis

GMAG&TETaTLILIHID QFW&HEHESEG @ 6UallF SIS @ HEHSMS.

A) (i) LoODILD (i) &f]

B) (i) LoOALD (i) Heum

Q) (i) &l (i) Heuml

D) (i) Heuay (i) &1

Explanation

> @BHW spFlLF FUL 1949: Wiflay 154) Fepsd Wmmih &Heelulev

NoU@SSILLL auGLILNeTT 26060l LILIQUI6) FTH L0MmILD LILpHIE L9 U eorifleor
WeTCTMHMEH MSHTeT FMLILG T LBISHT 2 (HUTHGUSNES STFNLILF
FLL S 29(2) HMLUWMTSH QUHSHHTSI
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138. Choose the correct answer from the following statements

(i) Article 15(4) does not preclude Article 29(2) of the Constitution from making
special schemes for the advancement of socially and educationally backward
classes or Scheduled Castes and Tribes.

(ii) Section 16(4) does not preclude actions taken to provide reservation in
appointments to all backward classes who are not adequately represented in
government employment.

A) (i) and (ii) are correct

B) (i) and (ii) are false

C) (i) True (ii) False

D) (i) False (ii) True

Explanation:

» Constitution of India Act 1949: Article 15(4) Article 29(2) of the
Constitution does not preclude the creation of special schemes for the
advancement of socially and educationally backward classes or
Scheduled Castes and Tribes.

139.uriflevy B&IfleT LGS’ WTHlL@GBHS HEUOULT QUMUILIL L GI?
A) LDAMENS | LILITEN
B) 60)l0&CH6V LQMEF 60T
C) T&GL6Y [BLIT6L
D) Camm&leir &lwimeof]
Explanation
> umiflev Gow, 2015 b 6T LImevenGeofll SIS &TIFenLIUN 6T Semeval
amengd  ISLILUTaU HEEG eprIslUlL urflév bm&aEIsHer WwH L&
USHHEHMSB, CammGeuTaTeruly6iT UMMM 2 6oTemlDeml LDMIGEGSGID eUTS
FUOLSH W &HBHSHSIEHSHATT, FISLSHO H@HUL QUMMIETETTT. @@ HMbHS
&85, umflev GLWF UIUTEET HHSSIGEHEHHSG & (H 600 UIT6oT
60T 60T RIS 6m6S QS lellS ST, CLoad 3jemel BLOG 2 euseTmallul G LIL| 86T
WMmMID CamMTGeMEHITENVI]6T ITUTMM 2 600T6NNGHE (LDJE00TTEITEME!  6T60TMI
el migSleor Ty
139.Medal of the City of Paris' was withdrawn from whom?
A) Mahmood Abbas
B) Michael Jackson
C) Rafael Nadal
D) Hossein Giani
Explanation:
» The mayor of Paris has recently revoked the prestigious medal of the
city of Paris awarded to Palestinian Authority President Mahmoud
Abbas in 2015 due to his recent comments denying the historical truth
of the Holocaust. In an open letter, the Paris mayor strongly
condemned Abbas's comments, stressing that they contradict our
universal values and the historical reality of the Holocaust.

140.80 MM :FHHFULTET-3 QeaummMIsTnms Blevalls) HanTuilmmbiGIuLIens Hlem6oTe]du (HLd
almsuley &Hevl 2390 CaHeow CHsHW  alleorQeusf] Heroms’ WWSHWI
MFFTmR MG SI6TenS.

&HMyeoTld @ evor(h Mleve] @LMmIGemeT ‘GDmisT Lmuileorl’ (FHSHTUMET-2 @)60T
WSHeT) LHMID Feusss LUTulerl. (FHSHTWTET-3 @mmIGLD SHeTLd) ereor @ revor(h
@)L MIGHM6TUD eNNEFFTemael LITTMTLLIQUISI.

A) Sa M) &Fif]l ST H6um

B) oMM S6UmI STeoorid &ifl

C) Sa MM IDMHMILD SMFevorid &Fifl
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D) S&aMmml LDMMILD STT600TLD Heuml
Explanation
> FHBIWMer-3 Qeumnlsrnms Blevellsd SgulmBSLIENS [Blen6oTe]dnm (HLD
alemasulley QL& 23910 CsHemw CHFAW allevorGalef] Herlnms’ DGSFW
emnFsFremal  nlellggieTengl. @ ueor(h  Bleva @LBIGET  ‘GIBIGT
umuflesorl’ (FHSTWMET-2 @67 WHHemT) WLHMID FeusFsd umulerl
(FHHTWITET-3 @MBIGLD H6TLD) 76T @ Jeoor(h @)L BIGHMETUD SeMDEFFTemeal
LML WSl
140. Statement: Union Cabinet has declared 23rd August as 'National Space
Day' to commemorate the successful landing of Chandrayaan-3.
Reason: The Cabinet appreciated the two lunar sites as 'Thiranga Point'
(landmark of Chandrayaan-2) and Shivashakti Point (landing site of
Chandrayaan-3).
A) The statement is true and the reason is false
B) The statement is false because it is correct
C) Statement and reason are correct
D) Statement and reason are false
Explanation:
» The Union Cabinet has declared August 23 as 'National Space Day' to
commemorate the successful landing of Chandrayaan-3 on the Moon.
The Cabinet appreciated the two lunar sites as 'Thiranga Point' (the
imprint of Chandrayaan-2) and Shivashakti Point (the landing site of
Chandrayaan-3).

141911969 GQWIQHEHL Kreredley (BMJ) Qeusflul Ul L opuleleruly, ebhs

alenaWImeT LimmICHTU HH 8 siaTalley H &if&Si6mens?

A) LDTHUS LMMIGHITUl

B) QU&& LUDMIGHTU

C) Biemyufyey LHmICHU

D) euulmmit LmmiGHITUI

Explanation

> Ufllgeq Qig&Esey iaredlsy (BMJ) Qeueflull Ll L @@ UHW Ui, 50

QUWHMHGLULL QuflwealseflenL Guw 2 sugsermalll LimmICHTUI alps & & 6rley
GSILLE555 9B sFfllau Qalaflliu@SSRmS, TDLSTV LiMHmIGHTUl
QINGHGSET 1990 LoMMILD 2019 && @eLUlleL 79.1% AP &K Gai6Tener. @ HS
Splleumergl 2 eorelley gMUGID WMMHMBIGHETT @bhEH CUTEHEGHEHE &TI6eri.
QUMTLDGEHEMS (MM LOMMID &MHMIF@LP6V SMTTeol1&6T. IDMTLS LiMmmICHTUI LG
QIPGGSET LnMHMID @MmUILSGeT6 956 B &HlIemnLG &evorL Gl

141. According to a study published in the British Medical Journal (BMJ),

which type of cancer has increased the most?

A) Breast cancer

B) Leukemia

C) lung cancer

D) stomach cancer

Explanation:

» A new study published in the British Medical Journal (BMJ) reveals a
significant increase in global cancer cases among adults under the age
of 50, with early cancer cases increasing by 79.1% between 1990 and
2019. The study attributed this trend to changes in diet. Lifestyle and
environmental factors. Breast cancer has seen a sharp increase in new
cases and deaths
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142. BLp&HGH600TL BTeLHEBH6T 6T (NSO ST HI6L JVEVTHSI 6TSI?
A) USDHOILILISSI
B) 56050 & M0 &%
C) uflumLev
D) L0160 &MEHT)
Explanation
> MG @QeHHRW LSSHWTar ol (h&asmamss, LB BT STl erermild
SOPESEILOR M. HHNEN6TT, GMHOSTNS, BhHGSIBIN, USDHOILILISS,
UFluMLey, 560508 Tms, SSHBHTTMI, LIMBTarm S &wemel 6 (HH6HTemn s
BI6L&H6T b &LD
142. Which of the following texts is not ettuthogai?
A) Pathirrupathu
B) kalithogai
C) paripadal
D) Madurai Kanchi
Explanation:
» Sanga literature book ettuthogai is also known as ettuthogai thirattu.
Narrinai, Kuruntogai, AINGURUNOORU, Pathipattu, Paribadal,
kalithogai, AGANANOORU, PURANANOORU are ettuthogai noolgal.

143. BLp&HHTeID FaMmIseTlev e1gl Fiflumerg?
I QIDUSTVSEHO QFTLSTULINLSHET WHH @reaor(h LUSSHmEEEHD HOlDe
©)6VESH600TLOMSE SH(HSLILL LS.
II. FMhIs QEHEHWMHSGEHHS LInE CFafléaasliul L LTuenmeT BrmeaHTenel 2|6V6Val
LMLV BTL®D) 6T6tTLISI BLDE 560075 @ 6T60T |eMN&HSELILIOR S
A) T L @W Fil
B) II b (b &il
C) @uesorGLd &ifl
D) @revor(hLd Heum
Explanation
> SMS QeHEHI BHILSGHATTEH dL(hSHQS5Mmses MMID RaTUSTOIS & (WelTsH
alemhiGld UTL@G&6eTmer USSHLUTLGD  &STeoorliUl LGl ol HSSHTamns
LHMID USSIUUTL(H BTeuseT U&H U6l LIS 66T BLDE&HH0TEHE BTV 6T
6T60T 2J6MLP&H &L ILILL 60T
143. Which of the following statements is correct?
I. Initially the first two books of Tolkappiyam were treated as Tamil Grammar.
II. A collection of popular texts or hymns collected after the Sangha literature
is known as Khilkaganku.
A) Only I is correct
B) Only II is correct
C) Both are correct
D) Both are wrong
Explanation:
» As Sangha literary texts, the eight and the ninth group of songs,
Patupat, were also found.

144.Bp&HTE0ID FaMmIGeTley e1al &iflwmerg?
Famml 1 - GO WDUBIGET, SHIG6T UTHSTULNMNHSETHEE Fensld 6renlld &L Lennliileor
BLD 6UIH G 60T.
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Famml 2 — FANSHBIGET ShIGefledr GUULL UTSHSTUNMHSETS FUSTUWID 6Teld
el emer G&H MM mIa &5 60r.
Fadm 3 - SBUISGET SHIGET 2. 0HUWD CHMEUGHETH MMEUTF FTIHS
@ BHESH eTmev GH LD Tenlld emLDLILN6L aUMTLDBS! 6UHS 60T .
A) Sammi 1, 2 LG &ifl
B) &a MMl 2, 3 DL (D &Fif
C) Gammi 1, 3 DL (B &ifl
D) 6T6L6VIT FnMMIGHEHLD &if
Explanation
> FUWSTWSH 6 aUMWLD elHeLI CHemel UCH FUNSTULSH T el (b QLTSS
Fall(h 2.MUSH epevld WISH QFWWLILLLG. @elamm &eoflHs e wmss
RIQGUMIH WG HOG NOTMHTL 2 emellMHETH 2 PLILIG, QUITIH6T
2 MUSH W CHMHmIesELD
144.Which of the following statements is correct?
Assertion 1 — Families came under the structure of society for their own
protection.
Assertion 2 — Societies have evolved society for their betterment.
Statement 3 — Individuals depended on others for their worldly needs and
lived in the family system.
A) Only statement 1, 2 are correct
B) Only statement 2, 3 are correct
C) Only statement 1, 3 are correct
D) All the statements are correct
Explanation:
» His need to live in society was met by the total collective production of
that society. Thus the labor of each man individually for his daily food
gives rise to material production

145.85aMmm (A): QMer [Ime euf&seflear BHEGECHTLLUMH  (DWREMLDUITETSTSH

S| MLOHE) (&GN 6Lem6v.

STIeoTld (R): FENSHMIGET @emLGWWMeT QFeealll LU&RTe GM&S Tmeuen pUle)]

QF waillevenev.

A) Gy &Myeord @ueor(HCL Fifl, Gammissmer Fiflwimer allengaI0mg & ITJeoorld

2 GIT6MSI.

B) MM WMHMID &MJeord @Ueaor(hCL Fifl QLT FamMmsaeTerT  &iflwimeor

ANeT&H&HINME SITFEOITLD G)6V6m6V.

C) SaMml &Fifl QLEOTITE HTI6O0TLD &M

D) FaMMI HaUMI 2460TITEV &ITT6evorid &Fifl.

Explanation

> Fngsald, B GNMHsH Fepsmiser @enlullevmer alleumEmi&HeT @ ILISTLD

BrHmreorh LHUGH e Sal Bl QLMaNuenen. AFMHEG Flev aUILDL|G6T
NeatumMmLUILIL®), 0 FNSHSSHHGT DL (HID BISLDHEHET. 2_&TT600TLI0MS 83TeoT
JITeven 3|euisserfledr BH&ECHTLUTH ol (LD (D EMLOLITEOTS T
IMHH ([HEHEVemeV. FeNSHBISGET @emLGW WM QFvalll LU&RTe GMlss
el 9lle] Qaulweillsvemev.

145. Assertion (A): John Rawls' theory of justice is not complete.

Reason (R): Rawls does not study the distribution of wealth between societies.

A) Statement reason is both correct, reason is the correct explanation for the

statement.

B) Both the statement and the reason are correct but the reason is not a

correct explanation of the statement.

C) The statement is true but the reason is false

D) The statement is false but the reason is correct.
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Explanation:

» Inter-communal debates about equality and justice did not take place
even until the late twentieth century. It follows certain limits and
occurs only within a community. Even John Rawls' theory of justice,
for example, is not complete. He did not study the distribution of
wealth between communities.

146. euem@mD BTH&Geflel aumienld H&FHS aUBUSHESG eueTibhHs BHTHSECT

QUTMILIGLMS Gaueoor(h LD 6T6OTM Jn MILIGUF WIT?

A) Q60T 761 &) 60T

B) FM&JIC6MN

C) M6 QUTEHES

D) £IT60T [JIT6L6MN

Explanation

> 1990&6fleoT GUIMEHIGTET, QSTPHlW BTHHEHHGWD UeTHI BHTH & EH & E WD

BTG UTHHETT BTHSHERHGSGWL  gap BTHHEFHGWD  @emLulley
goUl(BeTem @ emLQeuefl&HeTme) 2 Baum@ujeTemr M Qb LTS LI 86T
GMEs S55BUNNUETATIHET 6Te0oTeod 1L ILMTT&HSES QSTLHBSTT. 6UeT(HLD
BTH&6leL eumienn S5 &GS aUBaUSHES UeTibHS BTHI&CHT QUITMLICLMS
GeuetoT(HLD 6TEOTM S MILD QFTLOGT HHGHIeUMWIGVTETT STV QUTHGCSH, @)5 60T
& TJ600TLO TS 6VL_& & 5 600T &> & [T60T LD & & 61T DL B QU(HeUMNSHE
FLIGEHTL ORI

146. Who says that developed countries are responsible for increasing poverty

in developing countries?

A) John Ruskin

B) Socrates

C) Thomas Boke

D) John Rawls

Explanation:

» It was only during the 1990s that philosophers began to consider the
moral implications of the gap between industrialized and developing
countries, that is, between rich and poor countries. German
philosopher Thomas Bécke, who claims that the developed countries
are responsible for increasing poverty in developing countries, points
out that millions of people are dying because of it.

147.80m 1 :0SHW SeTaueTd, &SmevBHenl. LPTWFILL WHmID LT6Ve6TSSemnm
IMWEFT LTCaQMHHID epUMBe, WSTIMEYQT LOMFBlevd (olemuuiley o eTer
W eUBE M6l F6UTeT 6mLDWSH 60 62H HITET ‘LSeoTeUeTSHH MEMer C&F & 6o mer G5 & W
WIBTL(H&GHS Hmevenln STHIGR M.
Famml 2 :SeTeuens Slemm (DoF) MM &meubenl. UFmifliygs semm (DAHD)
AH W6l @emeotTHS Blevs sl LNTER eneTEHemeTsd SIse @hs MBI gmUT(H
Q&FUIGI6TeTe0T.
A) Gamm 1 LG &ifl
B) Gammi 2 0L (B0 &l
C) FaMmml 1 DHMILD 2 Feuml
D) QTS Sl &Fifl
Explanation
> WSHW WeTalerid, &TeuBemL LUFTFlL mMID LTINS SIeNM S eDIDFFT
UFGaqMmEsd  epUMGBe, WD&TIMeQIQT  WMBlevd  WwemLuilléd 2 6Tem
WeNeIBS M6l FalTeT 6nDWSH6V 6(h HITET ‘L6oTeUeTSH M TerT C&HGF &)’8 55 meor
CHHAW LIBTLHHGS Sevenln SMTHIGRMMTYT. WeTalens Sienm (DoF) MHMID
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&meupenl. Upmwiliilg Senm (DAHD) Hwemel @emeolbd  Blevs sl
NrFFenendmenets SI6s @b MHITL L gMUMH Q&S 6TereoT.

147. Statement 1 : Union Fisheries, Animal Husbandry and Dairy Minister

Parshotham Rupale presides over a one-day National Conference on 'KCC for

Fisheries' at Yashwantrao Chavan Centre, Mumbai, Maharashtra.

Statement 2 : Department of Fisheries (DoF) and Department of Animal

Husbandry (DAHD) have jointly organized this conference to address the issue

of subsoil.

A) Only statement 1 is correct

B) Only statement 2 is correct

C) Statement 1 and 2 are false

D) All are correct

Explanation:

> Union Fisheries, Animal Husbandry and Dairying Minister Parshotham

Rupale will preside over a one-day national conference on 'KCC for
Fisheries' at Yashwantrao Chavan Centre, Mumbai, Maharashtra.
Department of Fisheries (DoF) and Department of Animal Husbandry
(DAHD) have jointly organized this conference to address the issue of
groundfish.

148.0&M50m &THSHUer 12 g 2 Wy Hemev FISLSHO HFH HEHISH0 HTHS

QUITIY&ITEYL 60T HMESLILILL SI?

A) Uzl QLeved

B) &5

C) WlhemLl

D) Q&MV&HS ST

Explanation

> QFULLIUT 4, 2023 96Tml, @HSH W QermH UG, Wind SHQreTuUd Wi, Ls!

F6v6d HMTHF SFaTEHH60, ID&HTHIT HTHHUNET 12 319 Fenevenwld HmHS
MESH ‘GMHH eMY&ETmeals Hobas MaSSTH. Seuf &MHHuler
2 uaeTmellll QFVEUMEEN &L LIMTTLIQETTH, 2 60811 GUITT&H6T CLITETM 2 60858
Q&MHSeILIL &IT6VMHIG 66V sl Rhenss Q & TETEM 855 60 61T
WeTaflemeILIMSHTTT. 26085 BHUIGHETEH SMHHUNET  eudlemull
NetumMiw QBHELEFET LD6ooTGL6VIT, LOMTLIQ6T esF SHm g®eflwi WMHmiD
LTS UMM GUITETM SHemevalf&HeneT aTTHLGF CLMGCHTET &ML IQ60TT.
&STHEH evBH WLHMID SHFager FLINGH GUITETM [BHlmIe6THIST 6T Likiend
LIeLGeUM 26T|_SMBIGET N6V SeUTSE CLIMS6THMET 2615 GGV 3j6lF
el migSleor Ty

148. A 12 feet tall statue of Mahatma Gandhi along with Gandhi Vadika was

recently inaugurated in which city?

A) New Delhi

B) Surat

C) Mumbai

D) Kolkata

Explanation:

» On September 4, 2023, the President of India, Smt. Draupadi Murmu
inaugurated the 'Gandhi Vadika' by unveiling a 12 feet statue of
Mahatma Gandhi at Gandhi Darshan in New Delhi. He praised
Gandhi's global influence, highlighting his principles of non-violence
during times of world turmoil such as the World Wars. The President
cited leaders such as Nelson Mandela, Martin Luther King Jr. and
Barack Obama who followed Gandhi's path for global welfare. He
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emphasized the role of institutions like Gandhi Smriti and Darshan
Samiti in promoting his teachings through various media.

149.81p5 5600 FammiGerflev Fiflwmer aflenLemwis CHTHO S M

(i) Fewn s GLEVTH &S 2 6ot FallemeorLl QUMM LiesorLIMTL () Gwelleord tomm & pedleorifleor

Fepsds 2 flemseamneT UNSQSHEHS WWIDCLTE  FeN&LILMSE (DTS 6T

2 _(HeUMSH6OTM60T.

(ii) BMBIGET LG TET CLVTHEHSHSMNS LDMIGS SHIGEHEEG 2_fl 2 flemnseneT FIOLMs

QUOMIL BLSSIHM CUTTTLL 2 coTiellenerCW Fend BF eTerHEMITLD.

A) (i) LOOILD (i) &ifl

B) (i) LDOMILD (ii) Heuy

Q) () &l (i) Heumy

D) (i) euay (i) &0

Explanation

> Feps CLTHES 2 corjallemerll QUMM @6, g, QM, FMH WHMILD

Lesot UL () &wpelleory omm Gwellerifler Fends 2 flemnseneT LINS0HH &5
PWaILCUMEI 3LV S 5bH&HGSLLCUTSI FeN&HLILIMS (L [T 600T & 61T
2 (HEUTHRETMET. HHIGET LHTeT CLVTHESESMS IDMIGSH SHHIGEHHSG 2 [l
2 flemngener FOOMEH QUOMIL BLSSITM CUTTTLL 2 corjellenerCGul Fenss
B8 eTeTHCMITLD.

149. Choose the correct answer from the following statements

(i) Antisocial conflicts arise when a cultural group with a sense of social

dominance tries to usurp the social rights of other groups.

(ii) We call social justice the spirit of struggle to deny the supremacy over them

and get their due rights equally.

A) (i) and (ii) are correct

B) (i) and (ii) are false

C) (i) True (ii) False

D) (i) False (ii) True

Explanation:

» Antisocial conflicts arise when ethnic, religious, linguistic, caste and
cultural groups who have a sense of social dominance try to take away
or prevent the social rights of other groups. We call social justice the
spirit of struggle to deny the supremacy over them and get their due
rights equally.

150.8amm 1 :Gsmpenmafledt CHMPN&HECHTH WMaILLEH6 BILUT emalgey GQ&TmHml
STIeoTong: @ el 2 WIflLBSIeTersry. IDSH U &HETHTISSHIENM SNNEF] 06T
omeooT e WIm, BILIT eneuyeny LUMHILILMe 2 ulflphsg 2 miS Qauwiwiiul (heTers.
Famml 2 :FHCHEHSHMPLIOMET HITOTS 6UPSHGSHT HMHELITH  8600r8mevor]LILN6v
o eitement, Sjeummlet WMTHflEeT LGeralleh 2 6Tem CHHW emalTmevgdl BlmieleTESH MG
I (H6ITET6oT.
FaMMl 3 :He0oTSH Mo L1600 LDMHl6V SII&&HG 2-560|aISM&ETEH INSHU TR 6T HIT6TE
151 L|600T J&6IT Q&T600TL. & (W eLD CSHIETTE & UL ILILILL (H6Tens.
A) ol 1 LK &Fifl
B) Sa Mol 2 0L (KD &l
C) Gamml 3 DL (KD &Frfl
D) 9ieneg gl &if]
Explanation
> Gapermallet CaHMNGECHTH LMaIL LGS 6V BILIT 6nelFev Q&TMHM &TJeornms
@omeauy 2 WlflphaiereTery. WHEHUW HETHTISIIOM MDFF] D6THEH
Lo mevor e, Blum 606U T6N UmMSILILImeY o Wflphs s 2 miE)
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QEWWLILLQeTargl. FhCHESHMGBLINTET BMONG UWLHGSGHT SMHCUTS
FHevorSmevolILILN6L 2 6iTemeor, Sjeummledt TG flEHeT LGeralley 2 6Tem CHHIWI
meauymevgdl BlmialeaTdHMHE&G el ILILILIL (H6Temer. SHeoorssmeooflLiLey DMBlev
IUHFEG 2.50|a5M&HETE ST ATHET BTG BIL6OTTH6T 68 MevorL
GWelb CEHITMeYSHES LILLILL (heTergl

150. Statement 1 :Two people have died due to Nipah virus infection in

Kozhikode district of Kerala. It has been confirmed that Union Health Minister

Mansukh Mandavia has died of Nipah virus.

Statement 2 : Four suspected cases are currently under surveillance and their

samples have been sent to the National Institute of Virology, Pune.

Statement 3 : A team of four Central Government experts has also been sent

to Kerala to assist the State Government in monitoring.

A) Only statement 1 is correct

B) Only statement 2 is correct

C) Only statement 3 is correct

D) All are correct

Explanation:

» Two people have died due to Nipah virus infection in Kozhikode district
of Kerala. It has been confirmed that Union Health Minister Mansukh
Mandavia has died of Nipah virus. Four suspected cases are currently
under surveillance and their samples have been sent to the National
Institute of Virology in Pune. A team of four central government
experts has also been sent to Kerala to assist the state government in
monitoring.

151.6Lh& 5600 LalMmmI6ET 678l 2 GeumaLIGLITed oj6uev?
A) GUITIT 60T
B) o7& 6ofl&
C) A& medr
D) mlulmest
Explanation
> eSSl SeofllnmIGEHD eumniler LievGeum Lieoor]&erfledr g LiLienl_ulev
s LILUGSSILGROTmeT.  dMSSHSHTLLTES  Cumpmer, Hleddasmer,
QFmeflub, oL F&Fefls GUmaTmeneal 2 CeumsLICLITeI&6T G LD.
151.Which of the following is not a forged metal?
A) Boron
B) Arsenic
C) Silicone
D) Neon
Explanation:
» All elements are classified based on their various properties. Examples
are boron, silicon, germanium, arsenic etc.

152. GLp&H600TL_aUMMIGT 6TH 2IGEUITHLID 6V6V?

A) 9,55 Q60T

B) &ITIJLI6oT

C) &, FF6vfl&

D) &Germmifleor

Explanation

> TS Sl SefllnmIGEHD jeumniler LievGeum Lieoor]&erfledr 2jiqLiLien_ulev

QMSLILGSSLILOER 6TMT. 6T(HSSISHHTLLITS HTTLICT, 2,855 60T, H]WImedT
WMHMILD &GeTmfledr Q& Ulenal CVMEHLD I GLD
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152. Which of the following is not a metal?
A) Oxygen
B) Carbon
C) Arsenic
D) chlorine
Explanation:
» All elements are classified based on their various properties. For
example carbon, oxygen, neon and chlorine are metals

153.8amm (A): 2 ulliflermigerfledr 2l6T6], F1HHMET QF, HFHHET, 2 L6V emnLIL]
GumeTmeauMMIeL S&meoorLILIBHID CeumLMh&HEH&HEG 2 ulflerhisefler emmhisemLnLIL]
6TEOTMI QLI .

FnHMI (B): o_u9lifleor i & 6rfl 60T 62 (HBI&H 60 LD LI LIT60TS) GBLpmlemev Ta] N
o WifleormsefledBra 2wy Blevewwnl L o ulliflarmser alemy @Gy wmHflwms
&ITevor LI LI () G 60T M 60T .

A) sl A &ifl, B eum

B) gapm! A, 6um B &Fifl

C) Famm! A, B @resor(ld &Il

D) &l A, B @eor(ld Seums

Explanation

> Geumium®aser 2 uiliflermgserfler oemalley L (HILDVEVTSI, S eUMMI 6T &858 6VMeoT

QF, FFSHHET, 2 L6 el CumeTmeumMIavd & meorLlL (H 5 6oTm6oT.
@sm& 2 Wiflarmgseflear e@mmieseamLlL] ererm Quwr. 2 ullifleormigerler
@RMEIGWLILTNES SGpmlene UL 2 ulflearmsefled®mba 2w mleneunl L
o2 WfleoThIG6T alenT QelaiCaImns &HmeorliILG&Harmer. @a Ha, 2 miliL,
2 mIliL| evorLevld mmitd 2 ullifleorid eredTm aurflemaulley 3jemLnbSleTeTs!

153. Assertion (A): Differences in size, cell complexity, tissues, body structure,

etc. of organisms are called assimilation of organisms.

Assertion (B): The composition of organisms is uniform from lower level

organisms to higher level organisms.

A) Statement A is true and B is false

B) Statement A is false B is correct

C) Both statement A and B are correct

D) Both statements A and B are false

Explanation:

» Differences are found not only in the size of organisms but also in their
complex cell, tissue, body structure etc. This is called integration of
organisms. Organisms vary from lower level organisms to higher level
organisms. It is arranged in the order of tissue, organ, organ system
and organism

154.@)[J600TL_ITLD BIMMITEo0TIQ60 QUITLDHES HTeuldl 6TedTenlld aUmenfluleVTeny 6TH& HITL 6mL

FTIHSEUT?

A) HCI&H&LID

B) ey iifl&am

C) RIS

D) Eeotmr

Explanation

> eaumeflwey  SHmellser  Heoor(GUNQLILGMHE (6L, B (eTCET TS 6T

S| SH60 2 _6T6m QUITIBHLGH6T meTHH MG LG enWWINTS 2 6TeTsl
6TeoTd SHMHBeTT. @& Lel enwnwl TSl eTer Semp&H&LILLL Gl @) T6ooTL T
BIHMTEOTIQ60 QMBS HCTHESE eumeflwemery Smeld WLMHMID GBS
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aumeoflweumemy opflwLIL LT 2 6Terfll L Liev eumesfluleumen g6l @b&s LM flemu
B ety
154. Astronomer Ptolemy who lived in the second century belonged to which
country?
A) Greek
B) Africa
C) Egypt
D) China
Explanation:
» Before the invention of astronomical instruments, our ancestors
believed that the Earth was the center of all matter in the universe.
This was called the geocentric model. Many astronomers believed in
this model, including the second-century Greek astronomer Ptolemy
and the Indian astronomer Aryabhata.

155.61D8:8600TL_6UMHMIGT 6T 62(HLILG&HTEOTem6U 3&LD?

. 2_600T6MLN FHEMTFVE 6T

II. 2 GeVITSH FH6VEDIEU 6T

I11. Q& ITMHIGH6V&H 6T

IV. &a DLOMKIS 6T

A) L I @D

B) II, III ol (B)Lh

C) III, IV nL_(Q\Lh

D) I, Il oL (QiLh

Explanation

> SeTmTL almpaiev [BTLD LweTL(h & &8 Q.U QUL serflev

QUBLOLITELTEITEME  HeVeMAaUGET WG, FeveumnleT UGH QUTIHL &Hemer
B QeUMMIGEHE0TEHETTY LUMFEHS (PIQUILD. 60TV  GILIIHLDLITEVIT6oT
sHevemeusefler  LisuCeum UGHLQUTMBLSET  BLWenLWw  Qeummis
HEOTEHEHEGL] LeLILIBHUT06mM6V. HeVeM6UG6T 6TeoTLIS (BLILIG &S TeTenel
MM LWL S &HTTen6  6T60T @ HeUenSLILIID. 2 600T6MID  &H6D)JTF 6L & 6T
WMHMID 2 GeuMEH:  HVMEIEET  66eTLM6]  @(HLISHTOTemn6 L GLD.
QB MHIGHEG&ET LDMHMID FalDLOMBIGET LG U6 LIVLILG.&SETETemn 6l &L

155. Which of the following is uniform?

I. True solutions

II. Metal alloys

III. Hangings

IV. Colloids

A) I, II only

B) 11, III only

C) III, IV only

D) I, III only

Explanation:

> Most of the substances we use in our daily life are compounds. Parts of

some objects can be seen with our naked eyes. But the various
constituents of most compounds are invisible to our naked eyes.
Compounds are of two types: unimodal and multimodal. True solutions
and mixtures are homogeneous. Hangings and grouts are multi-layered

156.1060Ifl6dT LIeV L0&HTHSHE &TeTserfletr QGME&GLILmeTsS_
A) LD&HTHSSHTET UL L LD

B) @&6U& QUL L LD

C) L&TBHSS SeT
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Explanation
> WD&THSSHSTET aUl LInmeorsl evifleir 9,600 @6TLIQLHESL LUGHWMEGWD. @) S

L6V I0&IHSS SMeTaHerler QFsTGLL G, RaIQ6ITIH I&ETHSS SMTEHLD @0
&ML GUTETM LUGHemwwld el CUTeTm LGHeMWUD G Teoorlq (H&E&LD.
ST UGS WaIHSHEDL eere|ld 56T Heflulléy embs el GLIMeTm
UGS &IHSLIL 6Tamald Hemp&HELILMB S Tmer. I0&THSSSMET IN&STHSL
emLIWlledT 2 6TGerm Smevor LIRS mS.

156. The bundle of many stamens of a flower is ____

A) pollen circle

B) gynoecium

C) Pollen

D) stigma

Explanation:

» The anther is the male reproductive part of the flower. It is a bundle
of many stamens. Each stamen consists of a stalk-like part and a sac-
like part. The pistil part is called anther and the bag-like part at its tip
is called anther. Pollen is found inside the anther.

157..6T6% BT (LT CGHTEIL QUMTBL &6 6T @MEEGHINSE QSTLITLTET &FJE60E 5606

W6 &GS Q&M elT @BHWIT (PI96| QFULISSH?

A) @) 6VEIN &

B) 9|QWfl&am

C) @6Grev

D) UMBI&eTTCH

Explanation

> @BHwmed ewilésmean CaMPIL QUL &6TleT @mEE&LISE Q&TLITLITeT

FrEmFWL  WPUeEGES &mTer(h  euFed, lifer,  ullevorien,
Q& METITEN LSS L6m6V DMHMILD LIBLIL W&TeT @mE&LIE auflenul &enma&He] W0
(D196 Q&FUIG 60T, S&QWMLILL LU ®eTer L& w RLILIB S MBIGET,
GamiPlLiLIevoTemevor Slemmuilev 2 6o elleugmuilg 6T IMmmih Fmi LmHMID HHSST
Qe  BlmialeaThIGeT T  BHaTHERSEG LT gmUBSSID 66t
afleugmuilser mmilh eNWmUMf&6T &FhigGnkIG6T 2 6ha 8 6oTmeoT [y

157.India decided to end disputes with which country regarding import of

poultry products?

A) Sri Lanka

B) America

C) Israel

D) Bangladesh

Explanation:

» India and the US have agreed to end their dispute over imports of
poultry products and reduce import duties on apples, almonds,
chickpeas and pulses. Farmers and traders associations fear that the
new agreements signed will harm the interests of farmers and small
and medium enterprises in the poultry sector.

158. Famm 1 :HSWT-eTevl eteoTl  LIOIUIOIBHE &womy 1.5 Wevedwesr &S
Qs memevalley SennbBSIeTeT (NS GHlueT-Ldl euTEHImEh& W6 Ljemerflenul (6T6v1)
&Ml @@ seflall Ll UmTeanguilsy @opbhs &ifluleneT uule] QEFWIWLD WH6L @HF Ul
aflevorQauerfl 9jiq LiLienL_uleumer QyUlesHD Q@& LD.

FaMml 2 :QFLLIDUF 3, 5 1Mmmid 10 P W CHFH&H6eL MBI (LN&6V, @) T600TL TS
LMHMILD eeTMMTaUG LLLfleml @) 6meTédh @G GLFSF QeumMsTInns BIGPSSLILILL S
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Famml 3:aflevorseud LidlemwdE &mml 16 BTemT LwersEHer GUMEl GLhEF ser

QEWWLIL® S eTmer, @&H6e0T CUMS afleoTdevld L1 H@& 560 GaD LIWL6TEHF M &S

CHemaUlmerT CaldkHmEL] QLIMILD

A) o 1 LD &Fifl

B) Gammi 2 0L (B &l

C) Gammi 3 DL (GHID &

D) Sieners gl &ifl

Explanation

> AHSWT-6eTev]l eteoTLIG LIuNeS®mHa swomy 1.5 Wevedlwer SIS Qg memnsvailey

S|eMDHSBIETET P&V @& Fluler-L,0 6uMETTEh& W6t LieTerflemul (6Tev1) &N e(H
gaflall L umenguiley @hal Giflemer ulile] QFWIWWD WHL @S W
alleoor@euerfl g LliLiemulevmer QpUlausd G, QFLILIOUT 3, 5 IoMmmilh 10
AHW CHH&fl6L (PemMBU (NSH6V, @ T6toTL TS LDMMILD eNeTMmTeUS! L, Ldlem
@SS GLLFH QaumMI&TINMTS BIGLESSLILL LS. alemseld Lldlenws
&M 16 HIT6T LWersHer CUMS GLFFHHT QFWIWLILGS6TMmET, @)& 60T
Gurms elleordeuld L1 6@ ST GaDd UWersHMmHE& G emeul meor
CausksHems L1 QLMILD

158. Assertion 1 : Aditya-L1 is the first Indian space-based observatory to

study the Sun from a halo orbit around the first Sun-Earth Lagrangian point

(L1) located about 1.5 million km from Earth.

Assertion 2 : The first, second and third Earth docking maneuvers were

successfully performed on 3rd, Sth and 10th September respectively.

Assertion 3: Maneuvers are performed during the 16-day orbit of the

spacecraft during which the spacecraft acquires the speed required for its

further journey to L1.

A) Only statement 1 is correct

B) Only statement 2 is correct

C) Only statement 3 is correct

D) All are correct

Explanation:

» Aditya-L1 is the first Indian space-based observatory to study the Sun
from a halo orbit around the first Sun-Earth Lagrangian point (L1),
located about 1.5 million km from Earth. The first, second and third
Earth docking maneuvers were successfully performed on September
3, 5 and 10 respectively. Maneuvers are performed during the
spacecraft's 16-day orbit around Earth, during which the spacecraft
will gain the required speed for its further journey to L1.

159. BLp&&H0TL FamMIGeflev Fiflumer allemLenwisd CHIHOS M

(i) @bHwmaley, LJTHeT &TVSS WL &Mibhs FIHSHEM6TWTL 2 (HeUT6or

QUMETTAFID ST FepsLUgBlemey, G - G 6rerepld  UMTGUITL 6L

Q&TETIY(HSRMS).

(ii) eU(H6ETOT LILQIBlemev SjemoLiL] ‘F&HIT QUH6T SemLIL]’ (BITETE 6UIHesoT emLnLiL] —

b0, FSH WY, emeuGIWT, GSH ) 6Te0T0l SHMPESLILGH M.

A) (i) LoHDILD (i) &

B) (i) LDOMILD (i) Heuy

Q) () &l (i) Seuml

D) (i) Geum (i) &ifl

Explanation

> FepsliugBleneusefler LleTLeud: @bHwmallev, LJTHer &HTeusS L

FMibHS FHSEN6TUITEY 2 (HEUT6T aUIH6soT THIID ST FenssLILIg Bleney, GOy
- GLp eTeTemID LUMGUITL ML Q& Teoorq (heHR MG, eUIH6tr LILGBlemney 2jemLnliL]
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‘FSIJ UMHETT eMLIL (BT6ITE 6UHENT SenDLliL] — SibGeoory, FSSFlwy,
OUFIW, GBS 1) 6T6Iml P &HSELILGHH M)
159. Choose the correct answer from the following statements
(i) In India, the Varunasirama dharma developed from the traditional thinking
of ancient times has a social hierarchy, with the distinction between upper
and lower.
(i) Varuna Hierarchy system is known as 'Chatur Varuna System' (Four
Varuna System — Antanara, Chatriya, Vaisya, Shudra).
A) (i) and (ii) are correct
B) (i) and (ii) are false
C) (i) True (ii) False
D) (i) False (ii) True
Explanation:

» Background of social hierarchies: In India, the Varunashirama
dharma social hierarchies developed from the traditional thinking of
ancient times, has a distinction between upper and lower. The Varuna
Hierarchy is called 'Satur Varuna System' (Four Varuna System -
Antanara, Chatriya, Vaisya, Shudra)

LY edreupeusoreummier Frflwimer ellemLwls CHTHOSHM).
160.9]600TL_LD 6T60TLIGI B5LD & &600T LM MIGT 6TUMEMM 2 6T6TL & & W SI?
1. eleoorLS60T ) J6iTdH 6T
II. el
III. G&MeT&H6IT
IV. eurmedTQ6uerfl
A) L 1L, 1II ol (BLd
B) II, III, IV Lo (HLb
C) L, 1L, IV oL (RILD
D) @606l 2|6M60T&H SN
Explanation
> CoHIMYGGHe0TEEMer aleuorLSeT&Hemer 2 6TaTL&&HIW el efFsomilqul 6llevor LS eor
FTeTHCeT  OTLEH6T SIQLILMLE SaMEHeT UG, e, CoHTeTser,
el 6ooT LS 60T S 61T, eUMEITG QU6 LoMHMILD 660oTLI60T HIETH6T FHUI 3|60)60TSH6M S U LD
2 GTETLSHHIW 6mDLIL] {600TL LD S &LD.
Choose the correct answer from the following.
160. Universe includes which of the following?
I. Galaxies
II. Earth
III. Planets
IV. air space
A) I, 11, III only
B) 11, III, IV only
C) I, 111, IV only
D) All of these
Explanation:
» The fundamental building blocks of the universe are the luminous
galaxies, which contain billions of stars. The universe is the system
that includes the Earth, planets, stars, space and galaxies.

161.i) Sjeotenlnd SHMeVmIG6TeL  elleuFmwid FTibhs CeuemeveUTUILIL|S&Hem6TLI

QUIHHG6USHET epeMEGal HITlLm  eumenenll @PIGHUWIQUD  6TeTLS
LIJeU6VTEH FMMIG Q& TeTeTLILIL (h6Termsl.
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i) BLD BITL19.60 GeusmevaumuiLiL] 2 MGG H L LEH 6V QFwWeLGL WsLQurflu S LD
DS&TSIT &MTHSH CHAW 26118 CalemnevalMlLIL] 2 MG EF FLLLD.

A) i) LG
B) ii) WL (LD
C) i) Lmoud i)

D) @renor(GILd Heum!
Explanation
> SleooTemlng HTeVMmGET6  allelFmuld SVeums CeuemeveUmUILIL|S6m6rTL

QUIBSHG6UGSET eLNEVIDTHG SFTLILM eumiennemnl &8O ULD 6T6oTLIS
LUJeUeVMs gmmis Q&memeTliLL(QeTerdl. HLbBS L apeoor(hsefled L Fw
Geuemev QUMUILILIGEN6T 2 (HoUMHGSMHHTHL L G LHESGT JMlnssD
QEWWLlILL Ler. emeusefley L GeusmevaumulliL] 2. MIHEG HL L GHSIL 60T
@ emeooTE S LILIL (HeTermeor. B BILIGEL  @eTemmwleraled @ &Ssiemnmuilev
QFweLI(hd WsLIQUflw HI LD @&CaumGLD.

161. 1) In recent times it has been widely accepted that rural poverty can be

eradicated by increasing agricultural employment.

i) The Mahatma Gandhi National Rural Employment Guarantee Act is the

largest scheme of employment guarantee scheme in our country.

A) i) only

B) i) only

C) i)and i)

D) Both are wrong

Explanation:

» In recent times it has been widely accepted that rural poverty can be
eradicated by increasing non-agricultural employment. In the last
several years many schemes have been introduced to create new
employment opportunities. Many of them are linked to employment
assurance schemes. This is the biggest project in this sector in our
country today.

162.5amm: Susmu @bHumalley @Geflfeésmeun &eflymm &meoorliLl (R eU@BLLD

eI FrmeT QeULILIBlemnevemUIg Cl& MeuoT(H6TemSl.

&STJeoTd: @UUGSH (WWeuglld Bleva b &SMeuBleney &SLOSTT UHESHSMS5

Q& mevoT(h GTETSI.

A) Gammi Fifl, &TFevoTD SHeumi

B) SmMMI H6UMI, STT6evoTLD &if]

Q) GaMM SMTJevord @resor(d &Fifl inmmid Fiflumeot efemd a1

D) MMl &Trevorid @uevor(hb &Fifl, QL6016 Fiflulmeot alemd L0606V

Explanation

> Busmnu @belumelley @efligsmeud Geflymmi smeoorLUiLL () eU@BLLD (WD WeISILD

Frmer QelliLBlemevemis Q&TeoT(hl6eTeNgl. @LULIGSH (DWeISID  Hleveah
&IT6VIBl6mI6V SLOLFMTT AUHEHHMG Q& mevor(h 6Tenal.& L6960 (B IH Sl
IMBSIETET  GQ&HMTemeva], eIl  WmMID WSS Caummh&emners
GHMMHMIAINLILIGET ep6ulDd LemPLIQUTISlemal b LTS &R 6TmS.

162. Assertion: Peninsular India has mild winters and a uniform temperature

throughout the year.

Reason: The prevailing climate throughout the region is maritime dominated.

A) The statement is true, the reason is false

B) The statement is false, the reason is correct

C) The statement is both correct and correct explanation

D) Statement Reason is both correct, but neither explanation is correct

Explanation:
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» Peninsular India has mild winters and a consistent temperature
throughout the year.

» The prevailing climate throughout the region is maritime dominated.

» Distance from the ocean also affects precipitation by creating heat and
pressure differences.

163.80M0 1: HLOUGETET UHEHAGTENN HTForonsg GHW HMID el GHH W
LGS &6T QeuliLiBleneuuiley LIheussmey LmaILmH &eme6rds 6l&meoor(h 6iTeTeoT.
FOm 2 el @BHWL UGHSalev GHmemLuley HHLW QeuliLwld MM Gerfly
HTVHH 6L H(HID Ge6flBL BleveySH M.
A) oDl 1 &ifl, Sl 2 Heum
B) Ga Ml 1 H6u, S D 2 Fifl
0 & 1, FaH 2 QUetTGILD &if
D) &ami 1, GO 2 GUeoor(HILD GHeumi
Explanation
> HLeLGET6ET L5866 L06TerLn S ITF6uoTONS DG SH W DMHMID eIl GBS W LIGH &6t
Qauliuplemeuuley LIheussmev MMILTH ST G & meoor(H6Temer. el @) HEH L]
UG sl CommemLuiley &G QeuliLpld WMMID el &musH ey &H{H LD
&6l pleveEmal
163.Statement 1: Central and North Indian regions have seasonal variations
in temperature due to non-dominance of oceans.
Statement 2: North Indian regions experience extreme heat in summer and
extreme cold in winter.
A) Statement 1 is true and statement 2 is false
B) Statement 1 is false, statement 2 is true
C) Both statement 1 and statement 2 are correct
D) Both statement 1 and statement 2 are false
Explanation:
» Central and North Indian regions have seasonal variations in
temperature due to non-dominance of oceans.
» North Indian regions experience extreme heat in summer and extreme
cold in winter

164.QWmhenss  alaFmuUSms 21HGaNHE 'Qumenley CoaledT  HL LSS

A WSLILUBGSSH W OTHBlI6VLD 6THI?

A) QIFTLD

B) @m&se LIFCHFID

Q) QmevorT&FFe LNTGH&FID

D) JIT&6N & TeoT

Explanation

> @urgsell NrCss aleasmwg gsiemm, 'WUrH;pHe 0565 Geqme G & mer

GUMReTT HILLSHT @ USHWTSH 'QUmomU) Gl HILLGHms'
IPWSLULUGSH U 6T FHMIFGGL6 BLL WLHMID @umend eleismul
WwenmaEeameT GULBSSHUMS @& CHMHEHEITHES G &Teor(herengl. &ifln
WMHMID @rEFTwermm elelFmgens 2618 Gall&H @G0 G CauemaTuiley, LG,
&SIl QUTIHL&6T HISTCAIMHEE CHIIQWTS aIPBIGaHO @Hs WUMG)
HEUGTID QFNSSHIFMS.

164.Which state has introduced 'Mobile Van Scheme' to promote organic

farming?

A) Assam

B) Himachal Pradesh

C) Arunachal Pradesh

D) Rajasthan
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Explanation:

» Himachal Pradesh Agriculture Department has introduced 'Mobile Van
Scheme' as a part of 'Prakrithik Gethi Kushal Kisan Yojana'. It aims to
promote eco-friendly and organic farming practices. The initiative
focuses on providing fresh, organic produce directly to consumers,
while promoting organic and chemical-free farming.

165.80MM 1 2 Gemgeoiley GUMfledT &Myeoorloms Jaqwmellm@ & rms KCrmLLiw
@aTplwD  ESHSIETaT  HOLEEHES ghu, CUMUbE meardd Tequl LSey
QEWWLILLL  Uwenll&seT &SMI&EHL  BILIQMHGSGET Hepasme Sermlliiu
RaTMWSH T (EU) SeoLenll JOUOESS QSTLmS W 6Tarsg. 69siCaleflwi,
emelwm wmmid erevCLmefllm &S wenel Jaquwl 2 fling &5&5H&HemeTs 68 MeoorL
QMHETHBI&HEHHEG @CHCUMETM Sl el LI W Fnls CHIsHCCW @B
BL Y H60TE 6T(HNHELILL (H6TeTS.

FaDml 2 2 GHmetley Faquwmelledr BLEI)SHMEH6T MmN FIauCHF LUMSISTLILEGS
BT AUFFNISHL GMHS BEITLLIW TSSO Blenel LTl el @bhS (L6
e ued&mma.

A) Famm 1 LGN Fif

B) Gnmmi 2 L0L_(HLD &Ifl

Q) GnMmmI 1 LDMHMILD 2 Heuml

D) Siemenrs S &1l

Explanation

> 2 SHengeofley GUMHledT &Myeoroms Faquwmelm@ erSHrms oCTmLLIW seTniullh
A&\ 56T HMLHEH &GS ML, CLITELH S 3 eMetTd S Taqll LH e Qauiwiur L
LIW 6001 &6 SIS EHLD BITLIYMEG6T Blempalsm@& CrmLLlw eetmluls S et (EU)
SLeMW AOLBESS QGTLmIG WeTerg. edgCealetlwim, eomlalwm Lmmih
eTeCLMeolm o@wenal Feaquw 2 fling S5&EOIHMETE  Q&HITEooTL
QUM ET RIS EHE G @CHCUTETM Sl LIRSH W A mla CHIsH CeuGul
@hS BL6IIY 56005 eT(h&&LILL (B 6T6rgl. 2 _Gemyentley e uimedl 6ot
BLAIGEMNHEHT IDMMID FFaICHEF LIMSIGTLLSE AT AF&HMEH0 GMEHSH
oCrmULlw eeaTmlw g S 6T BlemeuliLMenl @BS (W96 LTS Ue&ERmS.

165. Statement 1 : In line with EU sanctions against Russia due to the war in
Ukraine, Poland has begun enforcing the European Union's (EU) ban on all
Russian-registered passenger cars entering the country. The move comes
shortly after Lithuania, Latvia and Estonia implemented similar bans on
vehicles with Russian license plates.

Statement 2 : The decision reflects the EU's position on Russia's actions in
Ukraine and its threat to international security.

A) Only statement 1 is correct

B) Only statement 2 is correct

C) Statement 1 and 2 are false

D) All are correct

Explanation:

» Poland has begun enforcing the European Union's (EU) ban on all
Russian-registered passenger cars entering the country, in line with EU
sanctions against Russia over its war in Ukraine. The move comes
shortly after Lithuania, Latvia and Estonia implemented similar bans
on vehicles with Russian license plates. The decision reflects the EU's
position on Russia's actions in Ukraine and its threat to international
security.
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166 ®IamMT Q&I WLOHMID 'Faumd @ LUKTH WWOHH&H6ET 6HS LMElevld
QSMLBISWSI?

A) G& 6T

B) 805

C) G&ImeuIT

D) eplq.&1m

Explanation

> Comeum Wwasevaud LNpGns smalbs Slamm wsTH SeInGg 2 55765606
ApICWMTRSSTT, @& il Coalemev QFUWILIATHEHHESG BIH 2 sl Lmmib
asafler eaMp&EMES SHIHmsd GCLhUbSSms GCHTHEHINNSS
Q&MeooTL_&l. &WLLTT CHmeum HLLEH6T GLp CoHmeum QS mLl6LLnemeoTGeuTT
WMHMILD &W 2 F6l GWEHHm6T GDLMGSSHID 19831 L 6L NWMHENWITET &) &Fmeus
@ uLMi’ 8 e QSTLBEIGETTH. evalwldjaorm G&meum 2.0-67 S
QUEIITHEBEE 2 6otall QUL SmeT CUEHECHSIM WwHmIh  elMLIeneoT
Qa6 @eveual LWIMHS sjefles 9ips S LA H6Ters.

166.Which state started the 'Graha Aadhaar' and 'Sawad e Bazar' initiatives?
A) Kerala

B) Gujarat

C) Goa

D) Odisha

Explanation:

» Goa Chief Minister Pramod Sawant distributed Griha Aadhaar sanction
orders aimed at providing financial assistance to domestic workers and
improving their standard of living. He launched “The Savat e Bazaar”, a
digital initiative to empower Goan entrepreneurs and self-help groups
under the Suyambura Goa project. Under Swayambhunra Goa 2.0, the
government plans to provide free training to women in food packaging
and marketing.

167.851D & &600TL_ U M MI6T Loevoresor [f1LILN (D & T60T &5ITIT600T Bl & @56V QUIMTIHHESTHS! TSI
A) 918 Gauslnns afslh &TmHm
B) QLI(H G eUETETLD
Q) Blevg&ifley
D) LDILD 6U6TITE &6V
Explanation
> 95 GCauslms: efsld STHM, QU@  Qeldrerld, mlewgsfle), eoflsfleor
HL_6)U19 56008 56T (GeU6TTesorenln, STLLOIL]|, &G BIG6T gMLGH S SIS6V) DMHMID
&HMLBeL &6l F& CUIFFo & uemel Lnevoteoor FILILNMH&TeT (NES W
SITT600T | &6 TG LD
167.Which of the following is not true of the causes of soil erosion?
A) High velocity wind
B) Great Flood
C) Landslide
D) Tree growing
Explanation:
» High winds, heavy floods, landslides, human activities (agriculture,
deforestation, mining) and overgrazing by livestock are the main causes
of soil erosion.

168.QILUIM[HSSIS: (LD6VIf60T LIME:MHI&6IT)

A) D&THSHSHSTET 6UL_L LD - 1. @) 60T6M L_60T
B) @6V& QIL_L LD — 2. 6T&60)61 60T
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C) &19.60TLOM6T QeU6TlLemM (LD &S S HIT6T) - 3. 91,6007 @TLIQLIHEHS LGS
D) QLn6iTerflul 2_6TEH6em M (LD & I [H 55 & HIT6IT) — 4. QlLI6voT @ETLIQLIHSHSS LGS
A)1234
B)2134
03421
D)3124
Explanation
A) D&ETHSSSTET QUL LD  — 1. 95,6007 @6UTLIQLIHEHES LIGH
B) @605 QUL L LD - 2. QLI6OT @ TGRS LIGH)

C) S19.60TLDMEOT QeueIUL|en M (LD ST H &S SIT6T) — 3. 6786061 60T
D) QoeTerflul 2_6TEhemMm (D& T THE & SIT6T) — 4. @) 60T6m 6T
168. Match: (parts of flower)

A) Pollen circle — 1. Intine

B) gynocieum - 2. Exine

C) Hard coat (pollen) — 3. Male reproductive region

D) Anthers — 4. Female reproductive tract

A)1234

B)2134

C)3421

D)3124

Explanation:
» Pollen circle — 1. Male reproductive area
» gynocieum — 2. Female reproductive area
» Hard coat (pollen) — 3. Exine
» Integument (pollen) — 4. Intine

169. LIMI&:88 519Ul |600TL_LD 6TelaI6T6)] 66 1UITeooT(H&6T 366 G\ &5 Tevor L Gi?
A) 90 LNsvedl et sperfl oy, 600 () &5 6T

B) 93 LY6vedl et eperf] 2,600T(H) & 6iT

C) 96 LN6vedl w6t eperfl 2y, 600T(H &6iT

D) 99 L96vedluledT eperfl oy 600T(H) & 6iT

Explanation

> U@GLUQUTIHETHET, QLMMeV IMHMID &Teuld 2 6Tefll L emneuT&HSID 2 600TL &5 6V
ILMBIGLD. 6T D  eTelalene] UGG 6aTm  aalBEiEGh sflwns.
CTUEMWIMMBTEH @ (HSHEHEVMD. SHHIGHETT LUMTFHES (NI HHNSH MealSHSI
STLGHer  lememel  SNeNWeTETI&HET  SHetollGHeTmeTy.  @S5MGS
UMF&H5H&HEIQU 600TL D 6Te0rM QUIWIT. @BS LUMIHSHSHIalqQUl jevoTL_ LD 93
LN6v6Sl w6t eperfl 21,600T(H &6 1 6T6Y GG TevoT L&l

169. How many light years is the visible universe?
A) 90 billion light years

B) 93 billion light years

C) 96 billion light years

D) 99 billion light years

Explanation:

» The universe includes everything including matter, energy and time. No
one knows how big the universe is. can be infinite. Scientists estimate
the size of the universe based on what they can see. This is called visible
universe. The visible universe is 93 billion light years across

170..0FQUITIHET STUIemOWITEH S LWeTUGLD dleuld ?

A) AL iflg gjllevld
B) &MyLIMenf1& Llleuin
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O LmiLmi& oudleuln
D) 9,55 medl& 2|dlevid
Explanation
> HFMNE lleud FQUMTIHETHM6T STUIMWTSHSAD DMHMID  SLL
FHNTHEMET HESHaD LIWaTUOSHMS!
170. What acid is used to clean wood?
A) Citric acid
B) Carbonic acid
C) Tartaric acid
D) Oxalic acid
Explanation:
» Oxalic acid is used to disinfect wood and remove black stains

171.8a0Mm () @eTUQUBEHESED Bleswh srewnmars 2 Wiflars®mne 2 ulliflernd
WLTOIUGRMS.

Famml (i): Lmedlevm @eTLIGLIHEHHSHH 6T CLHEVID 34,6007 IDMMID GILICTIT @)60TEG\&F 6V8s6T
@emetor b LIS W 2 ullifleorid G meoTmISRm &

A) 8ol i FIfl, fa M) i Heum

B) Sa.MMI i UM, oD ii &1l

Q) Gamm i, ii @Tevor(HLD &Fifl

D) &ammi i, il @Uetor®LD Geumi

Explanation

> @eTLIQLIHESHLID 1518 (LD SHITELLDTEUTG 2 WfleorsH M &S o ufifleorid
LTUGSME. Fevl, umslerlum, e6d, L&, wmener Wmmih Leflsifley
@eTLIQL[HES HITVEH 6V @UWTOILITL 60L& GITEUOTEVITLD. LITev
@ TLIQLI[HEESE S 60T eLN6VLD 6007 LOMMILD G\LICTOT @)60TFQ&F6V&6T (MBS LoMMILD
S|600TL_LD) @\ emetorhSl LIS w 2 ullifleorid @& mermiSm s

171. Assertion (i): The period during which reproduction takes place varies
from species to species.

Assertion (ii): Male and female gametes combine to form a new organism
through polyploid reproduction.

A) Statement i is true and statement ii is false

B) Statement i is false, statement ii is correct

C) Both statement i and ii are correct

D) Both statement i and ii are false

Explanation:

» The timing of reproduction varies from species to species. This variation
can be observed during reproduction in yeast, bacteria, mice, cows,
elephants and humans. Male and female reproductive cells (sperm and
ovum) combine to form a new organism through milk reproduction

172. 8BS TEVIN S MHMIGETI6V 6T& &FiflulmeoTg?

l. 9evdlenfl ojemIsa6flel @ Ha Cau B ullwiey FHWMS ererflemnlUmeT QLIMIHL 8 6m6rT
QLM (L WITEI.

. svidleofl oI s6flev @BHE adleflwbD WHmME®D), Asdleflwin enpbLGrL
Wmmih ysvidlesfliln FeuCLL GUMETM FHEHTeT CGauH Ll QUITIHL GHEMET 2 (HeUTHS
LI uyLb.

A) I o (b &

B) Il (b &rfl

Q) @revor@Lb &ifl

D) @uesor(hiLd &e6umi

Explanation
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> g avdleslWLD eTedTenilD Seoflnid, 2w ldleof LD 2|61 85 & 66V 2, 60TSl. 3wl Ldleoflul

I GHETL @QHHS CauPuilwey FHWME ererflemnulmeT QUITIHL&Hem6T QLM
WIQUWIMS. SL60TTeY, 3jevldleofl smigsefley @mHe ableflwid 9&m&®,
gjavdleoflwih emBLEIL Wmmild Aavdleoflwin FeoGLL. GUIMETM &8 8 6vmeoT
Gl QUTBLE6T 2 ([(HeUTEHS (WDIQU|D. @&HmeT SHeooTLMbS Fomlwieud
TIUFL umuilev eTedTLIoUT SLeUTTT.

172.Which of the following statements is correct?

I[. Chemically simple substances cannot be derived from aluminum atoms.

II. Complex chemicals such as aluminum oxide, aluminum nitrate, and

aluminum sulfate can be formed from aluminum atoms.

A) Only I is correct

B) Only II is correct

C) Both are correct

D) Both are wrong

Explanation:

> Aluminum is an element made up of aluminum atoms. Chemically

simple substances cannot be obtained from aluminum atoms. However,
aluminum atoms can form complex chemicals such as aluminum oxide,
aluminum nitrate, and aluminum sulfate. Robert Boyle was the person
who discovered this.

173. B &ML FoMMIG6 60 6181 FiflmeoTsi?

l. @5 Seoflnld SeVeV Gl @ CFTLET 6 LWGFF MW FG6T CLNEVEH T M G LD.
. eLNEVE T M) 6TEOTLI G S60f15 &1 5mevor LiLI(hLD.

A) I L@ &Fif

B) Il (b &rfl

Q) @uesorHid &1fl

D) @uesor(HLd Se6umi

Explanation

> Cau® allemeruiey FHLBGLD @ SHoflnSHem WGFRMW SH6T e 3G LD.
Il S6flHCHT 6Vevdl CGFIHBHT HMeooTILI(HID. 6(H HEOIND VLG R(H
GFImEH 6T WGFFMW SIG6T CLNVEF M G, @& Seflsa SmeorliLi(HLD.
GLOSYILD eLNEVE T M1, QUIMTHLS6rfleor @uwimLIw6L mHmiD GeuSH U6y LicoorL]&em e
SH60T60TSH S CSH 6 & MT6voT (b 6ITEMTS)

173. Which of the following statements is correct?

[. A molecule is the smallest particle of an element or a compound.
II. Molecules are isolated.

A) Only I is correct

B) Only II is correct

C) Both are correct

D) Both are wrong

Explanation:

» An atom is the smallest particle of an element involved in a chemical
reaction. Atoms can be found singly or together. A molecule is the
smallest particle of an element or a compound. It stands out. And the
molecule itself possesses the physical and chemical properties of matter

174.@QHH WTeN6T (LNS6V QF WM ECSTET 6THI?
A) ouflwdialem

B) G &) evof]

Q) Ume& I

D) oy LI 6T
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Explanation
> @BHWTaeT (WS QFWMMESEESHTET WL LT 6fedTUSTEGWD. 1975 QLld
aLeoor(h), gLUTL 19 opeugl  BreT  ellevoreonllsl  geullll LGl QUTSIEITS
QEFEWMMHEHBHTETHAT Flev BIMI KNG WLLT 2 wrsHe wdlemwd smn
QLD euemsulev elleoorennrlsh Q& a8 55 LILI(H 8 60T m 6T
174. Which was India's first satellite?
A) Aryapatta
B) Rohini
C) Bhaskara
D) Apple
Explanation:
» India's first satellite was Aryabhata. It was launched on April 19, 1975.
Satellites are usually launched in orbit around the Earth at an altitude
of a few hundred kilometers

175.emMFGLOITEIT 6T6TERILD Q&ML BLD&&H600TL 6TIDQ TN EFQ&Fmevedlefl(hbSl 2 (HeUTeTS.
A) @ 6v5 S eor
B) eruLImenflenq
0) HCI&HSLD
D) NQJEhs
Explanation
> 'SeTiFR’ eTedTm QUITBETUGWD ‘@mTILeT ot HCIHHEF Q&FMmevedley
@B 'anTIGLOTET 6T6oTenID Q& M6V 2 (HeUTHRUIS).
175. The word hormone is derived from the following word.
A) Latin
B) Spanish
C) Greek
D) French
Explanation:
» The word 'hormone' is derived from the Greek word 'hormon' which
means 'rebellion'.

176. 31,29,24,22,17, .. @55 QSTLIFl6L (H)&S 6T600T 6T60TLIEN S8 &5T600TS.
A) 12
B) 13
014
D) 15
Explanation
> @H6 ITMHMIGE &HPISH QST L BIS W 6TTS. &6 LI, @hs5E5 QS5MLiflev
W96V 2 96V HPGELILL (R SH&S! 5-3460 SP&ELILL(H6Tengl.
176. Find that 31, 29, 24, 22, 17, ... is the next number in the series.
A) 12
B) 13
C) 14
D) 15
Explanation:
» This includes alternating subtraction series. Accordingly, the series is
first subtracted by 2 and then subtracted by 5.

177. BTMH&T ABCD @6v, 2C = 72° IoMmmILD 2D = 80°. £A WMmMILD £B @ 6T @@L fleyser O

LieTerflulleL &S &G 6oTmeoT. LAOB @)60T {616 6T60T60T?
A) 70°
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B) 74°
Q) 76°
D) 78°
Explanation

A+ 2B + £C + 2D = 360°
= £A + £B + 72° + 80° = 360°
= 2£A + 2B = 360° - 152° = 208°
AAOB @6y
2A/2 + £B/2 + £AOB = 180°
= 2A/2 + £B/2+<A0B =76
177. In quadrilateral ABCD, £C = 72° and «D = 80°. The bisectors of ZA and
£B meet at point O. What is the measure of ZAOB?
A) 70°
B) 74°
C) 76°
D) 78°
Explanation:
¢tA+ 2B+ «£C + D = 360°
= LA+ «£B + 72° + 80° = 360°
= £A + «B = 360° - 152° = 208°
At AAOB
2A/2 + £B/2 + £AOB = 180°
= £A/2 + £B/2+<AOB = 76

178. 201, 202, 204, 207, ... @ bS5 QS TLIfl6L UL 2([HES 6Tevor
A) 208
B) 205
Q) 211
D) 210
Explanation
> @QbSS Fal LEHQSTLIFIL (LNSH6V 6TEuoTEIL 60T 1, @) [J600TLITLD 6T600TEIL 60T @) Tevor(D),
eLOGOTMITLD 6T6U0TEIMIL_60T 3 6T60T QSTLIHS CFFHELILL (B eUBHRMSI.
178. 201, 202, 204, 207, ... this The next number in the series
A) 208
B) 205
C) 211
D) 210
Explanation:
» In this sequence 1 is added to the first number, 2 to the second number
and 3 to the third number.

179.10 (W& 56rfl60 * 6TedTm FHMILILE QFWed a*b =a+b -1 eTaT auemFWMISSHILGSR S

6TeofleL Flneofl 2 miliL|

A)O

B) 1

Oa

D) b

Explanation

> @@ euerfl QFweLIm(h Q&ML QFTSLILIN 2 6Tem SemLWImeT 2 millL,

QFwWeLLIMLIqg6edT Bl 2.6T6mT QHTGSGLILN 26Tem Goum 6THS 2 MILIL|L 60T
@) 6600TH G M6V, LDMM 2_MILIL| LDMMITLOEV @)(H& G LD.
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@ b5 Blemevullev, awevLIm® *a*b=a+b- 13,60 UMTWMESLILOSH M. 6THS
(D 6TEOTEMIGGID a * e = a IDMMID e * a = a eTeoTM 2 MILIEMLS G6v0rL ML
Geuevor(hILD.
Q& FLOGTLMTHISHEMET 36MINGHEH6V CLNEVLD QLIMIGIGI:
Na*e=a+e-1=a
2)e*a=e+a-1=a
FeTUm® 1 @eNBHE), e - 1= 08U QUMNSMHGS HTLD 616 HTESHEVITLD, eTeoTG6 e
=1
Qg FLaTUT(H 2 @6v FFlUMTISHSME, MWD 1+ a-1=a gl QUSHCMTL, Q&I
SIMETTSHS! (LP(LD 6T600THEHHGSLD QLIMTBHSILD a.
TeoTGeU, @H& QEFWEVLIMLIQ60T SHLp SjemLwimer 2 mILiL| 1 Q@& @& ellGLiuLD 2
56 RHHGHHMS!
179. A binomial function * on integers is defined as a * b = a + b - 1 if the
equation
A)O
B) 1
C)a
D)b
Explanation:

» If an identity element in a set with a binary function is combined with
any other element in the set under the function, the other element
remains unchanged.

In this case, the function is defined by *a *b =a + b - 1. For any integer
a * e = a and find the element such thate * a = a.

By setting these equations we get:

lla*e=a+e-1=a

2)e*a=eta-1=a

From Equation 1), we can simplify togete-1=0,soe = 1.

Checking this in Equation 2, we get 1 + a - 1 = a, which holds for all
integers a.

Therefore, the identity element under this function is 1, which
corresponds to option 2

180. 14, 28, 20, 40, 32, 64, ... QHSS QSTLIFleL B GG 6THS 6Tevor 6T Couevor(HLD?
A) 56
B) 52
C) 128
D) 96
Explanation
> @BV, (NH6V 6TETOTEN6T 2 6V GILIHERETTEL QUHLD 6TevoTemIevor L6dTeorT 8 28
&N 88 Gaueuor(ILD.
180. 14, 28, 20, 40, 32, 64, ... Which number should come next in this series?
A) 56
B) 52
C) 128
D) 96
Explanation:
» In this, multiply the first number by 2 and then subtract 8 from the
resulting number.

181. 2(IH (NGB TE00TS F 60T CETEUOTBIGHET 1: 2 : 6 6760t NEPSHE5H 6L 2_aTengl. 1&E&R Ml
@& IT6UOTLD 6T6OT6OT?
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A) 40 9 &
B) 45 9. &[f]
C) 30 9.&Irf)
D) 20 198 f]
Explanation
> (WN&HCHTenTSF 60T GaMevor Mg erfleor ell@GID = 1:2:6
x eTeoTLIen S LOSHEFF MU CSHTeouTIOMHE QSHIT6TS.
X + 2x + 6x = 180 19 & f]
9x = 180 W&
x = 20 198\ 1f]
181. The angles of a triangle are in the ratio 1 : 2 : 6. What is the smallest
angle?
A) 40 degrees
B) 45 degrees
C) 30 degrees
D) 20 degrees
Explanation:
Ratio of angles of a triangle=1:2: 6
Let x be the smallest angle.
X + 2x + 6x = 180 degrees
9x = 180 degrees
x = 20 degrees

182. A LDMMILD B 6T60TM @)\ T600T(h) HL_LFF Q&FUILIGUTSHET 2_6TET6oT). 62(H LOGHUILD, 36U FT&H6T
R6IQAMHAIMHHGID HLLFHF QFUWIW 80 LUSEHMEHET QHTHSHESLILLLET. 6UTE6T
Gauemevemll FLlmssLl LNflG&er, QuLermey A &@& 40 BIOLBIGHEHEHE (LN6ET60TSHTS B
WISSTT, AT AGMES 4 6ol 1GHTLD 6T(HSSTT. LDMIBTET WG WD, SLLFHF QaFuiw
1Sevor(HILD 121 LISHMIGET Q&BTHI&SLILILL6T. @@L, @b Wemm G CHIsH ev
SLLFSH QFUWD Ceauemevenll (NIQ&HSH (LNI6| QFUISETH. A 6T6UAI6TE| LI& & MhIS 06T
SLLEF QFWIW Geusvor(hLD?

A) 50 LIS & MIG6T

B) 77 LI&5BIG6T

C) 60 LIS 8MmIG6IT

D) 55 LI& & hIG6IT

Explanation
> A mHmID B @ 6T Cauemev iR GG e el gD = B @ 6T GHITLD/A @ 60T GBI =
4/3.333 =12

LSsmIGeTler ll@sn =12:1=6:5

A @60 121 LG & MBIGE 60T LIMIE = 5/11 x 121 = 55 LIG&MHIG6IT

6TeoTG6U, A Q60T 55 LIGH&HMIGHEN6T HL L F& Q& Gaueoor(hLD.
182. There are two typists A and B. In one afternoon, they were each given 80
pages to type. They divided the work equally, but B finished 40 minutes before
A, who took 4 hours for it. The next afternoon, another 121 pages were given
to type. However, this time they decided to complete the typing work at the
same time. How many pages should A type?
A) 50 pages
B) 77 pages
C) 60 pages
D) 55 pages
Explanation:

» Ratio of work rates of A and B = B's time/A's time = 4/3.333 = 1.2
Ratio of sides =1.2:1=6:5
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Share of 121 pages of A=5/11 x 121 = 55 pages
So, A has to type 55 pages.

183. @Hh&H & CaHmenauuiledr DG LIL| 6T6oT60T?
(tan0° tan1° tan2° tan3° tan4° ...... tan89°)

A)1
B) 1/2
o
D) 2
Explanation
tan0° x tan1° x tan2° x ....... x tan89°
=0 x tan1°® x tan2° x ....... x tan89°
=0
183. What is the value of this Coimbatore?
(tan0° tan1°® tan2° tan3° tan4° ...... tan89°)
A) 1l
B) 1/2
C)O
D) 2
Explanation:
tan0° x tanl1°® x tan2° x ....... x tan89°
= 0 x tanl® x tan2° x ....... x tan89°
=0

184. ep(Ih CLILenBLD6dT 156U @) 60T6uflmBIerdl6L 97 JeiT&H 6T 6T(hHSH ML UG FrmEFifl 5 9,8
AFEFER M. 15-6ug @ 6tTeolImevesHGL LNM& Sieurs Frmaiflenuls &evorLmluwie]Ld.
A) 15
B) 82
Q) 27
D) 92
Explanation
> X eeTuUgl 14 @eetimliengEpsGL  LmE CuLlevGwenfler Frymerflunmgs
QH&H&HL_(hLD.
14 @) etrevfImIen G erflel GLILeGLN6IT 6T(hSHS QDTS S T60TS6T 14X 6T60TLIS LN EGHS
Qg ifluyib.
Gaemelludledr Lilg:
14x + 97 = 15(x + 5)
14x + 97 = 15x + 75
X =22
156u81 @ 6oTevlImlenuv&GL M@ TMEfl = x + 22 =5 + 22 = 27
184. If a batsman scores 97 runs in 15th innings his average increases by 5.
Find his average after 15th innings.
A) 15
B) 82
C) 27
D) 92
Explanation:
» Let x be batsman's average after 14 innings.
We know that the total runs scored by a batsman in 14 innings is 14x.
According to the question:
14x + 97 = 15(x + 5)
14x + 97 = 15x + 75
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x =22
Average after 15th innings =x + 22 =5 + 22 =27

185. @@ GUBHS P BlowWsEHOMGHS Q BloeWsSHMEG WeollsHE 70 SIS
GausiHH avld, Q BleneuwgGFHNBHES P BlemewwWGH MG nenflsE 90 S CaudssH evild
Lwenfl&Rm&E. (DLW Liwenrsds S et GUME GUIBHSH 6T &Frmaifl GeussLD 6Teoreor?
A) 75.78 &\LS/L0 60T
B) 78.75 &\L3/L06v0r|
C) 80.25 &L/ 6v0f]
D) 82.35 &\L5/L06vor]
Explanation
> srnsf] Gaussb = (2 x 70 x 90)/70 + 90 = 78.94 GH\LS/L06v01]
6TeoTGa, (WL LIW6TSHeTCUMSID CUmBH 6T Frmaifl Gausksld newllsHE 78.94
.15
185. A bus travels from station P to station Q at a speed of 70 kmph and from
station Q to station P at a speed of 90 kmph. What is the average speed of the
bus during the entire journey?
A) 75.78 km /hr
B) 78.75 km /hr
C) 80.25 km/hr
D) 82.35 km/hr
Explanation:
» Average speed = (2 x 70 x 90)/70 + 90 = 78.94 km/h
Therefore, the average speed of the bus during the entire journey is
78.94 kmph

186. @(H BIMICITEF6L M SHIMMEET 2 6T6meT. QHTHESHLILILL LILemL aUemFLILLD
2015 WMHMID 2018 b hevoT(h ety eI Slemmuievld 2 6Tem 2erislulfgerfleor
eTeooT6o0l e &HeMUIGE &ML BHSBMmS. Bloealerd 80 LHW alisenets CFIsHSHSI
WMHMILD Flev 2amAlifgemeT 2015 MHMILD 2018 &@& @ emLullev Licooll & &I Q& UISI6TeTS.
LeoollB & QEFWWLILL L Semears g 2o fsEhln C Slemmenuld CFIhEHaITE6T. C
Slenmuiledr LieooflwimeriseT Lieooll H&H&HND QEFWIWLILILITIOEN @BHS (HHSTE, 2018 QLD
21,600T19.60 C &lemmUI 60T LIGTof WM 6T6v0T600 186008 _ 94,8 1B &f15 5 ([(HE G LD.
A) 12.5%
B) 20%
Q) 17.5%
D) 10%
Explanation
> 2015 @6V, SIS SIS Slemmaerlald 2 etem 2erlwiTg6rfleor 6TetoT600 1&H6M & = 20 +
40 + 50 + 70 + 80 + 30 = 290
2018 @6V, SETSH SIS SlenME6TIan 2 6Term 2erLSlulF&H6rfler eTevoTeooi1&6m& = 30 +
70 + 80 + 90 + 60 + 30 = 360
aSHWMEFLD = 360 - 290 = 70
GFISHHLILILL Leooflulmersserfledr erevorevotl&ends = 80
C @60 mHa LenllB&sasb QaFwliul L 2ot lulfgeT = 80 - 70 = 10
2018 @6v C @607 auedlemin = 80 (QAGMHH&HLILIL L SI)
Leoof]l B&SD QFWWLILLTINE GBS HBHSTE, 2018 @6v C @ 6T eusdlemin = 80 +
10 =90
2018 9yplD 60011960 C Zlemmuiledr euedlemin = (10/80) x 100 94,8 B &HSH HE G LD
= 12.5%
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@M GCsUealdd  meorauf&Her QUMM WLHLIQLEISE6eTS ST (HIWD
amlenCLITHFTemLoLl L5 SI, LleTau@pld Comerells @ LFeveflesma]Ln.
186. A company has six departments. The given bar graph shows the number
of employees in each sector in 2015 and 2018. The company added 80 new
employees and laid off some employees between 2015 and 2018. All the
retrenched employees belong to C department. If the employees of Department
C had not been retrenched, the number of employees in Department C would
have increased by __ in 2018.
A) 12.5%
B) 20%
C) 17.5%
D) 10%
Explanation:
» In 2015, number of employees in all departments = 20 + 40 + 50 + 70
+ 80 + 30 = 290
In 2018, number of employees in all departments = 30 + 70 + 80 + 90
+ 60 + 30 = 360
Difference = 360 - 290 = 70
Number of employees added = 80
Employees dismissed from C = 80 - 70 = 10
Strength of C in 2018 = 80 (Given)
If there had been no layoffs, C's strength in 2018 = 80 + 10 = 90
In 2018 the strength of sector C would have increased to = (10/80) x
100
= 12.5%
Read the histogram showing the marks obtained by students in a test
and answer the following question.

187. 350 SVVE ISMGS GCMULL WHLICLEITHET QUMM  LOTEooTel T8 6rteor
eTeooTeonl1Gen&Beml el 200 (W&H6ev 300 WG LIGQLIEOTSHET QUMM  LOmevoTel & erfleor
6T600T600T 185600 &5 6155 6M 60T F& 651D F &HLD?
A) 55%
B) 25%
Q) 30%
D) 40%
Explanation
GHemaUWmerT F&5eigI = (105 - 75)/75 x 100
= 30/75 x 100
= 40%
- LISV 40%.
187. The number of students who scored 200 to 300 is by what percent more
than the number of students who scored 350 or more?
A) 55%
B) 25%
C) 30%
D) 40%
Explanation:
Required percentage = (105 - 75)/75 x 100
= 30/75x 100
= 40%
~ Answer is 40%.
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188. LNetTau@BLd LIL6mL auemTLIL e L1 LGS, LNeTalBLld CaHeTalldhE LHeverflsama]l.
QEBMH&H&HILLL &MTeusGHMmaETer Frmnaflenw el e Hemer 2,600T(h&6rflev e mmin)
SBSLMS QGHSS?
A) 3
B) 5
C)6
D)4
Explanation
> erh&EEE&EEG FInsfl gnoIng aIm&EdsT = QN$s gnoing /
QU(HLMIG6Tl60T QILDIMTE S 6T600T600T | 560055
={72+85+98+ 109+ 11.8+ 115+ 124)/7 =72.1/7
= 10.3 G&ITIqQ
QaMh&&IULL 4 eorh&efley, gmmind Fonsfl ghmindenuwl el
T EIDMS 2_6TeTS:
= 2011 = 10.9 @& MTIq & 6T
= 2012 = 11.8 @& MY &H6iT
= 2013 = 11.5 G&MYg
= 2014 = 12.4 G&MTIq & 6T
~ ernefl ghminGenw el gmminG &M QHEGD  3,600T(H SHerfleor
6T600T 60011 856008 4 3L (&LD.
188. Read the following bar graph and answer the following question.
In how many years were the exports higher than the average for the given
period?
A) 3
B) 5
C) 6
D) 4
Explanation:
» Average exports of diamonds in years = total exports / total number of
years
= (7.2+85+9.8+109+11.8+11.5+12.4)/7=72.1/7
= 10.3 crores
In the given 4 years, the export is more than the average export:
= 2011 = 10.9 crores
= 2012 = 11.8 crores
= 2013 = 11.5 crores
= 2014 = 12.4 crores
~ Number of years in which export is more than average export is 4.

189. 2014 WMHMILD 2017 Qb evoT(h&6fleT QNS o DG uller al& g 2015 LMHMILD
2018 Qb Y evor(H&6fledT QLOMSES @M& &S Uiletr NG LD eT6oTET?
A)6:7
B)3:2
05:6
D) 14:15
Explanation
> 2015 & 2018 @6V @M&G&GLHUNT QHTemnd = 390 + 450 = 840 G&ITIY

2014 & 2017 @6V gHMIFHUN6T QFHMemss = 300 + 420 = 720 C&ITI

- Gpemauwlmeor & GLD = 720 : 840

=26:7
189. What is the ratio of total exports of 2014 and 2017 to total imports of
2015 and 2018?
A)6:7
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C)5:6
D) 14 : 15
Explanation:

» Amount of imports in 2015 & 2018 = 390 + 450 = 840 crores
Amount of exports in 2014 & 2017 = 300 + 420 = 720 crores
~ Required ratio = 720 : 840
=6:7

190. Plev sreysefler symsfl wWHmD WeEH wWemCw 4 & 10 erefley, 86T
@) 6ML_BlemeVemULIE: &IT60TE:?
A) 1.5
B)5.3
Q) 16
D) 6
Explanation
> sraler sopmafl = 4 nmmid sreller Wn&E® = 10
wWwa®H = 3(@emLBleme) - 2(FTT&EIf])
= 10 = 3(@eLBlemev) - 2(4)
= 3(@emLBlemev) = 18
= @ 6L Bleney = 6
6TeoTG6), HT6) 56 160T @ 6mLBlemev 6 95 @) (H& LD
190. If the mean and peak of some data are 4 & 10 respectively, find its
median?
A) 1.5
B) 5.3
C) 16
D) 6
Explanation:
» Median of data = 4 and peak of data = 10
Crest = 3(median) - 2(mean)
= 10 = 3(intermediate) - 2(4)
= 3(intermediate) = 18
= Median = 6
Hence, the median of the data will be 6

191.3x2 + ax + 4 QLEOTSI X — 5 9L6D (LPREMLOUWITS 61U LI(ILOITEOTITEV, a &)60T LOGHLIL| 6T60T60T?
A) -12
B) -5
C) -15.8
D) -15.6
Explanation
> 3x2 +ax + 4 e0T& X — 5 6L (NWEMLOWITES eUG&GUGILD.
=>3x25+5a+4=0
=5a=-79
~a=-158
191.If 3x2 + ax + 4 is exactly divisible by x — 5, what is the value of a?
A) -12
B) -5
C) -15.8
D) -15.6
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Explanation:
3x2 + ax + 4 is exactly divisible by x — 5.
=3x25+5a+4=0
= S5a =-79
~a=-15.8

192. 0,1,2,3 _ 9 @6t BILL eflevdasid K eresfley, 10, 11, 12, 13 19 @6t HILL eflevd&Ld
6T6OT6OT ?
A)K + 1
B) K
OK+4
D)K+ 8
Explanation
> @6lQaIM( e 10 96 AFH&FILILST6,
FILL alevEHE5F60 6THS DTMHMUNLD @IHHESETS, Jaerefley (xi — x) UL GW
o _GTeng).
~10,11,12,13 __ 19 @6T HLL elleu&sD K 91,5 @) (HEGLD.
192. If the plan deviation of 0, 1, 2, 3 _ 9 is K, what is the plan deviation of
10, 11, 12, 13 __ 19?
A)K+1
B) K
C)K+4
D)K+ 8
Explanation:
> As each data increments by 10,
There will be no change in project deduction because (xi — x) remains
the same.
~ Planned deduction of 10, 11, 12, 13 _ 19 will be K.

193. 5, 6, 7, 8 9 eedIm QSTLIWNOM @6v&H&HBIG1NBHE T5HM60T 3 @6VHS
62MEMMLILIGTL 6T600TE6M 6T 2_(HEUME S (LOLQU]LD ?
A) 55
B) 75
Q70
D) 85
Explanation
> 3 Q@evss eaeoskefledr WemmEGw H T U ®mTHMLEH &S  (Hundreds),
USHLEHevESID  (tens), eernellLGHevds&I0n  (unit  digit)  eTeor
T(H & S&HO &HMETGRITLD
3@QeVEH @RMEMMLILIGTL 6TE00T60600T 2_(H6UTH S LD
5,7,9 p&wenel eermlell_s5H60585 @LE5H 6 L HICW LWweTLBGSSLILL6VITLD
BIOMLEHeES MmN LUSH_S5H06H5 @LBISGI 5 @6vsHEHMBIGEHLIN
FIHHWIDTGSLD
a6 M 60fl L& T 6V 585 FH MG Meor 6uLSl & 6rfl6dT eTevoT600( 186008 = 3
LSBT 6L EH 608855 Mo mer 6ull&erfleir eTevoreoni1&Hemas = 5
BIOMIL&H6vEHESH MM 6Ll & 6rfler eTeoTeol 18608 = 5
3 @6VE:GMBIGETIET eMENMLILIETIL 6T600TS6T160T 6T600T600 18608 = 3 x 5 x 5 = 75
5 6, 7, 8 9 SBuemel QSTLIWeM G6VHHMBIGET 6afld, @b
@ eVESMBIGETIOBHS 75 CLNETN @6VES @RMHENMLILIETL. 6T600T&H 66T 2 (HEUMTEH 5
gD
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193. How many 3-digit odd numbers can be formed from the consecutive
digits 5, 6,7, 8,9 ?
A) 55
B) 75
C) 70
D) 85
Explanation:
> Let us take the sequence of 3 digit numbers as H T U (Hundreds, Tens,
Unit Digit)
Create a 3 digit odd number
5, 7, 9 can only be used in single digits
5 digits are possible in both hundreds and decimal places
Number of ways to zero = 3
Number of ways to decimal = 5
Number of ways to decimal = 5
Number of 3 digit odd numbers =3 X 5 x 5 =75
~If5, 6,7, 8,9 are consecutive digits, then 75 three-digit odd numbers
can be formed from these digits.

194.60LIGHT allemey eh. HLBHS evor( 75000. @BS evoT( ellemev 20 FHafsD
P &S H6TeNSl. @)HS 2,600T(H 6MLIGE 6T 606V 6TEOT6OT?
A) €15.50000
B) €15.60000
C) ¢m.80000
D) 15.90000
Explanation
> SLbBS ,600T(H LGS er ellemev em. 75000. elemev 20% 2F)&fl 5 Si6Tengl.afl 66y
B &L = \(\frac{20}{100}\)x 75000=15000
LS W aflemev = Lismpwl aflemev + ellemev FH&If1LIL| = 75000 + 15000 = 90000.
194. The price of the bike is Rs. 75000 last year. This year the price has
increased by 20 percent. What is the price of the bike this year?
A) Rs.50000
B) Rs.60000
C) Rs.80000
D) Rs.90000
Explanation:
» Last year the price of the bike was Rs. 75000. The price has increased
by 20%.
» Price increase = \(\frac{20}{100}\)x75000=15000
New Price = Old Price + Price Increase = 75000 + 15000 = 90000

195.62(F QUIMBHEHEHES eH. 5000 oMy eNmsLILL LG el 4500. swmifllilley
QUPMRIS LD % SH6TEHLIL. 6T60T60T?
A5
B) 10
) 15
D) 20
Explanation
> QummeleT GMl&aLILLL ellemev em. 5000. QUIMH6rler SeTEbLILg. ellemev em. 4500.
SemepLIg = GMIGELILLL ellemev — ellMLiemenr ellemev = 5000 — 4500 = 500
195. Per item Rs. 5000 but sold for Rs. 4500. What is the % discount offered
on the product?

Follow Insta ID: @tnpscbooks @ 9578985878 @ Tele ID: @tnpscbooks_official



TNPSC

TEST BATCH Group-II / IIA

[(G)tnpscbooks

[Cinpectooks
SWhid Gl RHsres..! (e ..!!

A) 5
B) 10
C) 15
D) 20
Explanation:
» The marked price of the product is Rs. 5000. The discounted price of
the item is Rs. 4500.
» Discount = Marked Price — Selling Price = 5000 — 4500 = 500

196.FemLulledT LILIQUIL 6flemev €. 2500. QUITIBEHEEG 30% H6eTEHLIG 2 6vor(h.
FLEML & 6T60T60T S6TE@BLIL aUpmISGLILIOSH mSI?
A) €15.1750
B) em5.4500
C) em.1500
D) €5.750
Explanation
> FlemLuller UL IQuley edlemev em. 2500. QUIMTH6rfledr LSS mesT H6TEhLILg. 30%
196. The list price of the shirt is Rs. 2500. The item is 30% off. What discount
is given on the shirt?
A) Rs.1750
B) Rs.4500
C) Rs.1500
D) Rs.750
Explanation:
» The list price of the shirt is Rs. 2500. 30% discount on product

197.@ Jeoor(h) LOMeooTUTSHET  CHIeN6L HeVbHSE Q&MeooTLeT. alfsefley  emedd
mmelen el 9 IDH LG LIEITSHT HFH &L QLHMIGTTTT, 3jeUHemL L DG LIG LIS 6T
Slaurseflear H LG LS Fal HS5as5TmHUN 56% G, aITser QUMM
DS LIG LICOOT S 61T
A) 39, 30
B) 41, 32
Q) 42,33
D) 43, 34
Explanation
> Slaufsefler IS LICLIuTSHET @& &L (BID (67866 + 9) LOMMILDETE M.

@&, eTd6v+ 9 = 56 (x+ 9 +x)

100

25(x+ 9) = 14(2x+ 9)

3x= 99

x= 33

6TeoTG6, 3j6UF 66T LS LIG LIGUOTSET 42 LDMHMILD 33 QL& LD.
197. Two students appeared in the exam. One of them has scored 9 marks
more than the other and his marks are 56% of the sum of their marks. Marks
obtained by them:
A) 39, 30
B) 41, 32
C) 42, 33
D) 43, 34
Explanation:

» Let their scores be (X+ 9) and X.
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Then, x+ 9 = 56 (x+ 9 +x)

100

25(x+9) = 14(2x+9)

3x =99

x= 33

Hence, their scores are 42 and 33.

198.40% @Gwellery CsxHeny e LMeTOMs GBS MTIH6T. Gwealley 1eenll 6@
Lmeorlomas el pLoL|LieuF&erflesr oG &LD 6T6oT60r?
A) 3/7
B) 2/5
C) 2/10
D) 4/3
Explanation
> 40% Gwealery CoBemny @ LMeToms eNGBLUSRMTTH6T. Gwellev Gxbeany
umeorlomas el Lo Ceuriflet eGS0 .
=40/100
198 .40% group prefers tea as a beverage. What proportion of the group
prefers tea as a drink?
A)3/7
B) 2/5
C)2/10
D) 4/3
Explanation:
» 40% group prefers tea as a beverage. Proportion of those who prefer tea
as a drink in the group .
=40/100

199. Qe &FCHFFGHHETRT 19&HQ&EL(HSGm6T eh. 3500. el Seumenm  15%
SeTEB LI U6 elMa e HLLSMITH. €. S6TEHLIL. 6T6oT60T?
A) €1.1525
B) €1.350
C) €1p.525
D) €15.1050
Explanation

> aflensaid: 1965606 aIMhIGLD aflémev eb. 3500. 1956085 (H&EHE 5 M6 &H6TEHLIY

15%
199. Jain concert tickets for Rs. 3500. He wants to sell them at 15% discount.
Rs. What is the discount?
A) Rs.1525
B) Rs.350
C) Rs.525
D) Rs.1050
Explanation:
» Ticket purchase price is Rs. 3500. 15% discount on tickets

200. 1 Ws6ev 70 auemTWilevmer eTaoT&H6Il6V 6THHEMET FHAIHID VG @VESHSH6 1
I|6VEVSI 9 2_6TeTEI?

A1

B) 14

Q) 20

D) 21
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Explanation
> SV QVESHSTHIEV 1 36V6VSE 9 D 6ITET 6T6U0TSH6T, @EVESHID 1 @6V (LNLG.eIeML LD
FSITHIGEN6ENS QST HEHRTMT. 1 (NHV 70 euemTUIeVTeT 3556085
6Te0OT&H6T 1,9, 11, 19, 21, 29, 31, 39, 41, 49, 51, 59, 61, 69.
91556081 6T600T6O0T 60T 6T600T600 18608 =14
GHEMAUWITET F&56iHID = 14 /70 x 100 % = 20%
200. What percent of the numbers from 1 to 70 have 1 or 9 in the units digit?
A1l
B) 14
C) 20
D) 21
Explanation:
» Numbers with a units digit of 1 or 9 have squares ending in the digit
1. Such numbers from 1 to 70 are 1, 9, 11, 19, 21, 29, 31, 39, 41, 49,
51, 39, 61, 69.
» The sum of such a number =14
» Required percentage = 14 /70 x 100 % = 20%
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